City Clerk

Bid Committee Bid Tab

# Bid OCAT-WRWA-2422 Ended At Feb 21, 2024 10:00:00 AM CST CONSTRUCTION/OCAT - Federal Inspection Services Facility - Baggage Handling System

Company:	Five Star Airport Alliance	Robson Handling Technology USA	PTERIS GLOBAL USA INC #2
Default Lot	\$894,622.00	\$952,713.00	\$1,102,075.00
TOTAL BID:	\$894,622.00	\$952,713.00	\$1,102,075.00

Company:	Diversified Conveyors International	
Default Lot	\$1,115,500.00	
TOTAL BID:	\$1,115,500.00	

Tresha Williams	Angee Wagner	Brett Rangel
City Clerk	Purchasing Agent	Auditor

#### Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

**THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS.** The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

#### Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

### Bid #OCAT-WRWA-2422 - Federal Inspection Services Facility - Baggage Handling System

Start Date Jan 26, 2024 7:46:01 AM CST Awarded Date Not Yet Awarded

OCAT-WRWA-242201-01 OCAT-WRWA-2422 - Ba	se Bid				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Five Star Airport Alliance	First Offer - \$894,622.00	1 / lump sum	\$894,622.00	Y	Y
Product Code: Agency Notes:					
Robson Handling Technology USA	First Offer - \$952,713.00	1 / lump sum	\$952,713.00	Υ	Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: 1. Our Bid bond was not listed as an optithe Bid Bond Import section of the online offer. Per Periscope/BidSync's recommendation, our Bid Bond is uploaded as an attachment.  2. The Agency Qualification option on the online bid page validates our qualifications was acknowledged as truthful signature and submitted but nothing indicated it was processed. Per Periscope/BidSync, we were instructed to ignore this Agency Qualification option.  3. A VE Proposal Offer for an alternate claim device and separate cutsheet are uploaded as attachments.  4. Anti/Non-Collusion Affidavit uploaded as attachment.  5. Business Relationship Affidavit uploaded as attachmen.  6. Bidder Special Questionnaire uploaded as attachment			is page that thful by d to nd nt. ment.
PTERIS GLOBAL USA INC	First Offer - \$1,102,075.00	1 / lump sum	\$1,102,075.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Pteris Global (USA), In 19th, 2024	ode: nc acknowledges adde	endment 1	dated fel
Diversified Conveyors International	First Offer - \$1,115,500.00	1 / lump sum	\$1,115,500.00	Υ	Υ
Product Code: Agency Notes:		tax or bond. The tax	o <b>de:</b> 's unit price (lump sun adder price is \$55,943 ttached proposal for r	. The bond	l adder

### **Supplier Totals**

f Five Star	Airport Alliance		\$894,622.00	
Bid Contact	Danielle Coombs danielle.coombs@fivestaraa.com Ph 801-401-5500 Fax 801-401-5501	Address 1630 S 4800 Salt Lake C	D W, Suite D City, UT 84104	
Bid Bond	(Status: Bond not found)			
Bid Notes	Unable to select the surety company to import our bid bonfile. Also, please see clarifications/exceptions in our upload		•	

rai irispection v	20111000		
Agency Notes:		Supplier Notes: Unable to select the surety company to ir our bid bond. It is included with our upload proposal file. Also, please see clarifications/exceptions in our uploaded proposal document.	_
f Robson H	andling Technology USA	\$952,713.00	
Bid Contact	Peter Bjostad peter.bjostad@robson-usa.com Ph 972-800-8168	Address 129 S. Main St. Grapevine, TX 76051	
Bid Bond	(Status: This bid bond could not be verified)		
Agency Note	es:	Supplier Notes: He	ad Attch:
f PTERIS GL	OBAL USA INC	\$1,102,075	.00
Bid Contact	Takeya Robinson david.haddaway@pterisglobal.com Ph 888-316-3885	Address 2401 WHITEHALL PARK DR ST 1000 CHARLOTTE, NC 28273	E
Bid Notes	Pteris Global (USA), Inc acknowledges addendme	ent 1 dated feb 19th, 2024	
Agency Note	es:	<b>Supplier Notes:</b> Pteris Global (USA), Inc acknowledges addendment 1 dated feb 19th, 2024	Head Attch:
f Diversifie	d Conveyors International	\$1,115,500	0.00
Bid Contact	Matthew Evans mevans@teamdci.com Ph 601-507-5318	Address <b>2163 Airways Blvd Memphis, TN 38114</b>	
Bid Notes	DCI's unit price (lump sum) does not include tax price is \$9,653. See attached proposal for more p	or bond. The tax adder price is \$55,943. The bond a ricing details.	dder
Agency Note	es:	Supplier Notes:  DCI's unit price (lump sum) does not inclutax or bond. The tax adder price is \$55,94  The bond adder price is \$9,653. See attacproposal for more pricing details.	I3. 🌡

<sup>\*\*</sup>All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

City Clerk

#### Bid Committee Bid Tab

# Bid OCWUT SC-1110 Ended At Feb 21, 2024 10:00:00 AM CST CONSTRUCTION/OCWUT - Sanitary Sewer Rehabilitation

Company:	Jordan Contractors Inc.	Urban Contractors	Matthews Trenching Co., Inc.
Base Bid	\$1,461,031.00	\$1,737,710.00	\$2,149,907.00
TOTAL BID:	\$1,461,031.00	\$1,737,710.00	\$2,149,907.00

Company:	Krapff Reynolds Construction Company	
Base Bid	\$3,038,842.00	
TOTAL BID:	\$3,038,842.00	

Tresha Williams	Angee Wagner	Brett Rangel
City Clerk	Purchasing Agent	Auditor

#### Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

**THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS.** The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

### **Bid #OCWUT SC-1110 - Sanitary Sewer Rehabilitation**

Start Date Jan 31, 2024 8:05:27 AM CST Awarded Date Not Yet Awarded

OCWUT SC-111001-01 Base Bid: SEDIMENT AND EF	ROSION CONTROL				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Urban Contractors	First Offer - \$3,000.00	1 / lump sum	\$3,000.00		Y
Product Code: SC-1110 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Matthews Trenching Co., Inc.	First Offer - \$3,500.00	1 / lump sum	\$3,500.00	Υ	Y
Product Code: SC-1110 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Jordan Contractors Inc.	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Y
Product Code: SC-1110 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Krapff Reynolds Construction Company	First Offer - \$27,935.00	1 / lump sum	\$27,935.00	Υ	Y
Product Code: SC-1110 Agency Notes:		Supplier Product Co Supplier Notes: Bid bond attached to			

OCWUT SC-111001-02 Base Bid: TRENCH EXCAVATION AND BACKFILL 0FT TO 10FT						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Krapff Reynolds Construction Company	First Offer - \$1.00	208 / linear foot	\$208.00		Υ	
Product Code: SC-1110 Supplier Product Code:						
Agency Notes:		Supplier Notes:				
Urban Contractors	First Offer - \$5.00	208 / linear foot	\$1,040.00		Y	
Product Code: SC-1110 Supplier Product Code:						
Agency Notes:		Supplier Notes:				
Jordan Contractors Inc.	First Offer - \$20.00	208 / linear foot	\$4,160.00		Y	
Product Code: SC-1110		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				
Matthews Trenching Co., Inc.	First Offer - \$100.00	208 / linear foot	\$20,800.00		Y	
Product Code: SC-1110		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				

OCWUT SC-111001-03 Base Bid: EMBEDMENT MATE	RIAL				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Jordan Contractors Inc.	First Offer - \$50.00	19 / cubic yard	\$950.00		Y
Product Code: SC-1110		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Krapff Reynolds Construction Company	First Offer - \$60.00	19 / cubic yard	\$1,140.00		Y
Product Code: SC-1110		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Matthews Trenching Co., Inc.	First Offer - \$65.00	19 / cubic yard	\$1,235.00		Y
Product Code: SC-1110		<b>Supplier Product Cod</b>	le:		
Agency Notes:		Supplier Notes:			
Urban Contractors	First Offer - \$80.00	19 / cubic yard	\$1,520.00		Y
Product Code: SC-1110		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			

OCWUT SC-111001-04 Base Bid: CURB AND GUTTE			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Urban Contractors	First Offer - \$20.00	20 / linear foot	\$400.00		Υ
Product Code: SC-1110		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Jordan Contractors Inc.	First Offer - \$50.00	20 / linear foot	\$1,000.00		Υ
Product Code: SC-1110		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Krapff Reynolds Construction Company	First Offer - \$110.00	20 / linear foot	\$2,200.00		Υ
Product Code: SC-1110		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Matthews Trenching Co., Inc.	First Offer - \$145.00	20 / linear foot	\$2,900.00		Υ
Product Code: SC-1110		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			

OCWUT SC-111001-05 Base Bid: PRECONSTRUCTION AND CLEANING (CCTV)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Urban Contractors	First Offer - \$1.00	5587 / linear foot	\$5,587.00		Y					
Product Code: SC-1110 Agency Notes:		Supplier Product Code: Supplier Notes:								
Krapff Reynolds Construction Company	First Offer - \$6.00	5587 / linear foot	\$33,522.00		Υ					
Product Code: SC-1110 Agency Notes:		Supplier Product Code: Supplier Notes:								
Matthews Trenching Co., Inc.	First Offer - \$15.00	5587 / linear foot	\$83,805.00		Υ					
Product Code: SC-1110 Agency Notes:		Supplier Product Code: Supplier Notes:								
Jordan Contractors Inc.	First Offer - \$20.00	5587 / linear foot	\$111,740.00		Υ					
Product Code: SC-1110 Agency Notes:		Supplier Product Code: Supplier Notes:								

OCWUT SC-111001-06 Base Bid: GPS AS BUILT SUR	VEY				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Matthews Trenching Co., Inc.	First Offer - \$7,500.00	1 / lump sum	\$7,500.00		Υ
Product Code: SC-1110 Agency Notes:	Supplier Product Co Supplier Notes:	ode:			
Jordan Contractors Inc.	First Offer - \$7,500.00	1 / lump sum	\$7,500.00		Υ
Product Code: SC-1110 Agency Notes:		Supplier Product Code: Supplier Notes:			
Urban Contractors	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Υ
Product Code: SC-1110 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Krapff Reynolds Construction Company	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Υ
Product Code: SC-1110 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

OCWUT SC-111001-07 Base Bid: COLOR AUDIO/VIDEO RECORDING, PRE AND POST CONSTRUCTION										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Urban Contractors	First Offer - \$3,000.00	1 / lump sum	\$3,000.00		Υ					
Product Code: SC-1110	Supplier Product Co	ode:								
Agency Notes:		Supplier Notes:								
Matthews Trenching Co., Inc.	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Υ					
Product Code: SC-1110		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Krapff Reynolds Construction Company	First Offer - \$5,500.00	1 / lump sum	\$5,500.00		Υ					
Product Code: SC-1110		Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:								

Jordan Contractors Inc.	First Offer - \$10,000.00	1 / lump sum	\$10,000.00	Y
Product Code: SC-1110		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

OCWUT SC-111001-08 Base Bid: SEWER SERVICE CONNECTION										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Matthews Trenching Co., Inc.	First Offer - \$50.00	100 / each	\$5,000.00		Υ					
Product Code: SC-1110 Agency Notes:	Supplier Product Code: Supplier Notes:									
Urban Contractors	First Offer - \$200.00	100 / each	\$20,000.00		Υ					
Product Code: SC-1110		Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:								
Krapff Reynolds Construction Company	First Offer - \$1,000.00	100 / each	\$100,000.00		Y					
Product Code: SC-1110		Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:								
Jordan Contractors Inc.	First Offer - \$1,000.00	100 / each	\$100,000.00		Υ					
Product Code: SC-1110		Supplier Product Co	ode:							
Agency Notes:		Supplier Notes:								

OCWUT SC-111001-09 Base Bid: SEWER SERVICE LIN	NE .				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Urban Contractors	First Offer - \$10.00	1000 / linear foot	\$10,000.00		Υ
Product Code: SC-1110		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Jordan Contractors Inc.	First Offer - \$10.00	1000 / linear foot	\$10,000.00		Υ
Product Code: SC-1110		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Krapff Reynolds Construction Company	First Offer - \$20.00	1000 / linear foot	\$20,000.00		Y
Product Code: SC-1110		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Matthews Trenching Co., Inc.	First Offer - \$50.00	1000 / linear foot	\$50,000.00		Υ
Product Code: SC-1110		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

OCWUT SC-111001-10 Base Bid: ABANDONING SE	WER					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Jordan Contractors Inc.	First Offer - \$200.00	2 / cubic yards	\$400.00		Y	
Product Code: SC-1110		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
Urban Contractors	First Offer - \$400.00	2 / cubic yards	\$800.00		Y	
Product Code: SC-1110		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Matthews Trenching Co., Inc.	First Offer - \$500.00	2 / cubic yards	\$1,000.00		Y	
Product Code: SC-1110		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Krapff Reynolds Construction Company	First Offer - \$1,000.00	2 / cubic yards	\$2,000.00		Y	
Product Code: SC-1110		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				

OCWUT SC-111001-11 Base Bid: TRENCHLESS CONSTRUCTION (8 INCH)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Jordan Contractors Inc.	First Offer - \$130.00	5587 / linear foot	\$726,310.00		Υ				
Product Code: SC-1110		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

Urban Contractors	First Offer - \$175.00	5587 / linear foot	\$977,725.00	Υ
Product Code: SC-1110		Supplier Product Code	•	
Agency Notes:		Supplier Notes:		
Matthews Trenching Co., Inc.	First Offer - \$220.00	5587 / linear foot	\$1,229,140.00	Υ
Product Code: SC-1110		Supplier Product Code	•	
Agency Notes:		Supplier Notes:		
Krapff Reynolds Construction Company	First Offer - \$360.00	5587 / linear foot	\$2,011,320.00	Υ
Product Code: SC-1110		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		

OCWUT SC-111001-12 Base Bid: SEWER FLOW CON	TROL				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Jordan Contractors Inc.	First Offer - \$1,000.00	1 / lump sum	\$1,000.00		Y
Product Code: SC-1110		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Urban Contractors	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Y
Product Code: SC-1110		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Matthews Trenching Co., Inc.	First Offer - \$35,000.00	1 / lump sum	\$35,000.00		Y
Product Code: SC-1110		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Krapff Reynolds Construction Company	First Offer - \$55,870.00	1 / lump sum	\$55,870.00		Y
Product Code: SC-1110		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

OCWUT SC-111001-13 Base Bid: POINT REPAIR					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Urban Contractors	First Offer - \$300.00	5 / each	\$1,500.00		Y
Product Code: SC-1110		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Jordan Contractors Inc.	First Offer - \$10,000.00	5 / each	\$50,000.00		Υ
Product Code: SC-1110		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Matthews Trenching Co., Inc.	First Offer - \$12,000.00	5 / each	\$60,000.00		Y
Product Code: SC-1110		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Krapff Reynolds Construction Company	First Offer - \$25,000.00	5 / each	\$125,000.00		Y
Product Code: SC-1110		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

OCWUT SC-111001-14 Base Bid: DEFLECTION TEST	(LESS THAN 24 INCH)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Urban Contractors	First Offer - \$300.00	1 / lump sum	\$300.00		Y
		Supplier Product Code: Supplier Notes:			
Krapff Reynolds Construction Company	First Offer - \$500.00	1 / lump sum	\$500.00		Y
Product Code: SC-1110 Agency Notes:		Supplier Product Code: Supplier Notes:			
Jordan Contractors Inc.	First Offer - \$500.00	1 / lump sum	\$500.00		Υ
Product Code: SC-1110 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Matthews Trenching Co., Inc.	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Y
Product Code: SC-1110 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

OCWUT SC-111001-15 Base Bid: TELEVISION INSPECTION (CCTV)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Krapff Reynolds Construction Company	First Offer - \$2.00	5795 / linear foot	\$11,590.00		Y					
Product Code: SC-1110		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Matthews Trenching Co., Inc.	First Offer - \$6.00	5795 / linear foot	\$34,770.00		Y					
Product Code: SC-1110		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Urban Contractors	First Offer - \$10.00	5795 / linear foot	\$57,950.00		Y					
Product Code: SC-1110		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Jordan Contractors Inc.	First Offer - \$10.00	5795 / linear foot	\$57,950.00		Υ					
Product Code: SC-1110		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

OCWUT SC-111001-16 Base Bid: SEWER LEAKAGE TEST (LESS THAN 24 INCH)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Urban Contractors	First Offer - \$300.00	1 / lump sum	\$300.00		Y				
Product Code: SC-1110		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Krapff Reynolds Construction Company	First Offer - \$500.00	1 / lump sum	\$500.00		Y				
Product Code: SC-1110	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Jordan Contractors Inc.	First Offer - \$500.00	1 / lump sum	\$500.00		Y				
Product Code: SC-1110		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Matthews Trenching Co., Inc.	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Y				
Product Code: SC-1110		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

OCWUT SC-111001-17 Base Bid: (4') SANITARY SEWER MANHOLE (0FT TO 6FT)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Jordan Contractors Inc.	First Offer - \$7,500.00	12 / each	\$90,000.00		Υ				
Product Code: SC-1110 Agency Notes:		Supplier Product C Supplier Notes:	ode:						
Urban Contractors	First Offer - \$10,000.00	12 / each	\$120,000.00		Υ				
Product Code: SC-1110		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							
Krapff Reynolds Construction Company	First Offer - \$10,000.00	12 / each	\$120,000.00		Υ				
Product Code: SC-1110		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							
Matthews Trenching Co., Inc.	First Offer - \$15,000.00	12 / each	\$180,000.00		Υ				
Product Code: SC-1110		Supplier Product C	ode:						
Agency Notes:		Supplier Notes:							

OCWUT SC-111001-18 Base Bid: EXTRA DEPTH MANHOLE WALL (4FT)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Urban Contractors	First Offer - \$400.00	32 / vertical foot	\$12,800.00		Υ				
Product Code: SC-1110		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
Jordan Contractors Inc.	First Offer - \$800.00	32 / vertical foot	\$25,600.00		Υ				
Product Code: SC-1110		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

Krapff Reynolds Construction Company	First Offer - \$1,000.00	32 / vertical foot	\$32,000.00	Y
Product Code: SC-1110		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		
Matthews Trenching Co., Inc.	First Offer - \$1,000.00	32 / vertical foot	\$32,000.00	Υ
Product Code: SC-1110		Supplier Product Code	e:	·
Agency Notes:		Supplier Notes:		

OCWUT SC-111001-19 Base Bid: MANHOLE TESTING	i				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Jordan Contractors Inc.	First Offer - \$1,200.00	1 / lump sum	\$1,200.00		Y
Product Code: SC-1110 Agency Notes:	Supplier Product Co Supplier Notes:	ode:			
Matthews Trenching Co., Inc.	First Offer - \$2,500.00	1 / lump sum	\$2,500.00		Y
Product Code: SC-1110 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Urban Contractors	First Offer - \$3,000.00	1 / lump sum	\$3,000.00		Υ
Product Code: SC-1110 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Krapff Reynolds Construction Company	First Offer - \$30,000.00	1 / lump sum	\$30,000.00		Y
Product Code: SC-1110 Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

OCWUT SC-111001-20 Base Bid: SANITARY SEWER MANHOLE REHABILITATION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Jordan Contractors Inc.	First Offer - \$600.00	181 / vertical foot	\$108,600.00		Υ				
Product Code: SC-1110		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Matthews Trenching Co., Inc.	First Offer - \$665.00	181 / vertical foot	\$120,365.00		Υ				
Product Code: SC-1110		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Krapff Reynolds Construction Company	First Offer - \$725.00	181 / vertical foot	\$131,225.00		Υ				
Product Code: SC-1110		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Urban Contractors	First Offer - \$1,300.00	181 / vertical foot	\$235,300.00		Υ				
Product Code: SC-1110		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT SC-111001-21 Base Bid: POLYVINYL CHLORIDE (PVC)(8 INCH)(SDR 35)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Jordan Contractors Inc.	First Offer - \$100.00	208 / linear foot	\$20,800.00		Y				
Product Code: SC-1110		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
Matthews Trenching Co., Inc.	First Offer - \$260.00	208 / linear foot	\$54,080.00		Y				
Product Code: SC-1110		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
Krapff Reynolds Construction Company	First Offer - \$364.00	208 / linear foot	\$75,712.00		Y				
Product Code: SC-1110		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
Urban Contractors	First Offer - \$400.00	208 / linear foot	\$83,200.00		Y				
Product Code: SC-1110		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

OCWUT SC-111001-22 Base Bid: CONSTRUCTION STAKING (CONSTRUCTION SURVEY)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		

Jordan Contractors Inc.		First Offer - \$1,500.00	1 / lump sum	\$1,500.00		Υ
Product Code: SC-1110			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Urban Contractors		First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Υ
Product Code: SC-1110			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Matthews Trenching Co., Inc.		First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Y
Product Code: SC-1110			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Krapff Reynolds Construction Company		First Offer - \$14,500.00	1 / lump sum	\$14,500.00		Υ
Product Code: SC-1110			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			

OCWUT SC-111001-23 Base Bid: CONSTRUCTION SIGNING AND TRAFFIC CONTROL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Jordan Contractors Inc.	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Υ			
Product Code: SC-1110 Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Urban Contractors	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Υ			
Product Code: SC-1110 Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Krapff Reynolds Construction Company	First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Υ			
Product Code: SC-1110 Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Matthews Trenching Co., Inc.	First Offer - \$27,000.00	1 / lump sum	\$27,000.00		Υ			
Product Code: SC-1110 Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

OCWUT SC-111001-24 Base Bid: CLEARING AND GRUBBING							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Jordan Contractors Inc.	First Offer - \$35,000.00	1 / lump sum	\$35,000.00		Y		
Product Code: SC-1110		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Matthews Trenching Co., Inc.	First Offer - \$50,000.00	1 / lump sum	\$50,000.00		Y		
Product Code: SC-1110		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Krapff Reynolds Construction Company	First Offer - \$75,000.00	1 / lump sum	\$75,000.00		Y		
Product Code: SC-1110		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Urban Contractors	First Offer - \$85,000.00	1 / lump sum	\$85,000.00		Y		
Product Code: SC-1110		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					

OCWUT SC-111001-25 Base Bid: STRUCTURE REMOVAL (8 INCH SANITARY SEWER)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Urban Contractors	First Offer - \$10.00	20 / linear foot	\$200.00		Y			
Product Code: SC-1110		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Krapff Reynolds Construction Company	First Offer - \$20.00	20 / linear foot	\$400.00		Υ			
Product Code: SC-1110		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Jordan Contractors Inc.	First Offer - \$50.00	20 / linear foot	\$1,000.00		Υ			
Product Code: SC-1110		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Matthews Trenching Co., Inc.	First Offer - \$100.00	20 / linear foot	\$2,000.00		Y			

bid #OCWUT SC-1110 -Sanitary Sewer

## City of Oklahoma City and its Trusts

Product Code:SC-1110Supplier Product Code:Agency Notes:Supplier Notes:

OCWUT SC-111001-26 Base Bid: REMOVE AND REPLACE CURB AND GUTTER								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Urban Contractors	First Offer - \$20.00	20 / linear foot	\$400.00		Y			
Product Code: SC-1110 Agency Notes:		Supplier Product Cod Supplier Notes:	le:					
Jordan Contractors Inc.	First Offer - \$50.00	20 / linear foot	\$1,000.00		Y			
Product Code: SC-1110 Agency Notes:		Supplier Product Cod Supplier Notes:	le:					
Matthews Trenching Co., Inc.	First Offer - \$145.00	20 / linear foot	\$2,900.00		Υ			
Product Code: SC-1110 Agency Notes:		Supplier Product Cod Supplier Notes:	le:					
Krapff Reynolds Construction Company	First Offer - \$150.00	20 / linear foot	\$3,000.00		Υ			
Product Code: SC-1110 Agency Notes:		Supplier Product Cod Supplier Notes:	le:					

OCWUT SC-111001-27 Base Bid: REMOVE AND REPLACE DRIVEWAY (CONCRETE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Matthews Trenching Co., Inc.	First Offer - \$140.00	174 / square yard	\$24,360.00		Υ			
Product Code: SC-1110 Agency Notes:		Supplier Product Code: Supplier Notes:						
Jordan Contractors Inc.	First Offer - \$150.00	174 / square yard	\$26,100.00		Υ			
Product Code: SC-1110 Agency Notes:		Supplier Product Code: Supplier Notes:						
Urban Contractors	First Offer - \$200.00	174 / square yard	\$34,800.00		Υ			
Product Code: SC-1110 Agency Notes:		Supplier Product Code: Supplier Notes:						
Krapff Reynolds Construction Company	First Offer - \$250.00	174 / square yard	\$43,500.00		Υ			
Product Code: SC-1110 Agency Notes:		Supplier Product Code: Supplier Notes:						

OCWUT SC-111001-28 Base Bid: PAVEMENT CUT AND PERMANENT REPAIR (CONCRETE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Jordan Contractors Inc.	First Offer - \$150.00	40 / square yard	\$6,000.00		Y			
Product Code: SC-1110		Supplier Product Code	<b>:</b>					
Agency Notes:		Supplier Notes:						
Urban Contractors	First Offer - \$250.00	40 / square yard	\$10,000.00		Υ			
Product Code: SC-1110		Supplier Product Code	<b>:</b>					
Agency Notes:		Supplier Notes:						
Krapff Reynolds Construction Company	First Offer - \$350.00	40 / square yard	\$14,000.00		Y			
Product Code: SC-1110		Supplier Product Code	<b>:</b>					
Agency Notes:		Supplier Notes:						
Matthews Trenching Co., Inc.	First Offer - \$375.00	40 / square yard	\$15,000.00		Υ			
Product Code: SC-1110		Supplier Product Code	<b>:</b>					
Agency Notes:		Supplier Notes:						

OCWUT SC-111001-29 Base Bid: SOLID SLAB SODDING							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Urban Contractors	First Offer - \$2.00	6444 / square yard	\$12,888.00		Υ		
Product Code: SC-1110	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Krapff Reynolds Construction Company	First Offer - \$5.00	6444 / square yard	\$32,220.00		Υ		

Product Code: SC-1110 Agency Notes:		Supplier Product Code: Supplier Notes:		
Jordan Contractors Inc.	First Offer - \$5.00	6444 / square yard	\$32,220.00	Υ
Product Code: SC-1110		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Matthews Trenching Co., Inc.	First Offer - \$8.00	6444 / square yard	\$51,552.00	Υ
Product Code: SC-1110		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

OCWUT SC-111001-30 Base Bid: EROSION CONTROL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Jordan Contractors Inc.	First Offer - \$1.00	1 / lump sum	\$1.00	Υ	Y		
Product Code: SC-1110		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Urban Contractors	First Offer - \$2,000.00	1 / lump sum	\$2,000.00	Υ	Y		
Product Code: SC-1110		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Matthews Trenching Co., Inc.	First Offer - \$3,500.00	1 / lump sum	\$3,500.00		Y		
Product Code: SC-1110		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Krapff Reynolds Construction Company	First Offer - \$35,000.00	1 / lump sum	\$35,000.00		Y		
Product Code: SC-1110		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					

### **Supplier Totals**

Supplier Total						
f Jordan Cont	ractors Inc.	\$1,4	61,031.00	(30/30 items)		
Bid Contact	Jimmy Jordan john@jordancontractors.us Ph 405-598-2169 Fax 405-598-2160	Address	123 S Broa Tecumseh	dway , OK 74873		
Qualifications	OKC PRE-QUALIFIED CONTRACTORS					
Agency Notes	:	Supplier	Notes:		Head	Attch:
f Urban Cont	ractors		\$1,737,71	0.00 (30/30 it	ems)	
Bid Contact	Amy Hampton mm@urbancontractors.com Ph 405-478-5370 Fax 405-478-5618	Address	7113 N. Br Oklahoma	yant Ave ı City, OK 7312	1	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS					
Bid Notes	The bid bond has been uploaded in the attachment section.					
Agency Notes	:			en uploaded in	the	Head Attch:
f Matthews T	renching Co., Inc.	\$2	2,149,907.00	) (30/30 item	s)	
Bid Contact	Gary Matthews pferguson@mtciokc.com Ph 405-677-4525 Fax 405-677-4835	Address	919 S Fairr Oklahoma	mont Ave a City, OK 7312	9	
	148 403 077 4033					
Qualifications	OKC PRE-QUALIFIED CONTRACTORS					

		0
f Krapff Reyn	olds Construction Company	\$3,038,842.00 (30/30 items)
Bid Contact	Jim King fred@krapff-reynolds.com Ph 405-733-9682 Fax 405-516-0081	Address <b>2400 N.E. 4th st Oklahoma City, OK 73117</b>
Qualifications	OKC PRE-QUALIFIED CONTRACTORS	
Agency Notes	:	Supplier Notes: Head Attcl

\*\*All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

City Clerk

Bid Committee Bid Tab

# Bid OCWUT WM-0393 Ended At Feb 21, 2024 10:00:00 AM CST CONSTRUCTION/OCWUT - Lake Hefner Drive Retaining Wall Rehabilitation

Company:	C-P Integrated Services	Cimarron Construction Company, LLC	Wynn Construction Co., Inc
Base Bid	\$568,321.25	\$644,446.00	\$681,148.00
TOTAL BID:	\$568,321.25	\$644,446.00	\$681,148.00

Company:	Redlands Contracting	
Base Bid	\$756,979.10	
TOTAL BID:	\$756,979.10	

Tresha Williams	Angee Wagner	Brett Rangel
City Clerk	Purchasing Agent	Auditor

### Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

**THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS.** The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

#### Originating Department shall:

- 1. Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

### Bid #OCWUT WM-0393 - Lake Hefner Drive Retaining Wall Rehabilitation

Start Date Jan 31, 2024 8:05:27 AM CST Awarded Date Not Yet Awarded

OCWUT WM-039301-01 Base Bid: COLOR AUDIO/VIDEO RECORDING, PRE AND POST CONSTRUCTION							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Redlands Contracting	First Offer - \$1,000.00	1 / lump sum	\$1,000.00	Υ	Y		
Product Code: WC-0393 Agency Notes:		Supplier Product Co Supplier Notes:	de:				
C-P Integrated Services	First Offer - \$1,000.00	1 / lump sum	\$1,000.00	Υ	Y		
Product Code: WC-0393 Agency Notes:		Supplier Product Co Supplier Notes: Bid	Bond attached on this				
Cimarron Construction Company, LLC  Product Code: WC-0393  Agency Notes:	First Offer - \$1,131.00	1 / lump sum  Supplier Product Co Supplier Notes:	\$1,131.00   ode:	Y	Y		
Wynn Construction Co., Inc	First Offer - \$2,200.00	1 / lump sum	\$2,200.00	Υ	Υ		
Product Code: WC-0393 Agency Notes:		Supplier Product Co Supplier Notes:	de:				

OCWUT WM-039301-02 Base Bid: SUBGRADE (COMPACTED)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cimarron Construction Company, LLC	First Offer - \$8.00	295 / square yard	\$2,360.00		Υ			
Product Code: WC-0393		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
C-P Integrated Services	First Offer - \$10.25	295 / square yard	\$3,023.75		Y			
Product Code: WC-0393		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$20.00	295 / square yard	\$5,900.00		Υ			
Product Code: WC-0393		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Redlands Contracting	First Offer - \$22.00	295 / square yard	\$6,490.00		Υ			
Product Code: WC-0393		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT WM-039301-03 Base Bid: AGGREGATE BAS	OCWUT WM-039301-03 Base Bid: AGGREGATE BASE (TYPE A)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
C-P Integrated Services	First Offer - \$86.75	50 / cubic yard	\$4,337.50		Y				
Product Code: WC-0393		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$104.00	50 / cubic yard	\$5,200.00		Υ				
Product Code: WC-0393		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							
Redlands Contracting	First Offer - \$132.00	50 / cubic yard	\$6,600.00		Y				
Product Code: WC-0393		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$185.00	50 / cubic yard	\$9,250.00		Υ				
Product Code: WC-0393		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							

OCWUT WM-039301-04 Base Bid: ASPHALTIC CONCRETE TYPE (A) (3 INCHES)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
C-P Integrated Services	First Offer - \$134.75	48 / ton	\$6,468.00		Υ			
Product Code: WC-0393		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$137.00	48 / ton	\$6,576.00		Υ			
Product Code: WC-0393		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$270.00	48 / ton	\$12,960.00		Υ			
Product Code: WC-0393		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Redlands Contracting	First Offer - \$385.00	48 / ton	\$18,480.00		Υ			
Product Code: WC-0393		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

OCWUT WM-039301-05 Base Bid: ASPHALTIC	CONC	RETE TYPE (B) (2 INCHES	5)			
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
C-P Integrated Services		First Offer - \$151.75	31 / ton	\$4,704.25		Υ
Product Code: WC-0393			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Cimarron Construction Company, LLC		First Offer - \$188.00	31 / ton	\$5,828.00		Υ
Product Code: WC-0393			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Wynn Construction Co., Inc		First Offer - \$320.00	31 / ton	\$9,920.00		Υ
Product Code: WC-0393			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Redlands Contracting		First Offer - \$385.00	31 / ton	\$11,935.00		Υ
Product Code: WC-0393			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			

OCWUT WM-039301-06 Base Bid: RETAINING WALL (SP)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
C-P Integrated Services	First Offer - \$1,840.00	161.1 / square yard	\$296,424.00		Υ			
Product Code: WC-0393		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$1,900.00	161.1 / square yard	\$306,090.00		Υ			
Product Code: WC-0393		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Redlands Contracting	First Offer - \$2,441.00	161.1 / square yard	\$393,245.10		Υ			
Product Code: WC-0393		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$2,460.00	161.1 / square yard	\$396,306.00		Υ			
Product Code: WC-0393		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT WM-039301-07 Base Bid: SLOPEWALL (SP)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
C-P Integrated Services	First Offer - \$150.00	117.5 / square yard	\$17,625.00		Υ			
Product Code: WC-0393		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Redlands Contracting	First Offer - \$212.00	117.5 / square yard	\$24,910.00		Y			
Product Code: WC-0393		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$320.00	117.5 / square yard	\$37,600.00		Υ			
Product Code: WC-0393		Supplier Product Code:						

Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$364.00	117.5 / square yard	\$42,770.00		Υ
Product Code: WC-0393		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

OCWUT WM-039301-08 Base Bid: CLSM BACKFILL (SP)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Redlands Contracting	First Offer - \$200.00	30 / cubic yard	\$6,000.00		Y			
Product Code: WC-0393 Agency Notes:		Supplier Product Cod Supplier Notes:	le:					
C-P Integrated Services	First Offer - \$261.50	30 / cubic yard	\$7,845.00		Y			
Product Code: WC-0393 Agency Notes:		Supplier Product Cod Supplier Notes:	le:					
Cimarron Construction Company, LLC	First Offer - \$345.00	30 / cubic yard	\$10,350.00		Υ			
Product Code: WC-0393 Agency Notes:		Supplier Product Cod Supplier Notes:	le:					
Wynn Construction Co., Inc	First Offer - \$500.00	30 / cubic yard	\$15,000.00		Y			
Product Code: WC-0393 Agency Notes:		Supplier Product Cod Supplier Notes:	le:					

OCWUT WM-039301-09 Base Bid: CONSTRUCTION STAKING								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cimarron Construction Company, LLC	First Offer - \$3,280.00	1 / lump sum	\$3,280.00		Υ			
Product Code: WC-0393 Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
C-P Integrated Services	First Offer - \$5,500.00	1 / lump sum	\$5,500.00		Υ			
Product Code: WC-0393 Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Wynn Construction Co., Inc	First Offer - \$7,500.00	1 / lump sum	\$7,500.00		Υ			
Product Code: WC-0393 Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Redlands Contracting	First Offer - \$9,500.00	1 / lump sum	\$9,500.00		Υ			
Product Code: WC-0393 Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

OCWUT WM-039301-10 Base Bid: GPS "AS-BUILT" SURVEY									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Redlands Contracting	First Offer - \$1,500.00	1 / lump sum	\$1,500.00		Y				
Product Code: WC-0393		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$1,550.00	1 / lump sum	\$1,550.00		Y				
Product Code: WC-0393		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$2,200.00	1 / lump sum	\$2,200.00		Υ				
Product Code: WC-0393		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
C-P Integrated Services	First Offer - \$5,350.00	1 / lump sum	\$5,350.00		Υ				
Product Code: WC-0393		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

OCWUT WM-0393-01-11 Base Bid: CONSTRUCTION SIGNING AND TRAFFIC CONTROL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cimarron Construction Company, LLC	First Offer - \$4,445.00	1 / lump sum	\$4,445.00		Y			
Product Code: WC-0393		Supplier Product Co	de:					
Froduct Code. WC-0333		Supplier Product Co	ue.					

Agency Notes:		Supplier Notes:		
C-P Integrated Services	First Offer - \$4,750.00	1 / lump sum	\$4,750.00	Υ
Product Code: WC-0393		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Redlands Contracting	First Offer - \$11,000.00	1 / lump sum	\$11,000.00	Υ
Product Code: WC-0393		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Wynn Construction Co., Inc	First Offer - \$18,000.00	1 / lump sum	\$18,000.00	Υ
Product Code: WC-0393		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

OCWUT WM-039301-12 Base Bid: DELIVER PORTABLE LONGITUDINAL BARRIER (SP)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
C-P Integrated Services	First Offer - \$25.00	75 / linear foot	\$1,875.00		Y				
Product Code: WC-0393		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$135.00	75 / linear foot	\$10,125.00		Y				
Product Code: WC-0393		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Redlands Contracting	First Offer - \$150.00	75 / linear foot	\$11,250.00		Y				
Product Code: WC-0393		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$150.00	75 / linear foot	\$11,250.00		Y				
Product Code: WC-0393		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

OCWUT WM-039301-13 Base Bid: CLEARING AND GRUBBING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Wynn Construction Co., Inc	First Offer - \$7,500.00	1 / lump sum	\$7,500.00		Υ				
Product Code: WC-0393		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
C-P Integrated Services	First Offer - \$10,150.00	1 / lump sum	\$10,150.00		Y				
Product Code: WC-0393		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Redlands Contracting	First Offer - \$28,000.00	1 / lump sum	\$28,000.00		Υ				
Product Code: WC-0393		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$48,255.00	1 / lump sum	\$48,255.00		Υ				
Product Code: WC-0393		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

OCWUT WM-039301-14 Base Bid: REMOVE DEBRIS (DRAINAGE PIPES)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Redlands Contracting	First Offer - \$500.00	1 / lump sum	\$500.00		Υ			
Product Code: WC-0393		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$2,150.00	1 / lump sum	\$2,150.00		Y			
Product Code: WC-0393		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
C-P Integrated Services	First Offer - \$8,750.00	1 / lump sum	\$8,750.00		Υ			
Product Code: WC-0393		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$9,800.00	1 / lump sum	\$9,800.00		Υ			
Product Code: WC-0393		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

OCWUT WM-039301-15 Base Bid: REMOVE DEBR	S (CONCRETE AND ROCK)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Redlands Contracting	First Offer - \$1,250.00	1 / lump sum	\$1,250.00		Y
Product Code: WC-0393		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$4,945.00	1 / lump sum	\$4,945.00		Y
Product Code: WC-0393		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$9,800.00	1 / lump sum	\$9,800.00		Y
Product Code: WC-0393		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
C-P Integrated Services	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Y
Product Code: WC-0393		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

OCWUT WM-039301-16 Base Bid: STRUCTURE REI	OCWUT WM-039301-16 Base Bid: STRUCTURE REMOVAL (STONE AND WIRE MESH GABION WALL)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Cimarron Construction Company, LLC	First Offer - \$35.00	262 / linear foot	\$9,170.00		Y					
Product Code: WC-0393		Supplier Product Code	<b>e:</b>							
Agency Notes:		Supplier Notes:								
Redlands Contracting	First Offer - \$38.00	262 / linear foot	\$9,956.00		Y					
Product Code: WC-0393		Supplier Product Code	2:							
Agency Notes:		Supplier Notes:								
Wynn Construction Co., Inc	First Offer - \$78.00	262 / linear foot	\$20,436.00		Y					
Product Code: WC-0393		Supplier Product Code	2:							
Agency Notes:		Supplier Notes:								
C-P Integrated Services	First Offer - \$125.00	262 / linear foot	\$32,750.00		Y					
Product Code: WC-0393		Supplier Product Code	2:							
Agency Notes:		Supplier Notes:								

OCWUT WM-039301-17 Base Bid: REMOVE PAVE	MENT (ASPHALT TRAIL)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Redlands Contracting	First Offer - \$18.00	272 / square yard	\$4,896.00		Υ
Product Code: WC-0393		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$20.00	272 / square yard	\$5,440.00		Y
Product Code: WC-0393		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$25.00	272 / square yard	\$6,800.00		Υ
Product Code: WC-0393		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
C-P Integrated Services	First Offer - \$40.00	272 / square yard	\$10,880.00		Υ
Product Code: WC-0393		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

OCWUT WM-039301-18 Base Bid: REMOVE AND REINSTALL (GUARDRAIL)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
C-P Integrated Services	First Offer - \$6.00	50 / linear foot	\$300.00		Υ				
Product Code: WC-0393 Supplier Product Code:									
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$70.00	50 / linear foot	\$3,500.00		Y				
Product Code: WC-0393		Supplier Product Cod	le:						
Agency Notes:	Supplier Notes:								

Wynn Construction Co., Inc	First Offer - \$146.00	50 / linear foot	\$7,300.00	Y
Product Code: WC-0393		Supplier Product Cod	le:	
Agency Notes:		Supplier Notes:		
Redlands Contracting	First Offer - \$200.00	50 / linear foot	\$10,000.00	Υ
Product Code: WC-0393		Supplier Product Cod	le:	·
Agency Notes:		Supplier Notes:		

OCWUT WM-039301-19 Base Bid: REMOVE (WOOD FENCE)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
C-P Integrated Services	First Offer - \$5.50	200 / linear foot	\$1,100.00		Y					
Product Code: WC-0393 Agency Notes:	Supplier Product Code: Supplier Notes:									
Cimarron Construction Company, LLC	First Offer - \$10.00	200 / linear foot	\$2,000.00		Y					
Product Code: WC-0393 Agency Notes:		Supplier Product Code: Supplier Notes:								
Redlands Contracting	First Offer - \$15.00	200 / linear foot	\$3,000.00		Y					
Product Code: WC-0393 Agency Notes:		Supplier Product Code Supplier Notes:	:							
Wynn Construction Co., Inc	First Offer - \$16.00	200 / linear foot	\$3,200.00		Υ					
Product Code: WC-0393 Agency Notes:		Supplier Product Code Supplier Notes:	:	·						

OCWUT WM-039301-20 Base Bid: ADJUST EXISTING STRUCTURE (TRIPLE 60" R.C.P.)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Cimarron Construction Company, LLC	First Offer - \$4,195.00	1 / each	\$4,195.00		Y		
Product Code: WC-0393 Agency Notes:	Supplier Product Code: Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$8,000.00	1 / each	\$8,000.00		Υ		
Product Code: WC-0393 Agency Notes:	Supplier Product Code: Supplier Notes:						
C-P Integrated Services	First Offer - \$10,500.00	1 / each	\$10,500.00		Y		
Product Code: WC-0393 Agency Notes:	Supplier Product Code: Supplier Notes:						
Redlands Contracting	First Offer - \$28,000.00	1 / each	\$28,000.00		Y		
Product Code: WC-0393 Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

OCWUT WM-039301-21 Base Bid: (TYPE I) PLAIN RIPRAP (12 INCHES)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
C-P Integrated Services	First Offer - \$101.75	39 / square yard	\$3,968.25		Υ	
Product Code: WC-0393		Supplier Product Code	•			
Agency Notes:		Supplier Notes:				
Redlands Contracting	First Offer - \$165.00	39 / square yard	\$6,435.00		Υ	
Product Code: WC-0393		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Wynn Construction Co., Inc	First Offer - \$200.00	39 / square yard	\$7,800.00		Y	
Product Code: WC-0393		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$350.00	39 / square yard	\$13,650.00		Y	
Product Code: WC-0393		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

OCWUT WM-039301-22 Base Bid: WOOD RAIL FENCE					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs

Cimarron Construction Company, LLC		First Offer - \$45.00	224 / linear foot	\$10,080.00		Υ
						•
Product Code: WC-0393			Supplier Product Code	<b>:</b> :		
Agency Notes:			Supplier Notes:			
Wynn Construction Co., Inc		First Offer - \$83.00	224 / linear foot	\$18,592.00		Υ
Product Code: WC-0393			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
C-P Integrated Services		First Offer - \$87.00	224 / linear foot	\$19,488.00		Υ
Product Code: WC-0393			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Redlands Contracting		First Offer - \$118.00	224 / linear foot	\$26,432.00		Υ
Product Code: WC-0393			Supplier Product Code	: :		
Agency Notes:			Supplier Notes:			

OCWUT WM-039301-23 Base Bid: SOLID SLAB SODDING								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
C-P Integrated Services	First Offer - \$3.25	1010 / square yard	\$3,282.50		Y			
Product Code: WC-0393 Agency Notes:		Supplier Product Code: Supplier Notes:						
Wynn Construction Co., Inc	First Offer - \$5.00	1010 / square yard	\$5,050.00		Y			
Product Code: WC-0393 Agency Notes:		Supplier Product Code: Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$7.00	1010 / square yard	\$7,070.00		Y			
Product Code: WC-0393 Agency Notes:		Supplier Product Code: Supplier Notes:						
Redlands Contracting	First Offer - \$10.00	1010 / square yard	\$10,100.00		Υ			
Product Code: WC-0393 Agency Notes:		Supplier Product Code: Supplier Notes:						

OCWUT WM-039301-24 Base Bid: TEMPORARY DIKE & DEWATERING (SP)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Cimarron Construction Company, LLC	First Offer - \$42,915.00	1 / lump sum	\$42,915.00		Y		
Product Code: WC-0393		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
C-P Integrated Services	First Offer - \$93,500.00	1 / lump sum	\$93,500.00		Y		
Product Code: WC-0393	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Redlands Contracting	First Offer - \$125,000.00	1 / lump sum	\$125,000.00		Y		
Product Code: WC-0393		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Wynn Construction Co., Inc	First Offer - \$135,000.00	1 / lump sum	\$135,000.00		Y		
Product Code: WC-0393		Supplier Product Code:					
Agency Notes:	Supplier Notes:						

OCWUT WM-039301-25 Base Bid: SILT FENCE (SP)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Cimarron Construction Company, LLC	First Offer - \$1,155.00	1 / lump sum	\$1,155.00		Y	
Product Code: WC-0393	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
Redlands Contracting	First Offer - \$1,500.00	1 / lump sum	\$1,500.00		Υ	
Product Code: WC-0393		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Wynn Construction Co., Inc	First Offer - \$4,000.00	1 / lump sum	\$4,000.00		Y	
Product Code: WC-0393	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
C-P Integrated Services	First Offer - \$4,750.00	1 / lump sum	\$4,750.00		Y	

bid #OCWUT WM-0393 -Lake Hefner Drive City of Oklahoma City and its Trusts

Product Code: WC-0393

Agency Notes:

Supplier Product Code:
Supplier Notes:

#### **Supplier Totals**

f C-P Integrat	ed Services	\$568,321.25 (25/25 item	s)
Bid Contact	ontact Durinda Fisher Address 3007 NW 63rd Street, Ste 2 dfisher@cpiokc.com Oklahoma City, OK 73116 Ph 405-732-0532		
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	(Status: This bid bond could not be verified)		
Bid Notes	Bid bond would not verify so attached paper bid bo	nd on first line item	
Agency Notes:		<b>Supplier Notes:</b> Bid bond would not verify so attached paper bid bond on first line item	Head Attch:
f Cimarron Co	onstruction Company, LLC	\$644,446.00 (25/25 items)	
Bid Contact	Don E Noble DNoble@cimarroncco.com Ph 405-728-1555 Fax 405-728-5026	Address <b>3501 NE. 63rd Street Oklahoma City, OK 73121</b>	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	(Status: This bid bond could not be verified)		
Agency Notes:		Supplier Notes: He	ead Attch
f Wynn Const	ruction Co., Inc	\$681,148.00 (25/25 items)	
Bid Contact	Rick Thompson bid@wynnconstruction.com Ph 405-753-1120	Address 11901 North Eastern Ave. Oklahoma City, OK 73131	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes: He រៀ	ad Attch
f Redlands Co	ontracting	\$756,979.10 (25/25 items)	
Bid Contact	Chris Hendrickson chris.redlands@gmail.com Ph 405-603-6565 Fax 405-603-6567	Address P.O. Box 635 Piedmont, OK 73078	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	(Status: This bid bond could not be verified)		
Agency Notes:		Supplier Notes: Head	d Attch:

<sup>\*\*</sup>All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

#### Bid Committee Bid Tab

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

### Bid #25101 - Microwave Radio Equipment and Services

Creation Date Jan 26, 2024 End Date Feb 21, 2024 10:00:00 AM CST

Start Date Jan 31, 2024 8:05:27 AM CST Awarded Date Not Yet Awarded

**Pacific East Industries** \$0.00 (59/59 items)

Bid Contact lisa showalter

> lisa@paceast.net Ph 805-480-3741

newbury park, CA 91320

Supplier Code 203-67

Agency Notes:	Supplier Notes:
The same of the sa	

Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101-	6 GHz Radios Low Bandwidth Tower Mounted Licensed Point	\$0.00	1 / pair	\$0.00
-01-01	to Point Radio Pair (qty = 1 pair): Equipment/Materials - First			
	Offer			

Product Code: **Supplier Product Code: Agency Notes: Supplier Notes:** 

Due to the numerous catalogs and products that could be purchased,

Address 4409 camino de las estrellas

Pacific East bids cost +12% on all items

Lot Total: \$0.00

Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101-	6 GHz Radios Medium Bandwith Tower Mounted Licensed	\$0.00	1 / pair	\$0.00
-02-01	Point to Point Radio Pair (qty = 1 pair): Equipment/Materials -			
	First Offer			

**Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** 

Due to the numerous catalogs and products that could be purchased,

Pacific East bids cost +12% on all items

Lot Total: \$0.00

Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101-	6 GHz Radios High Bandwidth Tower Mounted Licensed	\$0.00	1 / pair	\$0.00
-03-01	Point to Point Radio Pair (qty = 1 pair): Equipment/Materials -			
	First Offer			

Product Code: **Supplier Product Code:** 

Supplier Notes: Due to the numerous catalogs and products that could **Agency Notes:** be purchased, Pacific East bids cost +12% on all items

				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -04-01	6 GHZ Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: Due to the be purchased, Pacific East b		talogs and products that could on all items
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -05-01	6 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00
Agency		Supplier Product Code: Supplier Notes: Due to the be purchased, Pacific East b		talogs and products that could on all items
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -06-01	6 GHz Radios High Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: Due to the be purchased, Pacific East b		talogs and products that could on all items
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -07-01	6 GHz Radios Low Bandwidth Split unit (Indoor and Outdoor)Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00

	nent and its	Trusis		
Produc Agency	t Code:  Notes:	Supplier Product Code: Supplier Notes: Due to the numerous catalogs and products that could be purchased, Pacific East bids cost +12% on all items  Lot Total: \$0.00		
			I	Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -08-01	6 GHz Radios Medium Bandwith Split unit (Indoor and Outdoor)Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Produc Agency		could be purchased, Pacific <b>Supplier Notes:</b>	East ogs and produ	crous catalogs and products that cts that could be purchased,
			I	Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -09-01	6 GHz Radios High Bandwidth Split unit (Indoor and Outdoor)Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Produc Agency		Supplier Product Code: Supplier Notes: Due to the be purchased, Pacific East b		calogs and products that could on all items
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Lot Total: \$0.00
	Line Item  6 GHz Radios Low Bandwidth Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	Unit Price \$0.00	Qty/Unit 1 / pair	
<b>#</b> 25101-	6 GHz Radios Low Bandwidth Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer t Code:	\$0.00 Supplier Product Code:	1 / pair	\$0.00 salogs and products that could
# 25101- -10-01 <b>Produc</b>	6 GHz Radios Low Bandwidth Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer t Code:	\$0.00  Supplier Product Code: Supplier Notes: Due to the	1 / pair	\$0.00 salogs and products that could

ວ Equipn	ment and its	s Trusts		
25101- -11-01	6 GHz Radios Medium Bandwith Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Produc Agency		Supplier Product Code: Supplier Notes: Due to the numerous catal Pacific East bids cost +12%		cts that could be purchased,
		I		<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -12-01	6 GHz Radios High Bandwidth Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: Due to the numerous catalon Pacific East bids cost +12%		cts that could be purchased,
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -13-01	6 GHz Radios Low Bandwidth All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: Due to the numerous catalon Pacific East bids cost +12%		cts that could be purchased,
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -14-01	6 GHz Radios Medium Bandwith All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
	t Code:	Supplier Product Code:		
	Notes:	<b>Supplier Notes:</b> Due to the numerous catalogue	ogs and produ	cts that could be purchased.
	Notes:	1		cts that could be purchased,
	Notes:	Due to the numerous catalo		cts that could be purchased,  Lot Total: \$0.00
Product Agency Item #	V Notes:	Due to the numerous catalo		

o Equipm		Trusts		
	Offer			
Product Agency		Supplier Product Code: Supplier Notes: Due to the numerous catalo Pacific East bids cost +12%		icts that could be purchased,
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -16-01	6 GHz Radios Low Bandwidth All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: Due to the be purchased, Pacific East b		talogs and products that could on all items
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -17-01	6 GHz Radios Medium Bandwith All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: Due to the numerous catalon Pacific East bids cost +12% (		icts that could be purchased,
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -18-01	6 GHz RadiosHigh Bandwidth All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: Due to the numerous catalon Pacific East bids cost +12%		icts that could be purchased,
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -19-01	11 GHz Radios Low Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: Due to the numerous catalon Pacific East bids cost +12%		octs that could be purchased,

- Equipii	lent and	i Tusis		
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -20-01	11 GHz Radios Medium Bandwith Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: Due to the numerous catalon Pacific East bids cost +12%		nat could be purchased,
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -21-01	11 GHz Radios High Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
		I		Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -22-01	11 GHz Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: Due to the be purchased, Pacific East b		
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -23-01	11 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: Due to the be purchased, Pacific East &		

o Equipn	nent and its	Trusts		
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -24-01	11 GHz Radios High Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: Due to the numerous catal Pacific East bids cost +12%		s that could be purchased,
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -25-01	11 GHz Radios Low Bandwidth Split unit (Indoor and Outdoor)Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00
Item				Lot Total: \$0.00
#	Line Item	Unit Price	Qty/Unit	Total Price
25101- -26-01	11 GHz Radios Medium Bandwith Split unit (Indoor and Outdoor)Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: Due to the be purchased, Pacific East b		ologs and products that could n all items
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -27-01	11 GHz Radios High Bandwidth Split unit (Indoor and Outdoor)Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00
Product Agency		<b>Supplier Product Code: Supplier Notes:</b> Due to the be purchased, Pacific East b		llogs and products that could n all items

				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -28-01	11 GHz Radios Low Bandwidth Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: Due to the be purchased, Pacific East k		alogs and products that could on all items
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -29-01	11 GHz Radios Medium Bandwith Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -30-01	11 GHz Radios High Bandwidth Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: Due to the numerous catal Pacific East bids cost +12%		ts that could be purchased,
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -31-01	11 GHz Radios Low Bandwidth All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00
Product Agency		Supplier Product Code: Supplier Notes:		

Due to the numerous catalogs and products that could be purchased, Pacific East bids cost +12% on all items

Lot Total: \$0.00

Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101-	11 GHz Radios Medium Bandwith All Indoor Unit Licensed	\$0.00	1 / pair	\$0.00
-32-01	Point to Point Radio Pair (qty = 1 pair): Equipment/Materials -			
	First Offer			

Product Code:

Agency Notes:

Supplier Product Code:

**Supplier Notes:** Due to the numerous catalogs and products that could be purchased, Pacific East bids cost +12% on all items

**Lot Total:** \$0.00

Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101-	11 GHz Radios High Bandwidth All Indoor Unit Licensed Point	\$0.00	1 / pair	\$0.00
-33-01	to Point Radio Pair (qty = 1 pair): Equipment/Materials - First			
	Offer			

Product Code:

**Agency Notes:** 

Supplier Product Code:

**Supplier Notes:** 

Due to the numerous catalogs and products that could be purchased, Pacific East bids cost +12% on all items

**Lot Total:** \$0.00

Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101-	11 GHz Radios Low Bandwidth All Indoor Unit Unlicensed	\$0.00	1 / pair	\$0.00
-34-01	Point to Point Radio Pair (qty = 1 pair): Equipment/Materials -			
	First Offer			

Product Code:

Agency Notes:

Supplier Product Code:

Supplier Notes:

Due to the numerous catalogs and products that could be purchased, Pacific East bids cost +12% on all items

**Lot Total:** \$0.00

Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -35-01	11 GHz Radios Medium Bandwith All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00

-39-01

### City of Oklahoma City and its Trusts

**Product Code: Supplier Product Code: Agency Notes:** Supplier Notes: Due to the numerous catalogs and products that could be purchased, Pacific East bids cost +12% on all items **Lot Total:** \$0.00 Item Line Item **Unit Price** Qty/Unit **Total Price** 25101-11 GHz Radios High Bandwidth All Indoor Unit Unlicensed \$0.00 1 / pair \$0.00 -36-01 Point to Point Radio Pair (qty = 1 pair): Equipment/Materials -First Offer **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** Due to the numerous catalogs and products that could be purchased, Pacific East bids cost +12% on all items Lot Total: \$0.00 Item Line Item **Unit Price** Qty/Unit **Total Price** 25101 60 GHz Radios Low Bandwidth Tower Mounted Licensed \$0.00 1 / pair \$0.00 -37-01 Point to Point Radio Pair (qty = 1 pair): Equipment/Materials -First Offer **Product Code: Supplier Product Code: Agency Notes:** Supplier Notes: Due to the numerous catalogs and products that could be purchased, Pacific East bids cost +12% on all items Lot Total: \$0.00 Item Line Item **Unit Price Total Price** Qty/Unit 25101-60 GHz Radios Medium Bandwith Tower Mounted Licensed \$0.00 1 / pair \$0.00 -38-01 Point to Point Radio Pair (qty = 1 pair): Equipment/Materials -First Offer **Product Code: Supplier Product Code: Agency Notes:** Supplier Notes: Due to the numerous catalogs and products that could be purchased, Pacific East bids cost +12% on all items Lot Total: \$0.00 Item Line Item **Unit Price** Qty/Unit **Total Price** 25101-60 GHz Radios High Bandwidth Tower Mounted Licensed \$0.00 \$0.00 1 / pair

2/21/2024 p. 10

Point to Point Radio Pair (qty = 1 pair): Equipment/Materials -

First Offer **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** Due to the numerous catalogs and products that could be purchased, Pacific East bids cost +12% on all items Lot Total: \$0.00 Item Line Item **Unit Price** Qty/Unit **Total Price** 25101 60 GHz Radios Low Bandwidth Tower Mounted Unlicensed \$0.00 1 / pair \$0.00 -40-01 Point to Point Radio Pair (qty = 1 pair): Equipment/Materials -First Offer **Product Code: Supplier Product Code: Agency Notes:** Supplier Notes: Due to the numerous catalogs and products that could be purchased, Pacific East bids cost +12% on all items **Lot Total:** \$0.00 Item Line Item **Unit Price** Qty/Unit **Total Price** 25101-60 GHz Radios Medium Bandwith Tower Mounted \$0.00 1 / pair \$0.00 -41-01 Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** Due to the numerous catalogs and products that could be purchased, Pacific East bids cost +12% on all items **Lot Total:** \$0.00 Item Line Item **Unit Price** Qty/Unit **Total Price** 25101-60 GHz Radios High Bandwidth Tower Mounted Unlicensed \$0.00 1 / pair \$0.00 -42-01 Point to Point Radio Pair (qty = 1 pair): Equipment/Materials -First Offer Supplier Product Code: **Product Code:** Supplier Notes: Due to the numerous catalogs and products that could **Agency Notes:** be purchased, Pacific East bids cost +12% on all items **Lot Total: \$0.00** Item Line Item **Unit Price** Qty/Unit **Total Price** 

25101-				
-43-01	5 GHz Radios High Bandwidth Tower Mounted Access Point Unlicensed Point to Multi-point Single Radio: Equipment/Materials - First Offer	\$0.00	1 / each	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: Due to the be purchased, Pacific East b		talogs and products that could on all items
		ı		Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -44-01	5 GHz Radios High Bandwidth Subscriber Unit Unlicensed Point to Multi-point Single Radio: Equipment/Materials - First Offer	\$0.00	1 / each	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: Due to the be purchased, Pacific East b		talogs and products that could on all items
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -45-01	5 GHz Radios Low Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First	\$0.00	1 / pair	\$0.00
	Offer			
Product Agency	Offer t Code:	Supplier Product Code: Supplier Notes:		cts that could be purchased,
	Offer t Code:	Supplier Product Code: Supplier Notes: Due to the numerous catalo		cts that could be purchased,  Lot Total: \$0.00
Agency	Offer t Code:	Supplier Product Code: Supplier Notes: Due to the numerous catalo		<b>Lot Total:</b> \$0.00
Item # 25101-	Offer t Code: Notes:	Supplier Product Code: Supplier Notes: Due to the numerous catalon Pacific East bids cost +12%	on all items	<b>Lot Total:</b> \$0.00
Agency	Line Item  5 GHz Radios Medium Bandwith Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer t Code:	Supplier Product Code: Supplier Notes: Due to the numerous catalor Pacific East bids cost +12% of  Unit Price \$0.00  Supplier Product Code: Supplier Notes:	Qty/Unit  1 / pair	Lot Total: \$0.00 Total Price
Item # 2510146-01 Product	Line Item  5 GHz Radios Medium Bandwith Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer t Code:	Supplier Product Code: Supplier Notes: Due to the numerous catalor Pacific East bids cost +12%  Unit Price \$0.00  Supplier Product Code: Supplier Notes: Due to the numerous catalor	Qty/Unit  1 / pair	Lot Total: \$0.00  Total Price  \$0.00

Equipment and	its Trusts			
#				
25101- 5 GHz Radios High Bandwidth Tower Mounted Lic-47-01 Point to Point Radio Pair (qty = 1 pair): Equipment/Mate		\$0.00	1 / pair	\$0.00
Product Code: Agency Notes:	Supplier Produ Supplier Notes Due to the num Pacific East bids	s: nerous catalo		ts that could be purchased,
				<b>Lot Total:</b> \$0.00
Item # Line Item		Unit Price	Qty/Unit	Total Price
25101- 5 GHz Radios Low Bandwidth Tower Mounted Unlic -48-01 Point to Point Radio Pair (qty = 1 pair): Equipment/Mate First		\$0.00	1 / pair	\$0.00
Product Code: Agency Notes:	Supplier Produ Supplier Notes Due to the num Pacific East bids	<b>s:</b> ierous catalo		ts that could be purchased,
			I	Lot Total: \$0.00
Item # Line Item		Unit Price	Qty/Unit	Total Price
25101- 5 GHz Radios Medium Bandwith Tower Mounted Unlic -49-01 Point to Point Radio Pair (qty = 1 pair): Equipment/Mate First		\$0.00	1 / pair	\$0.00
Product Code: Agency Notes:	Supplier Produ Supplier Notes Due to the num Pacific East bids	s: nerous catalo		ts that could be purchased,
				<b>Lot Total:</b> \$0.00
Item # Line Item		Unit Price	Qty/Unit	
# Line Item  25101- 5 GHz Radios High Bandwidth Tower Mounted Unlic -50-01 Point to Point Radio Pair (qty = 1 pair): Equipment/Mate	rensed	Unit Price \$0.00	<b>Qty/Unit</b> 1 / pair	Total Price
# 2510150-01	ensed erials - t Offer Supplier Produ	\$0.00 sct Code: s: Due to the	1 / pair numerous cat	Total Price \$0.00

o Equipn	nent and lts	s Trusts		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -51-01	Engineering time: Labor - First Offer	\$0.00	1 / hour	\$0.00
Produc Agency		Supplier Product Code: Supplier Notes: No Bid		
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -52-01	Installation rate (no climb) per worker: Labor - First Offer	\$0.00	1 / hour	\$0.00
Produc Agency		Supplier Product Code: Supplier Notes: Due to the be purchased, Pacific East b No Bid		alogs and products that could on all items
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -53-01	Installation rate (with climb) per worker: Labor - First Offer	\$0.00	1 / hour	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: No Bid		
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -54-01	Armored CAT-5E/CAT6 Cable: Equipment/Materials - First Offer	\$0.00	1 / each	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: Due to the be purchased, Pacific East b		alogs and products that could on all items
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -55-01	Grounding Kits for Armored CAT 5E/CAT 6 Cable: Equipment/Materials - First Offer	\$0.00	1 / each	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: Due to the numerous catalon Pacific East bids cost +12%		its that could be purchased,

**Lot Total: \$0.00** Item Line Item **Unit Price** Qty/Unit **Total Price** 25101 \$0.00 1/box \$0.00 Cable Clips for Armored CAT 5E/CAT 6 Cable: -56-01 Equipment/Materials - First Offer Product Code: **Supplier Product Code: Agency Notes:** Supplier Notes: Due to the numerous catalogs and products that could be purchased, Pacific East bids cost +12% on all items **Lot Total:** \$0.00 Item Line Item **Unit Price** Qty/Unit **Total Price** 25101 \$0.00 Lightning Protection Unit for Armored CAT 5E/6 Cable: 1 / each \$0.00 -57-01 Equipment/Materials - First Offer Product Code: **Supplier Product Code: Agency Notes: Supplier Notes:** Due to the numerous catalogs and products that could be purchased, Pacific East bids cost +12% on all items **Lot Total: \$0.00** Item Line Item **Unit Price** Qty/Unit **Total Price** 25101-\$0.00 RJ-45 connectors for Armored CAT5E/6 Cable: \$0.00 1/box -58-01 Equipment/Materials - First Offer **Product Code: Supplier Product Code: Supplier Notes:** Due to the numerous catalogs and products that could **Agency Notes:** be purchased, Pacific East bids cost +12% on all items Lot Total: \$0.00 Item Line Item **Unit Price** Qty/Unit **Total Price** 25101 \$0.00 \$0.00 Catalog or Price List: Attachment - First Offer 1/ -59-01 percentage

Agency Notes:	Supplier Product Code: Supplier Notes: Due to the numerous catalogs and products that could be purchased, Pacific East bids cost +12% on all items
	Lot Total: \$0.00

JJT Networking Solutions

\$350.00 (59/59 items)

Bid Contact James Moor

jjtnetworking@gmail.com

Ph 405-464-0221

Bid Notes all materials are charged at 30% mark up plus Shipping.

Agency	Notes:	<b>Supplier Notes:</b> all materia	is are charged	at 30% mark up plus Snippling.
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101-	6 GHz Radios Low Bandwidth Tower Mounted Licensed Point	\$0.00	1 / pair	\$0.00
-01-01	to Point Radio Pair (qty = 1 pair): Equipment/Materials - First			
	Offer			

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes:

all materials are charged at 30% mark up plus Shipping.

Address 713 Camelot Drive

Moore, OK 73160

 
 Item #
 Line Item
 Unit Price
 Qty/Unit
 Total Price

 25101 6 GHz Radios Medium Bandwith Tower Mounted Licensed
 \$0.00
 1 / pair
 \$0.00

25101- 6 GHz Radios Medium Bandwith Tower Mounted Licensed -02-01 Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer

Supplier Product Code:

Supplier Notes:

all materials are charged at 30% mark up plus Shipping.

Product Code:

Agency Notes:

Product Agency  Item # 2510106-01	Line Item  6 GHz Radios High Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	Unit Price \$0.00  Supplier Product Code:	<b>Qty/Unit</b> 1 / pair	Lot Total: \$0.00  Total Price  \$0.00
Agency Item #	Line Item			Total Price
Agency	Notes.			Lot Total: \$0.00
	Notes.			
Product	Notes:	Supplier Notes: all materia	lls are charged	at 30% mark up plus Shipping.
		Supplier Product Code:		
25101- -05-01	6 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
				Lot Total: \$0.00
Product Agency		Supplier Product Code: Supplier Notes: all materials are charged at	30% mark up	plus Shipping.
25101- -04-01	6 GHZ Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
				Lot Total: \$0.00
Agency		Supplier Product Code: Supplier Notes: all materials are charged at	30% mark up	
Produc	First Offer		1 / pair	\$0.00
25101- -03-01 <b>Produc</b>	6 GHz Radios High Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials -	\$0.00		\$0.00

		I		Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -07-01	6 GHz Radios Low Bandwidth Split unit (Indoor and Outdoor)Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00
Product Agency	: Code: Notes:	Supplier Product Code: Supplier Notes: all materials are charged at	30% mark up p	olus Shipping.
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -08-01	6 GHz Radios Medium Bandwith Split unit (Indoor and Outdoor)Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -09-01	6 GHz Radios High Bandwidth Split unit (Indoor and Outdoor)Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: all materials are charged at	30% mark up p	olus Shipping.
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -10-01	6 GHz Radios Low Bandwidth Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: all materials are charged at	30% mark up p	olus Shipping.

				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -11-01	6 GHz Radios Medium Bandwith Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00
	t Code: · Notes:	Supplier Product Code: Supplier Notes: all materials are charged at	30% mark up	plus Shipping.
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -12-01	6 GHz Radios High Bandwidth Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00
	t Code: Notes:	Supplier Product Code: Supplier Notes: all materials are charged at	:30% mark up	plus Shipping.
		Supplier Notes:	30% mark up	
Agency		Supplier Notes:	30% mark up  Qty/Unit	Lot Total: \$0.00
Agency	Notes:	Supplier Notes: all materials are charged at  Unit Price  \$0.00		Lot Total: \$0.00  Total Price \$0.00
Item # 2510113-01	Line Item  6 GHz Radios Low Bandwidth All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	Supplier Notes: all materials are charged at  Unit Price  \$0.00  Supplier Product Code:	<b>Qty/Unit</b> 1 / pair	Lot Total: \$0.00
Item # 25101- -13-01	Line Item  6 GHz Radios Low Bandwidth All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer t Code:	Supplier Notes: all materials are charged at  Unit Price  \$0.00  Supplier Product Code:	<b>Qty/Unit</b> 1 / pair	Lot Total: \$0.00  Total Price \$0.00
Item # 2510113-01 Produc Agency	Line Item  6 GHz Radios Low Bandwidth All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer t Code:	Supplier Notes: all materials are charged at  Unit Price  \$0.00  Supplier Product Code:	<b>Qty/Unit</b> 1 / pair	Lot Total: \$0.00  Total Price \$0.00  \$0.00  If at 30% mark up plus Shipping.
Item # 25101- -13-01 Produc Agency	Line Item  6 GHz Radios Low Bandwidth All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer t Code:  Notes:  Line Item	Supplier Notes: all materials are charged at  Unit Price \$0.00  Supplier Product Code: Supplier Notes: all material	<b>Qty/Unit</b> 1 / pair als are charged	Lot Total: \$0.00  Total Price \$0.00  at 30% mark up plus Shipping.  Lot Total: \$0.00

Item	Linates	Unit Drive	Ob. (Unit	Lot Total: \$0.00
#	Line Item	Unit Price	Qty/Unit	Total Price
25101- -15-01	6 GHz Radios High Bandwidth All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: all materials are charged at	30% mark up	plus Shipping.
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -16-01	6 GHz Radios Low Bandwidth All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	ensed \$0.00 erials -	1 / pair	\$0.00
Agency			30% mark up	plus Shipping.
•.		I		Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -17-01	6 GHz Radios Medium Bandwith All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00
Product Agency		Supplier Product Code: Supplier Notes:	2006 mark up	plus Shipping.
		all materials are charged at	30% mark up	
,		all materials are charged at	30% Шагк цр	<b>Lot Total:</b> \$0.00
Item	Line Item	Unit Price	Qty/Unit	<b>Lot Total:</b> \$0.00
Item # 25101- -18-01	<b>Line Item</b> 6 GHz RadiosHigh Bandwidth All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	Unit Price \$0.00		

o Equipn	nent and Its	s Trusts		
Itom				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -19-01	11 GHz Radios Low Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Product Agency		Supplier Product Code: Supplier Notes:		
Agency	itotes.	заррист носез.		<b>Lot Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -20-01	11 GHz Radios Medium Bandwith Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: all materia	ils are charged	l at 30% mark up plus Shipping.
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -21-01	11 GHz Radios High Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: all materials are charged at	30% mark up	plus Shipping.
		I		<b>Lot Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -22-01	11 GHz Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: all materia	als are charged	l at 30% mark up plus Shipping.
				<b>Lot Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -23-01	11 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: all materia	als are charged	l at 30% mark up plus Shipping.
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101-	11 GHz Radios High Bandwidth Tower Mounted Unlicensed	\$0.00	1 / pair	\$0.00

	First Offer t Code: Notes:	Supplier Product Code: Supplier Notes: all materia	lls are charged at 30%	mark up plus Shipping.
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -25-01	11 GHz Radios Low Bandwidth Split unit (Indoor and Outdoor)Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
	t Code: Notes:	Supplier Product Code: Supplier Notes: all materia	lls are charged at 30%	mark up plus Shipping.
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -26-01	11 GHz Radios Medium Bandwith Split unit (Indoor and Outdoor)Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
	t Code: Notes:	Supplier Product Code: Supplier Notes: all materials are charged at	30% mark up plus Sh	ipping.
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -27-01	11 GHz Radios High Bandwidth Split unit (Indoor and Outdoor)Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
	t Code: Notes:	Supplier Product Code: Supplier Notes: all materials are charged at	30% mark up plus Sh	ipping.
				Lot Total: \$0.00
	Line Item	Unit Price	Qty/Unit	Total Price
25101-	Line Item  11 GHz Radios Low Bandwidth Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	Unit Price \$0.00	Qty/Unit 1 / pair	Total Price \$0.00
# 25101- -28-01 <b>Produc</b>	11 GHz Radios Low Bandwidth Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty =		1 / pair	\$0.00
# 25101- -28-01 <b>Produc</b>	11 GHz Radios Low Bandwidth Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer t Code:	\$0.00 Supplier Product Code:	1 / pair	\$0.00
# 25101- 28-01 Produc Agency	11 GHz Radios Low Bandwidth Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer t Code:	\$0.00 Supplier Product Code:	1 / pair	\$0.00 mark up plus Shipping.
# 25101- -28-01 <b>Produc</b>	11 GHz Radios Low Bandwidth Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer t Code:  Notes:	\$0.00  Supplier Product Code: Supplier Notes: all materia  Unit Price  \$0.00	1 / pair	\$0.00 mark up plus Shipping.  Lot Total: \$0.00

				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -30-01	11 GHz Radios High Bandwidth Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
	t Code: Notes:	Supplier Product Code: Supplier Notes: all materials are charged at	30% mark up plı	us Shipping.
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -31-01	11 GHz Radios Low Bandwidth All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	<b>Qty/Unit</b> 1 / pair	\$0.00
	t Code: Notes:	Supplier Product Code: Supplier Notes: all materials are charged at	30% mark up plu	us Shipping.
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -32-01	11 GHz Radios Medium Bandwith All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Produc Agency	t Code: Notes:	Supplier Product Code: Supplier Notes: all materials are charged at	30% mark up plu	us Shipping.
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -33-01		\$0.00	1 / pair	\$0.00
	to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer			
Produc Agency	Offer	Supplier Product Code: Supplier Notes: all materia	ls are charged at	30% mark up plus Shipping.
	Offer t Code:		ls are charged at	30% mark up plus Shipping.  Lot Total: \$0.00
Agency Item	Offer t Code:		ls are charged at	<b>Lot Total:</b> \$0.00
Agency Item	Offer t Code: Notes: Line Item	Supplier Notes: all materia		Lot Total: \$0.00
Item # 25101- -34-01 Produc	Code: Notes:  Line Item  11 GHz Radios Low Bandwidth All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	Supplier Notes: all materia  Unit Price	Qty/Unit 1 / pair	Lot Total: \$0.00  Total Price  \$0.00
Item # 2510134-01 Produc	Code: Notes:  Line Item  11 GHz Radios Low Bandwidth All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer t Code:	Unit Price \$0.00  Supplier Product Code: Supplier Notes:	Qty/Unit 1 / pair	Lot Total: \$0.00  Total Price  \$0.00
Item # 2510134-01 Produc	Code: Notes:  Line Item  11 GHz Radios Low Bandwidth All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer t Code:	Unit Price \$0.00  Supplier Product Code: Supplier Notes:	Qty/Unit 1 / pair	Lot Total: \$0.00  Total Price  \$0.00  us Shipping.

Produc Agency				
	rt Code: v Notes:	Supplier Product Code: Supplier Notes: all materials are charged at	30% mark up	plus Shipping.
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -36-01	11 GHz Radios High Bandwidth All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00
	t Code:  Notes:	Supplier Product Code: Supplier Notes: all materials are charged at	30% mark up	plus Shipping.
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -37-01	60 GHz Radios Low Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00
	rt Code: v Notes:	Supplier Product Code: Supplier Notes: all materials are charged at	30% mark up	plus Shipping.
				<b>Lot Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -38-01	60 GHz Radios Medium Bandwith Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00
	This one			
	tt Code:  Notes:	Supplier Product Code:	ıls are charged	d at 30% mark up plus Shipping.
	t Code:	Supplier Product Code:	ils are chargec	at 30% mark up plus Shipping.  Lot Total: \$0.00
	t Code:	Supplier Product Code:	als are charged	Lot Total: \$0.00
Agency	Line Item	Supplier Product Code: Supplier Notes: all materia  Unit Price  \$0.00		Lot Total: \$0.00
Item # 2510139-01	Line Item  60 GHz Radios High Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials -	Supplier Product Code: Supplier Notes: all materia  Unit Price  \$0.00	<b>Qty/Unit</b> 1 / pair	Lot Total: \$0.00  Total Price  \$0.00
Item # 2510139-01	Line Item  60 GHz Radios High Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer tt Code:	Supplier Product Code: Supplier Notes: all materia  Unit Price  \$0.00  Supplier Product Code: Supplier Notes:	<b>Qty/Unit</b> 1 / pair	Lot Total: \$0.00  Total Price  \$0.00
Item # 2510139-01 Produc Agency	Line Item  60 GHz Radios High Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer tt Code:	Supplier Product Code: Supplier Notes: all materia  Unit Price  \$0.00  Supplier Product Code: Supplier Notes:	<b>Qty/Unit</b> 1 / pair	Lot Total: \$0.00  Total Price \$0.00  plus Shipping.  Lot Total: \$0.00
Item # 25101- -39-01 Produc Agency	Line Item  60 GHz Radios High Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer tt Code: V Notes:  Line Item	Supplier Product Code: Supplier Notes: all materia  Unit Price \$0.00  Supplier Product Code: Supplier Notes: all materials are charged at  Unit Price \$0.00	<b>Qty/Unit</b> 1 / pair 30% mark up	Lot Total: \$0.00  Total Price \$0.00  plus Shipping.  Lot Total: \$0.00
Item	Line Item  60 GHz Radios High Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer to Code:  Notes:  Line Item  60 GHz Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials -	Supplier Product Code: Supplier Notes: all materia  Unit Price \$0.00  Supplier Product Code: Supplier Notes: all materials are charged at  Unit Price \$0.00	Qty/Unit  1 / pair  30% mark up  Qty/Unit  1 / pair	Lot Total: \$0.00  Total Price \$0.00  plus Shipping.  Lot Total: \$0.00  Total Price \$0.00
Item	Line Item  60 GHz Radios High Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer Notes:  Line Item  60 GHz Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer St Code:  Code:  60 GHz Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer St Code:	Supplier Product Code: Supplier Notes: all materia  Unit Price \$0.00  Supplier Product Code: Supplier Notes: all materials are charged at  Unit Price \$0.00  Supplier Product Code: \$0.00	Qty/Unit  1 / pair  30% mark up  Qty/Unit  1 / pair	Lot Total: \$0.00  Total Price \$0.00  plus Shipping.  Lot Total: \$0.00  Total Price \$0.00

		s Trusts	none and	Equipm
				ŧ
\$0.00	1 / pair	\$0.00	60 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	25101- 41-01
% mark up plus Shipping.	s are charged at 30%	Supplier Product Code: Supplier Notes: all materia	t Code: Notes:	
<b>Lot Total:</b> \$0.00		I		
Total Price	Qty/Unit	Unit Price	Line Item	tem
\$0.00	1 / pair	\$0.00	60 GHz Radios High Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	25101- 42-01
hipping.	30% mark up plus Sh	Supplier Product Code: Supplier Notes: all materials are charged at	t Code: Notes:	
<b>Lot Total:</b> \$0.00				
Total Price	Qty/Unit	Unit Price	Line Item	tem t
\$0.00	1 / each	\$0.00	5 GHz Radios High Bandwidth Tower Mounted Access Point Unlicensed Point to Multi-point Single Radio: Equipment/Materials - First Offer	25101- 43-01
% mark up plus Shipping	s are charged at 30%	Supplier Product Code: Supplier Notes: all materia	t Code: Notes:	
niark up plus stilppling.				
Lot Total: \$0.00				
	Qty/Unit	Unit Price	Line Item	ltem
<b>Lot Total:</b> \$0.00	<b>Qty/Unit</b> 1 / each	\$0.00	Line Item  5 GHz Radios High Bandwidth Subscriber Unit Unlicensed Point to Multi-point Single Radio: Equipment/Materials - First Offer	
Lot Total: \$0.00  Total Price \$0.00	1 / each	\$0.00	5 GHz Radios High Bandwidth Subscriber Unit Unlicensed Point to Multi-point Single Radio: Equipment/Materials - First	25101- 44-01 <b>Product</b>
Lot Total: \$0.00  Total Price \$0.00	1 / each	\$0.00  Supplier Product Code: Supplier Notes:	5 GHz Radios High Bandwidth Subscriber Unit Unlicensed Point to Multi-point Single Radio: Equipment/Materials - First Offer t Code:	25101- 44-01 <b>Product</b>
Lot Total: \$0.00 Total Price \$0.00	1 / each	\$0.00  Supplier Product Code: Supplier Notes:	5 GHz Radios High Bandwidth Subscriber Unit Unlicensed Point to Multi-point Single Radio: Equipment/Materials - First Offer t Code:	25101- 44-01 <b>Product</b>
Lot Total: \$0.00  Total Price \$0.00  hipping.  Lot Total: \$0.00	1 / each	\$0.00  Supplier Product Code: Supplier Notes: all materials are charged at  Unit Price  \$0.00	5 GHz Radios High Bandwidth Subscriber Unit Unlicensed Point to Multi-point Single Radio: Equipment/Materials - First Offer t Code: Notes:	25101- 44-01 Product Agency
Lot Total: \$0.00  Total Price \$0.00  hipping.  Lot Total: \$0.00  Total Price \$0.00	1 / each  30% mark up plus Sh  Qty/Unit  1 / pair	\$0.00  Supplier Product Code: Supplier Notes: all materials are charged at  Unit Price  \$0.00	5 GHz Radios High Bandwidth Subscriber Unit Unlicensed Point to Multi-point Single Radio: Equipment/Materials - First Offer t Code: Notes:  Line Item  5 GHz Radios Low Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First	25101- 44-01 Product Agency Item E 25101- 45-01
Lot Total: \$0.00  Total Price \$0.00  hipping.  Lot Total: \$0.00  Total Price \$0.00	1 / each  30% mark up plus Sh  Qty/Unit  1 / pair	\$0.00  Supplier Product Code: Supplier Notes: all materials are charged at  Unit Price  \$0.00  Supplier Product Code: Supplier Notes:	5 GHz Radios High Bandwidth Subscriber Unit Unlicensed Point to Multi-point Single Radio: Equipment/Materials - First Offer t Code: Notes:  Line Item  5 GHz Radios Low Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer t Code:	25101- 44-01 Product Agency Item E 25101- 45-01
Lot Total: \$0.00  Total Price \$0.00  hipping.  Lot Total: \$0.00  Total Price \$0.00	1 / each  30% mark up plus Sh  Qty/Unit  1 / pair	\$0.00  Supplier Product Code: Supplier Notes: all materials are charged at  Unit Price  \$0.00  Supplier Product Code: Supplier Notes:	5 GHz Radios High Bandwidth Subscriber Unit Unlicensed Point to Multi-point Single Radio: Equipment/Materials - First Offer t Code: Notes:  Line Item  5 GHz Radios Low Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer t Code:	25101- 44-01 Product Agency Item E 25101- 45-01
Lot Total: \$0.00  Total Price \$0.00  hipping.  Lot Total: \$0.00  Total Price \$0.00  Lot Total: \$0.00	1 / each  30% mark up plus Sh  Qty/Unit  1 / pair  30% mark up plus Sh	\$0.00  Supplier Product Code: Supplier Notes: all materials are charged at  Unit Price  \$0.00  Supplier Product Code: Supplier Notes: all materials are charged at  Unit Price  \$0.00	5 GHz Radios High Bandwidth Subscriber Unit Unlicensed Point to Multi-point Single Radio: Equipment/Materials - First Offer t Code: Notes:  Line Item  5 GHz Radios Low Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer t Code: Notes:	Product Agency

all materials are charged at 30% mark up plus Shipping.

**Lot Total:** \$0.00

Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101-	5 GHz Radios High Bandwidth Tower Mounted Licensed	\$0.00	1 / pair	\$0.00
-47-01	Point to Point Radio Pair (qty = 1 pair): Equipment/Materials -			
	First Offer			

Product Code: **Agency Notes:**  **Supplier Product Code:** 

Supplier Notes:

all materials are charged at 30% mark up plus Shipping.

**Lot Total: \$0.00** 

Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101-	5 GHz Radios Low Bandwidth Tower Mounted Unlicensed	\$0.00	1 / pair	\$0.00
-48-01	Point to Point Radio Pair (qty = 1 pair): Equipment/Materials -			
	First Offer			

**Product Code:** Agency Notes: **Supplier Product Code:** 

**Supplier Notes:** all materials are charged at 30% mark up plus Shipping.

**Lot Total:** \$0.00

Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101	5 GHz Radios Medium Bandwith Tower Mounted Unlicensed	\$0.00	1 / pair	\$0.00
-49-01	Point to Point Radio Pair (qty = 1 pair): Equipment/Materials -			
	First Offer			

Product Code: **Agency Notes:**  Supplier Product Code:

Supplier Notes:

all materials are charged at 30% mark up plus Shipping.

Lot Total: \$0.00

Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101-	5 GHz Radios High Bandwidth Tower Mounted Unlicensed	\$0.00	1 / pair	\$0.00
-50-01	Point to Point Radio Pair (qty = 1 pair): Equipment/Materials -			
	First Offer			

Product Code: **Agency Notes:**  Supplier Product Code:

**Supplier Notes:** all materials are charged at 30% mark up plus Shipping.

**Lot Total:** \$0.00

Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101-	Engineering time: Labor - First Offer	\$0.00	1 / hour	\$0.00
-51-01				

Product Code:

**Agency Notes:** 

Supplier Notes:

Supplier Product Code:

all materials are charged at 30% mark up plus Shipping.

**Lot Total:** \$0.00

Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -52-01	Installation rate (no climb) per worker: Labor - First Offer	\$100.00	1 / hour	\$100.00

p. 26 2/21/2024

**Supplier Product Code: Product Code: Agency Notes: Supplier Notes:** For a single person. There is a minimum of a 3 hour charge. Lot Total: \$100.00 Item Line Item **Unit Price** Qty/Unit **Total Price** 25101 Installation rate (with climb) per worker: Labor - First Offer \$250.00 \$250.00 1 / hour -53-01 **Product Code: Supplier Product Code: 250 Agency Notes: Supplier Notes:** for two people with a 5 Hour minimum. Lot Total: \$250.00 Item **Unit Price** Line Item Qty/Unit **Total Price** 25101-Armored CAT-5E/CAT6 Cable: Equipment/Materials - First \$0.00 1 / each \$0.00 -54-01 Offer **Product Code: Supplier Product Code: Supplier Notes: Agency Notes:** all materials are charged at 30% mark up plus Shipping. **Lot Total:** \$0.00 Item Line Item **Unit Price** Qty/Unit **Total Price** 25101 Grounding Kits for Armored CAT 5E/CAT 6 Cable: \$0.00 1 / each \$0.00 -55-01 Equipment/Materials - First Offer **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** all materials are charged at 30% mark up plus Shipping. **Lot Total:** \$0.00 Item Line Item **Unit Price** Qty/Unit **Total Price** 25101 \$0.00 1/box \$0.00 Cable Clips for Armored CAT 5E/CAT 6 Cable: -56-01 Equipment/Materials - First Offer **Product Code: Supplier Product Code: Supplier Notes: Agency Notes:** all materials are charged at 30% mark up plus Shipping. **Lot Total:** \$0.00 Item Line Item **Unit Price** Qty/Unit **Total Price** 25101 Lightning Protection Unit for Armored CAT 5E/6 Cable: \$0.00 1 / each \$0.00 -57-01 Equipment/Materials - First Offer **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** all materials are charged at 30% mark up plus Shipping. **Lot Total: \$0.00** Line Item **Unit Price** Qty/Unit **Total Price** Item

ient and	is musis			
_		1 / box	\$0.00	
Product Code:  Agency Notes:  Supplier Product Code:  Supplier Notes:  all materials are charged at 30% mark up plus Shipping.			plus Shipping.	
Lot Total: \$0.00				
Line Item	Unit Price	Qty/Unit	Total Price	
Catalog or Price List: Attachment - First Offe	\$0.00	1 / percentage	\$0.00	
Product Code:  Agency Notes:  Supplier Product Code:  Supplier Notes:  all materials are charged at 30% mark up plus Shipping.			plus Shipping.	
			Lot Total: \$0.00	
	RJ-45 connectors for Armored CAT5E/6 Cable Equipment/Materials - First Offe  Code: Notes:  Line Item  Catalog or Price List: Attachment - First Offe	RJ-45 connectors for Armored CAT5E/6 Cable: Equipment/Materials - First Offer  Code: Notes:  Supplier Product Code: Supplier Notes: all materials are charged at  Unit Price  Catalog or Price List: Attachment - First Offer  Code: Notes: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:	RJ-45 connectors for Armored CAT5E/6 Cable: Equipment/Materials - First Offer  Code: Supplier Product Code: Supplier Notes: all materials are charged at 30% mark up  Line Item Unit Price Qty/Unit  Catalog or Price List: Attachment - First Offer  Supplier Product Code: Supplier Notes: all materials are charged at 30% mark up  Catalog or Price List: Attachment - First Offer  Supplier Product Code: Supplier Product Code: Supplier Notes:	

ISP Supplies \$64,434.47 (59/59 items)

Bid Contact **Austin Parker**aparker@ispsupplies.com

Ph 979-393-0363

Address **10770 TX-30 STE 200** 

College Station, TX 77845

Agency	Notes:	Supplier Notes:		
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -01-01	6 GHz Radios Low Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00
Product Agency		Supplier Product Code: NA Supplier Notes: NA		

**Lot Total:** \$0.00

Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101-	6 GHz Radios Medium Bandwith Tower Mounted Licensed	\$10,589.00	1 / pair	\$10,589.00
-02-01	Point to Point Radio Pair (qty = 1 pair): Equipment/Materials -			
	First Offer			

Product Code: Agency Notes: Supplier Product Code: C060085B001A

**Supplier Notes:** Cambium 6ghz 1+0 Configuration. Approx 543mbps link. 20% off MSRP for Radios. 20% off MSRP for all licenses and antennas dependent on link and not on attachment. 20% off accessories based on fiber and DC fed or POE fed. accessories not on attachment. FCC licensing cost not on attachment.

				<b>Lot Total:</b> \$10,589.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -03-01	6 GHz Radios High Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$15,629.00
Product Agency		20% off MSRP for Radios. 20 dependent on link and not	6ghz 2+0 Conf 0% off MSRP fo on attachment	iguration. Approx 1Gbps link. or all licenses and antennas :. 20% off accessories based on ot on attachment. FCC licensing
Item	Line Item	Unit Price	Otr/Unit	Lot Total: \$15,629.00  Total Price
<b>#</b> 25101- -04-01	6 GHZ Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	<b>Qty/Unit</b> 1 / pair	\$0.00
Product Agency		Supplier Product Code: NA Supplier Notes: NA	Ą	
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -05-01	6 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$910.40
Product Agency		Supplier Product Code: CC Supplier Notes: Cambium Antennas not listed on atta- attachment. Accessories 20	6ghz 4600 con chment. Surge	nectorized radio. 20% off MSRP. protection not listed on

		I		<b>Lot Total:</b> \$910.40
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -06-01	6 GHz Radios High Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Produc		Supplier Product Code: NA	4	
Agency	Notes:	Supplier Notes: NA		<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -07-01	6 GHz Radios Low Bandwidth Split unit (Indoor and Outdoor)Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Produc Agency		Supplier Product Code: NA Supplier Notes: NA	4	
Agency	Notes.	Supplier Notes. NA		<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -08-01	6 GHz Radios Medium Bandwith Split unit (Indoor and Outdoor)Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00
Produc Agency		Supplier Product Code: NA Supplier Notes: NA		
3 7				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -09-01	6 GHz Radios High Bandwidth Split unit (Indoor and Outdoor)Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Produc Agency		Supplier Product Code: NA Supplier Notes: NA	Α	
Agency	Notes.	Supplier Notes. NA		<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -10-01	6 GHz Radios Low Bandwidth Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00
Produc Agency		Supplier Product Code: NA Supplier Notes: NA	4	
<u> </u>				<b>Lot Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -11-01	6 GHz Radios Medium Bandwith Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00
Produc Agency		Supplier Product Code: NA Supplier Notes: NA	4	
- Geney				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -12-01	6 GHz Radios High Bandwidth Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty =		1 / pair	\$0.00

Item	Line Item	Unit Price	Qty/Unit	Total Price
				Lot Total: \$0.00
Agency		Supplier Notes: NA		
-18-01 <b>Produc</b>	Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer t Code:	Supplier Product Code: NA	<u> </u>	
<b>#</b> 25101-	Line Item  6 GHz RadiosHigh Bandwidth All Indoor Unit Unlicensed	Unit Price \$0.00	<b>Qty/Unit</b> 1 / pair	F0.00
Item				<b>Lot Total:</b> \$0.00
Agency	Notes:	Supplier Notes: NA		
Produc		Supplier Product Code: NA	4	
25101- -17-01	6 GHz Radios Medium Bandwith All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.0
Item #	Line Item	Unit Price	Qty/Unit	Total Pric
Agency	ivotes:	Supplier Notes. NA		<b>Lot Total:</b> \$0.00
Produc		Supplier Product Code: NA Supplier Notes: NA	4	
25101- -16-01	6 GHz Radios Low Bandwidth All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Pric
				Lot Total: \$0.0
Produc Agency	t Code: Notes:	Supplier Product Code: NA Supplier Notes: NA	4	
25101- -15-01	6 GHz Radios High Bandwidth All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
#	Line Item	Unit Price	Qty/Unit	Total Price
		I		Lot Total: \$0.00
Produc Agency	t Code: Notes:	Supplier Product Code: NA Supplier Notes: NA	4	
25101- -14-01	6 GHz Radios Medium Bandwith All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
		I		Lot Total: \$0.00
Produc Agency		Supplier Product Code: NA Supplier Notes: NA	4	
25101- -13-01	6 GHz Radios Low Bandwidth All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Pric
				Lot Total: \$0.00
	Notes:	Supplier Notes: NA	1	
Produc	1 pair): Equipment/Materials - First Offer	Supplier Product Code: NA	<u>                                     </u>	
Equipii	I	Trusts		

	ment and lts	rusts		
#				
25101- -19-01	11 GHz Radios Low Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$3,225.30	1 / pair	\$3,225.30
Product Agency	rt Code: v Notes:	Supplier Product Code: AF Supplier Notes: Ubiquiti 11	•	s and duplexers.
		, , ,	0 0	<b>Lot Total:</b> \$3,225.30
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -20-01	11 GHz Radios Medium Bandwith Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$10,781.21	1 / pair	\$10,781.21
Product Code: Agency Notes:		MSPR antennas dependent	11ghz 1+0 Configuunt off MSRP for a on link and not or er and DC fed or F	all licenses. 20% discount off n attachment. 20% discount POE and fiber fed. accessories
				<b>Lot Total:</b> \$10,781.21
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -21-01	11 GHz Radios High Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$15,443.28	1 / pair	\$15,443.28
	t Code: Notes:		11ghz 2+0 Configuunt off MSRP for a	Ill licenses. 20% discount off
Product Agency		<b>Supplier Notes:</b> Cambium MSRP for Radios. 20% disco MSPR antennas dependent	11ghz 2+0 Configuunt off MSRP for a on link and not or er and DC fed or F	all licenses. 20% discount off n attachment. 20% discount POE and fiber fed. accessories attachment.
		Supplier Notes: Cambium MSRP for Radios. 20% disco MSPR antennas dependent off accessories based on fib	11ghz 2+0 Configuunt off MSRP for a on link and not or er and DC fed or F	all licenses. 20% discount off n attachment. 20% discount POE and fiber fed. accessories
Agency	Notes:	Supplier Notes: Cambium MSRP for Radios. 20% disco MSPR antennas dependent off accessories based on fib not on attachment. FCC lice	11ghz 2+0 Configu unt off MSRP for a on link and not or er and DC fed or F nsing cost not on a	all licenses. 20% discount off in attachment. 20% discount POE and fiber fed. accessories attachment.  Lot Total: \$15,443.28
Item	Line Item  11 GHz Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	Supplier Notes: Cambium MSRP for Radios. 20% disco MSPR antennas dependent off accessories based on fib not on attachment. FCC lice	11ghz 2+0 Configurunt off MSRP for a on link and not or er and DC fed or Finsing cost not on a Qty/Unit	all licenses. 20% discount off in attachment. 20% discount POE and fiber fed. accessories attachment.  Lot Total: \$15,443.28  Total Price
Item	Line Item  11 GHz Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer at Code:	Supplier Notes: Cambium MSRP for Radios. 20% disco MSPR antennas dependent off accessories based on fib not on attachment. FCC lice  Unit Price \$0.00  Supplier Product Code: NA	11ghz 2+0 Configurunt off MSRP for a on link and not or er and DC fed or Finsing cost not on a Qty/Unit	all licenses. 20% discount off in attachment. 20% discount POE and fiber fed. accessories attachment.  Lot Total: \$15,443.28  Total Price
Item # 25101- 22-01 Product Agency	Line Item  11 GHz Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer at Code:	Supplier Notes: Cambium MSRP for Radios. 20% disco MSPR antennas dependent off accessories based on fib not on attachment. FCC lice  Unit Price \$0.00  Supplier Product Code: NA	11ghz 2+0 Configurunt off MSRP for a on link and not or er and DC fed or Finsing cost not on a Qty/Unit	all licenses. 20% discount off in attachment. 20% discount POE and fiber fed. accessories attachment.  Lot Total: \$15,443.28  Total Price  \$0.00
Item	Line Item  11 GHz Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer to Code:  Notes:  Line Item	Supplier Notes: Cambium MSRP for Radios. 20% disco MSPR antennas dependent off accessories based on fib not on attachment. FCC lice  Unit Price \$0.00  Supplier Product Code: NA Supplier Notes: NA  Unit Price \$0.00	11ghz 2+0 Configurunt off MSRP for a on link and not or er and DC fed or Finsing cost not on a Qty/Unit	all licenses. 20% discount off in attachment. 20% discount POE and fiber fed. accessories attachment.  Lot Total: \$15,443.28  Total Price  \$0.00  Lot Total: \$0.00
Item # 2510122-01  Product Agency Item # 2510123-01  Product	Line Item  11 GHz Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer to Code:  Notes:  Line Item  11 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	Supplier Notes: Cambium MSRP for Radios. 20% disco MSPR antennas dependent off accessories based on fib not on attachment. FCC lice  Unit Price \$0.00  Supplier Product Code: NA Supplier Notes: NA  Unit Price \$0.00	11ghz 2+0 Configurent off MSRP for a on link and not or er and DC fed or Finsing cost not on a Qty/Unit  1 / pair  Qty/Unit  1 / pair	all licenses. 20% discount off in attachment. 20% discount POE and fiber fed. accessories attachment.  Lot Total: \$15,443.28  Total Price \$0.00  Lot Total: \$0.00
Item # 2510122-01  Product Agency Item # 2510123-01  Product	Line Item  11 GHz Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer to Code:  Notes:  Line Item  11 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer to Code:	Supplier Notes: Cambium MSRP for Radios. 20% disco MSPR antennas dependent off accessories based on fib not on attachment. FCC lice  Unit Price \$0.00  Supplier Product Code: NA Supplier Notes: NA  Unit Price \$0.00	11ghz 2+0 Configurent off MSRP for a on link and not or er and DC fed or Finsing cost not on a Qty/Unit  1 / pair  Qty/Unit  1 / pair	all licenses. 20% discount off in attachment. 20% discount POE and fiber fed. accessories attachment.  Lot Total: \$15,443.28  Total Price  \$0.00  Lot Total: \$0.00
Item # 2510122-01  Product Agency  Item # 2510123-01  Product Agency	Line Item  11 GHz Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer to Code:  Notes:  Line Item  11 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer to Code:	Supplier Notes: Cambium MSRP for Radios. 20% disco MSPR antennas dependent off accessories based on fib not on attachment. FCC lice  Unit Price \$0.00  Supplier Product Code: NA Supplier Notes: NA  Unit Price \$0.00	11ghz 2+0 Configurent off MSRP for a on link and not or er and DC fed or Finsing cost not on a Qty/Unit  1 / pair  Qty/Unit  1 / pair	all licenses. 20% discount off in attachment. 20% discount POE and fiber fed. accessories attachment.  Lot Total: \$15,443.28  Total Price \$0.00  Total Price \$0.00
Item # 25101- -22-01 Product Agency Item # 25101- -23-01 Product Agency	Line Item  11 GHz Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer tode: Notes:  Line Item  11 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer Notes:  Line Item  11 GHz Radios High Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	Supplier Notes: Cambium MSRP for Radios. 20% disco MSPR antennas dependent off accessories based on fib not on attachment. FCC lice  Unit Price \$0.00  Supplier Product Code: NA Supplier Notes: NA  Unit Price \$0.00	11ghz 2+0 Configurunt off MSRP for a on link and not or er and DC fed or Finsing cost not on a cost of the cost of	all licenses. 20% discount off in attachment. 20% discount POE and fiber fed. accessories attachment.  Lot Total: \$15,443.28  Total Price \$0.00  Total Price \$0.00

	nent and its	s Trusts		Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -25-01	11 GHz Radios Low Bandwidth Split unit (Indoor and Outdoor)Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Produc Agency	t Code: Notes:	Supplier Product Code: NA Supplier Notes: NA	4	
<u> </u>		, , ,		Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -26-01	11 GHz Radios Medium Bandwith Split unit (Indoor and Outdoor)Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Produc Agency	t Code: Notes:	Supplier Product Code: NA Supplier Notes: NA	4	
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
<b>"</b> 25101- -27-01	11 GHz Radios High Bandwidth Split unit (Indoor and Outdoor)Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Produc Agency	t Code: Notes:	Supplier Product Code: NA Supplier Notes: NA	4	
				<b>Lot Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -28-01	11 GHz Radios Low Bandwidth Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Produc Agency	t Code: Notes:	Supplier Product Code: NA Supplier Notes: NA	4	
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -29-01	11 GHz Radios Medium Bandwith Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Produc Agency	t Code: Notes:	Supplier Product Code: NA Supplier Notes: NA	4	
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -30-01	11 GHz Radios High Bandwidth Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Produc Agency	t Code: Notes:	Supplier Product Code: NA Supplier Notes: NA	4	
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -31-01	11 GHz Radios Low Bandwidth All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Produc	t Code:	Supplier Product Code: NA	4	

		s Irusts		
Agency	Notes:	Supplier Notes: NA		
		I		Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -32-01	11 GHz Radios Medium Bandwith All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Product Agency		Supplier Product Code: NA Supplier Notes: NA	4	
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -33-01	11 GHz Radios High Bandwidth All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$0.00
Product Agency		Supplier Product Code: NA Supplier Notes: NA	4	
				<b>Lot Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -34-01	11 GHz Radios Low Bandwidth All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
	Product Code: Supplier Product Code: NA Agency Notes: Supplier Notes: NA			
				<b>Lot Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -35-01	11 GHz Radios Medium Bandwith All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Product Agency		Supplier Product Code: NA Supplier Notes: NA	4	
		,		Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -36-01	11 GHz Radios High Bandwidth All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Product		Supplier Product Code: NA	Ą	
Agency	Notes:	Supplier Notes: NA		<b>Lot Total:</b> \$0.00
Item			0. 4	
#	Line Item	Unit Price	Qty/Unit	Total Price
25101- -37-01	60 GHz Radios Low Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Product Agency		Supplier Product Code: NA Supplier Notes: NA	4	
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -38-01	60 GHz Radios Medium Bandwith Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00

Produc	1	1		
	rt Code: v Notes:	Supplier Product Code: NA Supplier Notes: NA	4	
				<b>Lot Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -39-01	60 GHz Radios High Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
	t Code:	Supplier Product Code: NA	4	
Agency	Notes:	Supplier Notes: NA		<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -40-01	60 GHz Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$594.00	1 / pair	\$594.00
	t Code:  Notes:	Supplier Product Code: AF Supplier Notes: 2x Ubiquit		-60-LR
				<b>Lot Total:</b> \$594.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -41-01	60 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$774.00	1 / pair	\$774.00
	rt Code: v Notes:	Supplier Product Code: AF Supplier Notes: Ubiquiti Ai		x AF60-HD
				<b>Lot Total:</b> \$774.00
Item #	Line Item	Unit Price	Qty/Unit	Lot Total: \$774.00  Total Price
		<b>Unit Price</b> \$2,118.00	<b>Qty/Unit</b> 1 / pair	
# 25101- -42-01 <b>Produc</b>	60 GHz Radios High Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials -		1 / pair 60-XG	<b>Total Price</b> \$2,118.00
# 25101- -42-01 <b>Produc</b>	60 GHz Radios High Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer tt Code:	\$2,118.00  Supplier Product Code: AF	1 / pair 60-XG	<b>Total Price</b> \$2,118.00
# 25101- -42-01 <b>Produc</b>	60 GHz Radios High Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer tt Code:	\$2,118.00  Supplier Product Code: AF	1 / pair 60-XG	**Total Price \$2,118.00
# 25101- -42-01 Produc Agency	60 GHz Radios High Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer tt Code: Notes: Line Item	\$2,118.00  Supplier Product Code: AF Supplier Notes: Ubiquiti Ai  Unit Price	1 / pair 60-XG rfiber 60ghz XG 2	**Total Price \$2,118.00  **AF60-XG  **Lot Total: \$2,118.00
# 2510142-01  Product Agency  Item # 2510143-01	60 GHz Radios High Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer to Code:  Notes:  Line Item  5 GHz Radios High Bandwidth Tower Mounted Access Point Unlicensed Point to Multi-point Single Radio:	\$2,118.00  Supplier Product Code: AF Supplier Notes: Ubiquiti Ai  Unit Price \$1,999.20  Supplier Product Code: Co Supplier Notes: Cambium	1 / pair  160-XG  rfiber 60ghz XG 29  Qty/Unit  1 / each  158940A122A  5ghz epmp 4500 iscribers included in	**Total Price \$2,118.00  **AF60-XG  **Lot Total: \$2,118.00  **Total Price \$1,999.20  **Integrated Access Point. 20% in attachment. 20% discount
# 2510142-01  Product Agency  Item # 2510143-01	60 GHz Radios High Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer It Code:  Notes:  Line Item  5 GHz Radios High Bandwidth Tower Mounted Access Point Unlicensed Point to Multi-point Single Radio: Equipment/Materials - First Offer It Code:	\$2,118.00  Supplier Product Code: AF Supplier Notes: Ubiquiti Ai  Unit Price \$1,999.20  Supplier Product Code: CO Supplier Notes: Cambium discount off MSRP. No subs	1 / pair  160-XG  rfiber 60ghz XG 29  Qty/Unit  1 / each  158940A122A  5ghz epmp 4500 iscribers included in	**Total Price \$2,118.00  **AF60-XG  **Lot Total: \$2,118.00  **Total Price \$1,999.20  **Integrated Access Point. 20% in attachment. 20% discount
# 2510142-01  Product Agency  Item # 2510143-01	60 GHz Radios High Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer It Code:  Notes:  Line Item  5 GHz Radios High Bandwidth Tower Mounted Access Point Unlicensed Point to Multi-point Single Radio: Equipment/Materials - First Offer It Code:	\$2,118.00  Supplier Product Code: AF Supplier Notes: Ubiquiti Ai  Unit Price \$1,999.20  Supplier Product Code: CO Supplier Notes: Cambium discount off MSRP. No subs	1 / pair  160-XG  rfiber 60ghz XG 29  Qty/Unit  1 / each  158940A122A  5ghz epmp 4500 iscribers included in	Total Price \$2,118.00  AF60-XG  Lot Total: \$2,118.00  Total Price \$1,999.20  Integrated Access Point. 20% In attachment. 20% discount on included on attachemt.

Product Code:
Agency Notes:

**Supplier Product Code:** C058940M142A

**Supplier Notes:** Cambium epmp 4525 subscirber unit. 20% discount off

MSRP. No surge protection included on attachment.

**Lot Total:** \$215.20

Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101-	5 GHz Radios Low Bandwidth Tower Mounted Licensed Point	\$0.00	1 / pair	\$0.00
-45-01	to Point Radio Pair (qty = 1 pair): Equipment/Materials - First			
	Offer			

Product Code: Agency Notes: Supplier Product Code: NA

Supplier Notes: NA

Lot Total: \$0.00

Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -46-01	5 GHz Radios Medium Bandwith Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials -		1 / pair	\$0.00
	First Offer			

Product Code:

Agency Notes:

Supplier Product Code: NA

Supplier Notes: NA

Lot Total: \$0.00

ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101-	5 GHz Radios High Bandwidth Tower Mounted Licensed	\$0.00	1 / pair	\$0.00
-47-01	Point to Point Radio Pair (qty = 1 pair): Equipment/Materials -			
	First Offer			

Product Code: Agency Notes: Supplier Product Code: NA

Supplier Notes:

**Lot Total:** \$0.00

Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101-	5 GHz Radios Low Bandwidth Tower Mounted Unlicensed	\$0.00	1 / pair	\$0.00
-48-01	Point to Point Radio Pair (qty = 1 pair): Equipment/Materials -			
	First Offer			

Product Code: Agency Notes: **Supplier Product Code: NA** 

Supplier Notes: NA

Lot Total: \$0.00

Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101-	5 GHz Radios Medium Bandwith Tower Mounted Unlicensed	\$792.88	1 / pair	\$792.88
-49-01	Point to Point Radio Pair (qty = 1 pair): Equipment/Materials -			
	First Offer			

Product Code: Agency Notes: Supplier Product Code: AF-5xhd

**Supplier Notes:** Ubiquiti Airfiber 5ghz AF-5xhd. Antennas not included on

attachment. Surge Protection not included on attachment.

**Lot Total:** \$792.88

 Item
 Line Item
 Unit Price
 Qty/Unit
 Total Price

#				
25101- -50-01	5 GHz Radios High Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$983.53	1 / pair	\$983.53
Product Agency		<b>Supplier Product Code:</b> CO <b>Supplier Notes:</b> Cambium Antenna not included on at attachment.	Force 400c rac	io. 20% discount off MSRP. ge protection not include don
				<b>Lot Total:</b> \$983.53
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- ·51-01	Engineering time: Labor - First Offer	\$0.00	1 / hour	\$0.00
Product Agency		Supplier Product Code: NA Supplier Notes: NA	4	
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- ·52-01	Installation rate (no climb) per worker: Labor - First Offer	\$0.00	1 / hour	\$0.00
Product Agency		Supplier Product Code: NA Supplier Notes: NA		
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- ·53-01	Installation rate (with climb) per worker: Labor - First Offer	\$0.00	1 / hour	\$0.00
Product Agency		Supplier Product Code: NA Supplier Notes: NA	4	
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- ·54-01	Armored CAT-5E/CAT6 Cable: Equipment/Materials - First Offer	\$255.95	1 / each	\$255.95
Product	_	Supplier Product Code: DC-2021 Supplier Notes: Shireen's DC-2021-1 high quality outdoor FTP (Foil Twisted Pair) CAT6 cable by the foot. It features 4 twisted pairs of 23 AW wire with Aluminum foil shielding and drain wire. Excellent for use in all outdoor networking, data transfer and phone lines applications. It supports 10/100/1000Mbps.		
Agency		<b>Supplier Notes:</b> Shireen's I Twisted Pair) CAT6 cable by wire with Aluminum foil shi outdoor networking, data tr	OC-2021-1 high the foot. It fea elding and drai ansfer and ph	tures 4 twisted pairs of 23 AWG n wire. Excellent for use in all
		<b>Supplier Notes:</b> Shireen's I Twisted Pair) CAT6 cable by wire with Aluminum foil shi outdoor networking, data tr	OC-2021-1 high the foot. It fea elding and drai ansfer and ph	tures 4 twisted pairs of 23 AWG n wire. Excellent for use in all one lines applications. It
Agency		<b>Supplier Notes:</b> Shireen's I Twisted Pair) CAT6 cable by wire with Aluminum foil shi outdoor networking, data tr	OC-2021-1 high the foot. It fea elding and drai ansfer and ph	tures 4 twisted pairs of 23 AWG n wire. Excellent for use in all one lines applications. It Lot Total: \$255.95
Agency	Notes:	Supplier Notes: Shireen's I Twisted Pair) CAT6 cable by wire with Aluminum foil shi outdoor networking, data to supports 10/100/1000Mbps	OC-2021-1 high the foot. It fea elding and drai ransfer and ph	tures 4 twisted pairs of 23 AWG n wire. Excellent for use in all one lines applications. It Lot Total: \$255.95
	Line Item  Grounding Kits for Armored CAT 5E/CAT 6 Cable: Equipment/Materials - First Offer Code:	Supplier Notes: Shireen's I Twisted Pair) CAT6 cable by wire with Aluminum foil shi outdoor networking, data tr supports 10/100/1000Mbps  Unit Price \$0.00  Supplier Product Code: NA Supplier Notes:	oc-2021-1 high the foot. It fea elding and drai ransfer and ph s. Qty/Unit	tures 4 twisted pairs of 23 AWG n wire. Excellent for use in all one lines applications. It  Lot Total: \$255.95  Total Price
	Line Item  Grounding Kits for Armored CAT 5E/CAT 6 Cable: Equipment/Materials - First Offer Code:	Supplier Notes: Shireen's I Twisted Pair) CAT6 cable by wire with Aluminum foil shi outdoor networking, data tr supports 10/100/1000Mbps  Unit Price \$0.00  Supplier Product Code: NA	oc-2021-1 high the foot. It fea elding and drai ransfer and ph s. Qty/Unit	tures 4 twisted pairs of 23 AWG n wire. Excellent for use in all one lines applications. It  Lot Total: \$255.95  Total Price \$0.00
	Line Item  Grounding Kits for Armored CAT 5E/CAT 6 Cable: Equipment/Materials - First Offer Code:	Supplier Notes: Shireen's I Twisted Pair) CAT6 cable by wire with Aluminum foil shi outdoor networking, data tr supports 10/100/1000Mbps  Unit Price \$0.00  Supplier Product Code: NA Supplier Notes:	oc-2021-1 high the foot. It fea elding and drai ransfer and ph s. Qty/Unit	tures 4 twisted pairs of 23 AWG n wire. Excellent for use in all one lines applications. It  Lot Total: \$255.95  Total Price

**Product Code:** Supplier Product Code: GC12WHT **Agency Notes: Supplier Notes:** Perfect Vision Grip Clip with Screw, 1/2", Single, Wht, 100

Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101-	Lightning Protection Unit for Armored CAT 5E/6 Cable:	\$15.24	1 / each	\$15.24
-57-01	Equipment/Materials - First Offer			

Product Code: Supplier Product Code: XCATSURGE

**Agency Notes: Supplier Notes:** Perfect Vision Surge Protector, Cat 5/6

Lot Total: \$15.24

**Lot Total: \$3.28** 

Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101-	RJ-45 connectors for Armored CAT5E/6 Cable:	\$105.00	1 / box	\$105.00
-58-01	Equipment/Materials - First Offer			

Product Code: **Supplier Product Code:** CON-RJ45-C6-100 **Agency Notes:** Supplier Notes:

Shireen SmartFeed CAT6 RJ45 Shielded Connector (Pack of 100)

Address 4122 E 213th St S

Warner, OK 74469

**Supplier Notes:** I will only be bidding on the labor portion of the

Lot Total: \$105.00 Item Line Item **Unit Price** Qty/Unit **Total Price** 25101 Catalog or Price List: Attachment - First Offer \$0.00 1/ \$0.00 -59-01 percentage **Product Code: Supplier Product Code: NA** 

Supplier Notes: NA **Agency Notes:** 

Lot Total: \$0.00

**H&H Tower Services** \$240.00 (2/59 items)

Bid Contact Virgil Hughey

**Agency Notes:** 

allen@hhtowerservices.com

Ph 918-869-1219

Bid Notes I will only be bidding on the labor portion of the microwave PTP installation. My company has a 4 man crew.

		microwave PTP installation. My company has a 4 man crew.		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101-	6 GHz Radios Low Bandwidth Tower Mounted Licensed			No Bids
-01-01	Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			
3		Supplier Product Code:		

Supplier Notes:

**Lot Total: \$0.00** 

Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101-	6 GHz Radios Medium Bandwith Tower Mounted Licensed			No Bids
-02-01	Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			

**Agency Notes:** Supplier Product Code: **Supplier Notes:** 

Lot Total: \$0.00

Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101-	6 GHz Radios High Bandwidth Tower Mounted Licensed			No Bids
-03-01	Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			
Agency	Notes:	Supplier Product Code:		

- Ечаіріі	nent and	S Trusts		
		Supplier Notes:		L - + T - + - l + + 0 00
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- ·04-01	6 GHZ Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -05-01	6 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -06-01	6 GHz Radios High Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -07-01	6 GHz Radios Low Bandwidth Split unit (Indoor and Outdoor)Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -08-01	6 GHz Radios Medium Bandwith Split unit (Indoor and Outdoor)Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -09-01	6 GHz Radios High Bandwidth Split unit (Indoor and Outdoor)Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -10-01	6 GHz Radios Low Bandwidth Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials		'	No Bids
Agency	Notes:	Supplier Product Code:		

nent and lits	Sunnlier Notes		
	зарриет носез.		<b>Lot Total:</b> \$0.00
Line Item	Unit Price	Qty/Unit	Total Price
6 GHz Radios Medium Bandwith Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Notes:	Supplier Product Code: Supplier Notes:		
			<b>Lot Total:</b> \$0.00
Line Item	Unit Price	Qty/Unit	Total Price
6 GHz Radios High Bandwidth Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Notes:	Supplier Product Code: Supplier Notes:		
			<b>Lot Total:</b> \$0.00
Line Item	Unit Price	Qty/Unit	Total Price
6 GHz Radios Low Bandwidth All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Notes:	Supplier Product Code: Supplier Notes:		
			<b>Lot Total:</b> \$0.00
Line Item	Unit Price	Qty/Unit	Total Price
6 GHz Radios Medium Bandwith All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Notes:	Supplier Product Code: Supplier Notes:		
			<b>Lot Total:</b> \$0.00
Line Item	Unit Price	Qty/Unit	Total Price
6 GHz Radios High Bandwidth All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Notes:	Supplier Product Code: Supplier Notes:		
			<b>Lot Total:</b> \$0.00
Line Item	Unit Price	Qty/Unit	Total Price
6 GHz Radios Low Bandwidth All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Notes:	Supplier Product Code: Supplier Notes:		
			<b>Lot Total:</b> \$0.00
Line Item	Unit Price	Qty/Unit	Total Price
6 GHz Radios Medium Bandwith All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Notes:	Supplier Product Code: Supplier Notes:		
			<b>Lot Total:</b> \$0.00
Line Item	Unit Price	Qty/Unit	Total Price
	Line Item  6 GHz Radios Medium Bandwith Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials  Notes:  Line Item  6 GHz Radios High Bandwidth Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials  Notes:  Line Item  6 GHz Radios Low Bandwidth All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials  Notes:  Line Item  6 GHz Radios Medium Bandwith All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials  Notes:  Line Item  6 GHz Radios High Bandwidth All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials  Notes:  Line Item  6 GHz Radios Low Bandwidth All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials  Notes:  Line Item  6 GHz Radios Low Bandwidth All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials  Notes:  Line Item  6 GHz Radios Medium Bandwith All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials  Notes:	Line Item  GHz Radios Medium Bandwith Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials  Notes:  Line Item  Unit Price  G GHz Radios High Bandwidth Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials  Notes:  Supplier Product Code: Supplier Notes:  Line Item  Unit Price  G GHz Radios High Bandwidth All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials  Notes:  Supplier Product Code: Supplier Notes:  Line Item  Unit Price  G GHz Radios Dair (qty = 1 pair): Equipment/Materials  Notes:  Supplier Product Code: Supplier Notes:  Line Item  Unit Price  G GHz Radios Medium Bandwith All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials  Notes:  Line Item  Unit Price  G GHz Radios High Bandwidth All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials  Notes:  Supplier Product Code: Supplier Notes:  Line Item  Unit Price  G GHz Radios Low Bandwidth All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials  Notes:  Supplier Product Code: Supplier Notes:  Line Item  Unit Price  G GHz Radios Low Bandwidth All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials  Notes:  Supplier Product Code: Supplier Notes:  Line Item  Unit Price  G GHz Radios Medium Bandwith All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials  Notes:  Supplier Product Code: Supplier Notes:	Line Item Ont Price Oty/Unit Of GHz Radios Medium Bandwith Split unit (Indoor and Ourdoor)Mounted Unicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials Notes: Supplier Notes:  Line Item Unit Price Oty/Unit Ourdoor)Mounted Unicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials Notes: Supplier Product Code: Supplier Product Code: Supplier Notes:  Line Item Unit Price Oty/Unit Ourdoor)Mounted Unicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials Notes: Supplier Product Code: Supplier Notes:  Line Item Unit Price Oty/Unit Of GHz Radios Low Bandwidth All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials Notes: Supplier Notes:  Line Item Unit Price Oty/Unit Of GHz Radios Medium Bandwith All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials Notes: Supplier Product Code: Supplier Notes:  Line Item Unit Price Oty/Unit Of GHz Radios High Bandwidth All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials Notes: Supplier Product Code: Supplier Notes:  Line Item Unit Price Oty/Unit Of GHz Radios High Bandwidth All Indoor Unit Unicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials Notes: Supplier Product Code: Supplier Notes:  Line Item Unit Price Oty/Unit Of GHz Radios Low Bandwidth All Indoor Unit Unicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials Notes: Supplier Product Code: Supplier Notes:  Line Item Unit Price Oty/Unit Of GHz Radios Medium Bandwidth All Indoor Unit Unicensed Point Orbit Unit Orbit Or

	s Trusts	TOTA GITA	Equipm
			#
		6 GHz RadiosHigh Bandwidth All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials	25101- ·18-01
	Supplier Product Code: Supplier Notes:	Notes:	Agency
Qty/Unit	Unit Price	Line Item	Item #
		11 GHz Radios Low Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials	25101- ·19-01
	Supplier Product Code: Supplier Notes:	Notes:	Agency
Qty/Unit	Unit Price	Line Item	Item #
		11 GHz Radios Medium Bandwith Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials	25101- 20-01
	Supplier Product Code: Supplier Notes:	Notes:	Agency
Qty/Unit	Unit Price	Line Item	Item #
		11 GHz Radios High Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials	25101- ·21-01
Supplier Product Code: Supplier Notes:		Notes:	Agency
Qty/Unit	Unit Price	Line Item	Item #
		11 GHz Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials	25101- ·22-01
	Supplier Product Code: Supplier Notes:	Notes:	Agency
Qty/Unit	Unit Price	Line Item	Item #
		11 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials	
	Supplier Product Code: Supplier Notes:	Notes:	Agency
	1		
Qty/Unit	Unit Price	Line Item	Item #
-		11 GHz Radios High Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials	25101- 24-01
	Supplier Product Code: Supplier Notes:	Notes:	Agency
Qty/Unit	Unit Price	Line Item	Item #
		11 GHz Radios Low Bandwidth Split unit (Indoor and Outdoor)Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials	
	Qty/Unit  Qty/Unit  Qty/Unit  Qty/Unit	Supplier Product Code: Supplier Notes:  Unit Price   Qty/Unit    Supplier Product Code: Supplier Notes:	6 GHz RadiosHigh Bandwidth All Indoor Unit Unitensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials  Notes:  Line Item  Unit Price  Unit Price  Qty/Unit  11 GHz Radios Low Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials  Notes:  Supplier Product Code: Supplier Notes:  Line Item  Unit Price  Qty/Unit  11 GHz Radios Medium Bandwith Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials  Notes:  Supplier Product Code: Supplier Notes:  Line Item  Unit Price  Qty/Unit  11 GHz Radios High Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials  Notes:  Supplier Product Code: Supplier Notes:  Line Item  Unit Price  Qty/Unit  11 GHz Radios Low Bandwidth Tower Mounted Unitensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials  Notes:  Supplier Product Code: Supplier Notes:  Line Item  Unit Price  Qty/Unit  11 GHz Radios Medium Bandwith Tower Mounted Unitensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials  Notes:  Supplier Product Code: Supplier Notes:  Line Item  Unit Price  Qty/Unit  11 GHz Radios Medium Bandwith Tower Mounted Unitensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials  Notes:  Supplier Product Code: Supplier Notes:  Line Item  Unit Price  Qty/Unit  11 GHz Radios High Bandwidth Tower Mounted Unitensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials  Notes:  Supplier Product Code: Supplier Notes:  Line Item  Unit Price  Qty/Unit  11 GHz Radios High Bandwidth Tower Mounted Unitensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials  Notes:  Supplier Product Code: Supplier Notes:  Line Item  Unit Price  Qty/Unit

o Equipn	nent and its	s Trusts		
Agency	Notes:	Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -26-01	11 GHz Radios Medium Bandwith Split unit (Indoor and Outdoor)Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -27-01	11 GHz Radios High Bandwidth Split unit (Indoor and Outdoor)Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -28-01	11 GHz Radios Low Bandwidth Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Agency	Agency Notes: Supplier Product Code: Supplier Notes:			
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -29-01	11 GHz Radios Medium Bandwith Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -30-01	11 GHz Radios High Bandwidth Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -31-01	11 GHz Radios Low Bandwidth All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -32-01	11 GHz Radios Medium Bandwith All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
		I		

o Equipn	nent and its	s Trusts		
Agency	Notes:	Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -33-01	11 GHz Radios High Bandwidth All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -34-01	11 GHz Radios Low Bandwidth All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -35-01	11 GHz Radios Medium Bandwith All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Agency Notes:  Supplier Product Code: Supplier Notes:				
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -36-01	11 GHz Radios High Bandwidth All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:	ı	
				<b>Lot Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -37-01	60 GHz Radios Low Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -38-01	60 GHz Radios Medium Bandwith Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -39-01	60 GHz Radios High Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price

Equipm	leni and it	s Irusts		
25101- -40-01	60 GHz Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
	60 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -42-01	60 GHz Radios High Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
	5 GHz Radios High Bandwidth Tower Mounted Access Point Unlicensed Point to Multi-point Single Radio: Equipment/Materials			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -44-01	5 GHz Radios High Bandwidth Subscriber Unit Unlicensed Point to Multi-point Single Radio: Equipment/Materials			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -45-01	5 GHz Radios Low Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
		рарыст тоссы		<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -46-01	5 GHz Radios Medium Bandwith Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Agency		Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -47-01	5 GHz Radios High Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Agency	Notes:	Supplier Product Code:		

e Equipn	nent and its	s Trusts		
		Supplier Notes:		
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -48-01	5 GHz Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -49-01	5 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -50-01	5 GHz Radios High Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -51-01	Engineering time: Labor			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -52-01	Installation rate (no climb) per worker: Labor - First Offer	\$120.00	1 / hour	\$120.00
Produc Agency	t Code: Notes:			nan Crew), 24 man hr minimum n fee of \$500.00 will be applied.
				<b>Lot Total:</b> \$120.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -53-01	Installation rate (with climb) per worker: Labor - First Offer	\$120.00	1 / hour	\$120.00
Produc Agency	t Code: · Notes:			nan Crew), 24 man hr minimum n fee of \$500.00 will be applied.
				<b>Lot Total:</b> \$120.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101-	Armored CAT-5E/CAT6 Cable: Equipment/Materials			No Bids

o Equipii	ilent and	its Trusts		
-54-01				
Agency	Notes:	Supplier Product Code: Supplier Notes:		
		'		Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -55-01	Grounding Kits for Armored CAT 5E/CAT 6 Cable: Equipment/Materials			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -56-01	Cable Clips for Armored CAT 5E/CAT 6 Cable: Equipment/Materials			No Bids
Agency	Agency Notes:  Supplier Product Code: Supplier Notes:			
		·		<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -57-01	Lightning Protection Unit for Armored CAT 5E/6 Cable: Equipment/Materials			No Bids
Agency	gency Notes:  Supplier Product Code: Supplier Notes:			
				<b>Lot Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -58-01	RJ-45 connectors for Armored CAT5E/6 Cable: Equipment/Materials			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -59-01	Catalog or Price List: Attachment			No Bids
Agency	Notes:	Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$0.00

**EasTex Tower, LLC** \$789,162.80 (58/59 items)

Address 7345 Templeton Gap Rd

Bid Contact **Stephanie Smith** 

Bid Notes We are bidding using Nokia Wavence platform radios.

justin.miller@ontivity.com Colorado Springs, CO 80923-1224 Ph 719-632-8822

Agency Notes:		<b>Supplier Notes:</b> We are bidding using Nokia Wavence platform radios.			
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
25101- -01-01	6 GHz Radios Low Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$22,001.42	
Product Code: Agency Notes:		Supplier Product Code: UE Supplier Notes:	BT-S 6GHz SA -	50	

				<b>Lot Total:</b> \$22,001.42
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- 02-01	6 GHz Radios Medium Bandwith Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$25,623.58	1 / pair	\$25,623.58
	t Code: Notes:	Supplier Product Code: UE Supplier Notes:	BT-S 6GHz SA - 2	200
				<b>Lot Total:</b> \$25,623.58
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- 03-01	6 GHz Radios High Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$28,038.35	1 / pair	\$28,038.35
Product Code: Agency Notes:		Supplier Product Code: UBT-S 6GHz SA - 600 Supplier Notes:		
				<b>Lot Total:</b> \$28,038.35
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- 04-01	6 GHZ Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: No such thing as unlicensed 6Ghz		
				<b>Lot Total:</b> \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
	6 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
-05-01 <b>Produc</b>	Point to Point Radio Pair (qty = 1 pair): Equipment/Materials -	\$0.00  Supplier Product Code: Supplier Notes: No such th		
	Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer t Code:	Supplier Product Code:		ed 6Ghz
05-01  Produc Agency	Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer t Code:	Supplier Product Code:		ed 6Ghz <b>Lot Total:</b> \$0.00
O5-01  Product Agency  Item #	Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer t Code: Notes: Line Item	Supplier Product Code: Supplier Notes: No such th	ning as unlicenso	ed 6Ghz Lot Total: \$0.00 Total Price
Produc Agency Item # 25101- 06-01	Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer  t Code: Notes:  Line Item  6 GHz Radios High Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials -	Supplier Product Code: Supplier Notes: No such th  Unit Price	Qty/Unit	ed 6Ghz  Lot Total: \$0.00  Total Price \$0.00
Produc Agency Item # 25101- 06-01	Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer  t Code: Notes:  Line Item  6 GHz Radios High Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer  t Code:	Supplier Product Code: Supplier Notes: No such the Unit Price \$0.00  Supplier Product Code:	Qty/Unit	ed 6Ghz  Lot Total: \$0.00  Total Price \$0.00  ed 6Ghz
O5-01  Produc Agency  Item # 25101- 06-01  Produc Agency	Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer  t Code: Notes:  Line Item  6 GHz Radios High Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer  t Code:	Supplier Product Code: Supplier Notes: No such the Unit Price \$0.00  Supplier Product Code:	Qty/Unit	ed 6Ghz  Lot Total: \$0.00  Total Price \$0.00  ed 6Ghz  Lot Total: \$0.00
Produc Agency Item # 25101- 06-01	Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer  t Code: Notes:  Line Item  6 GHz Radios High Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer  t Code: Notes:  Line Item	Supplier Product Code: Supplier Notes: No such th  Unit Price \$0.00  Supplier Product Code: Supplier Notes: No such th	Qty/Unit 1 / pair	Lot Total: \$0.00  Total Price \$0.00

o Equipn	ieni and its	rusts		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -08-01	6 GHz Radios Medium Bandwith Split unit (Indoor and Outdoor)Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$29,117.70	1 / pair	\$29,117.70
Product Code: Agency Notes:		Supplier Product Code: UBT-S 6GHz SM - 200 Supplier Notes:		
				<b>Lot Total:</b> \$29,117.70
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -09-01	6 GHz Radios High Bandwidth Split unit (Indoor and Outdoor)Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$31,861.76	1 / pair	\$31,861.76
Produc Agency		Supplier Product Code: UE Supplier Notes:	BT-S 6GHz SM -	- 600
				<b>Lot Total:</b> \$31,861.76
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -10-01	6 GHz Radios Low Bandwidth Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Produc Agency		Supplier Product Code: Supplier Notes: No such th	ing as unlicen:	sed 6Ghz
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -11-01	6 GHz Radios Medium Bandwith Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Produc Agency		Supplier Product Code: Supplier Notes: No such thing as unlicensed	l 6Ghz	
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -12-01	6 GHz Radios High Bandwidth Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Produc Agency		Supplier Product Code: Supplier Notes: No such thing as unlicensed 6Ghz		
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -13-01	6 GHz Radios Low Bandwidth All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$39,370.74	1 / pair	\$39,370.74
Produc		Supplier Product Code: UE	BT-I 6GHz SA - !	50
Agency	Notes:	Supplier Notes:		<b>Lot Total:</b> \$39,370.74
Item	Line Item	Unit Price	Qty/Unit	Total Price
#	Line item	Silicrice	Qty/Offic	Total File

25101- -14-01	ment and its	Trusts			
1701	6 GHz Radios Medium Bandwith All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$42,992.90	1 / pair	\$42,992.90	
	tt Code:	Supplier Product Code: UBT-I 6GHz SA - 200 Supplier Notes:			
				<b>Lot Total:</b> \$42,992.90	
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
25101- -15-01	6 GHz Radios High Bandwidth All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$45,407.67	
	ct Code:	Supplier Product Code: UE	3T-I 6GHz SA - 600		
Agency	Notes:	Supplier Notes:		<b>Lot Total:</b> \$45,407.67	
Item	Line Item	Linit Drice	Otr/Unit		
#	Line item	Unit Price	Qty/Unit	Total Price	
25101- -16-01	6 GHz Radios Low Bandwidth All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00	
	rt Code: v Notes:	Supplier Product Code: Supplier Notes: No such th	ing as unlicensed 6	5Ghz	
				Lot Total: \$0.00	
ltem #	Line Item	Unit Price	Qty/Unit	Total Price	
25101- -17-01	6 GHz Radios Medium Bandwith All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00	
	rt Code: Notes:	Supplier Product Code: Supplier Notes: No such th	ing as unlicensed 6	5Ghz	
		I .		Lot Total: \$0.00	
Item #	Line Item	Unit Price	Qty/Unit	Lot Total: \$0.00  Total Price	
<b>#</b> 25101-		Unit Price \$0.00	<b>Qty/Unit</b> 1 / pair		
# 25101- -18-01 <b>Produc</b>	6 GHz RadiosHigh Bandwidth All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials -		1 / pair	<b>Total Price</b> \$0.00	
# 25101- -18-01 <b>Produc</b>	6 GHz RadiosHigh Bandwidth All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer  tt Code:	\$0.00 Supplier Product Code:	1 / pair	<b>Total Price</b> \$0.00	
# 25101- -18-01 Produc Agency	6 GHz RadiosHigh Bandwidth All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer  tt Code:	\$0.00 Supplier Product Code:	1 / pair	<b>Total Price</b> \$0.00	
# 25101- -18-01 Produc Agency	6 GHz RadiosHigh Bandwidth All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer tt Code: Notes: Line Item	\$0.00  Supplier Product Code: Supplier Notes: No such th	1 / pair	\$0.00 \$0.00 Lot Total: \$0.00	
# 2510118-01  Produc Agency  Item # 2510119-01  Produc	6 GHz RadiosHigh Bandwidth All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer to Code:  Notes:  Line Item  11 GHz Radios Low Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer to Code:	\$0.00  Supplier Product Code: Supplier Notes: No such the  Unit Price \$18,919.03  Supplier Product Code: UE	1 / pair  ing as unlicensed (  Qty/Unit  1 / pair	\$0.00 \$0.00 SGhz Lot Total: \$0.00 Total Price	
# 25101- -18-01 Produc Agency Item # 25101- -19-01	6 GHz RadiosHigh Bandwidth All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer St. Code: / Notes:  Line Item  11 GHz Radios Low Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00  Supplier Product Code: Supplier Notes: No such the  Unit Price  \$18,919.03	1 / pair  ing as unlicensed (  Qty/Unit  1 / pair	For a state of the	
# 2510118-01  Produc Agency  Item # 2510119-01  Produc	6 GHz RadiosHigh Bandwidth All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer to Code:  Notes:  Line Item  11 GHz Radios Low Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer to Code:	\$0.00  Supplier Product Code: Supplier Notes: No such the  Unit Price \$18,919.03  Supplier Product Code: UE	1 / pair  ing as unlicensed (  Qty/Unit  1 / pair	\$0.00 \$0.00 SGhz Lot Total: \$0.00 Total Price	
# 2510118-01  Produc Agency  Item # 2510119-01  Produc Agency	6 GHz RadiosHigh Bandwidth All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer to Code:  Notes:  Line Item  11 GHz Radios Low Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer to Code:  Notes:	\$0.00  Supplier Product Code: Supplier Notes: No such the  Unit Price  \$18,919.03  Supplier Product Code: UE Supplier Notes:	1 / pair  Output  Outp	Total Price \$0.00 5Ghz Lot Total: \$0.00 Total Price \$18,919.03	

o Equipm	nent and its	its Trusts			
Agency	Notes:	Supplier Notes:			
		ı		<b>Lot Total:</b> \$22,541.19	
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
25101- -21-01	11 GHz Radios High Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$24,955.97	1 / pair	\$24,955.97	
Product		Supplier Product Code: UE	BT-S 11GHz SA	- 600	
Agency	Notes:	Supplier Notes:			
				<b>Lot Total:</b> \$24,955.97	
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
25101- -22-01	11 GHz Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00	
Product Agency		Supplier Product Code: Supplier Notes: No such th	ning as unlicens	sed 11Ghz	
		l.		Lot Total: \$0.00	
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
25101- -23-01	11 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00	
Product Agency		Supplier Product Code: Supplier Notes: No such th	ning as unlicens	sed 11Ghz	
				Lot Total: \$0.00	
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
25101- -24-01	11 GHz Radios High Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00	
Product Agency		Supplier Product Code: Supplier Notes: No such th	ning as unlicens	sed 11Ghz	
				Lot Total: \$0.00	
ltem #	Line Item	Unit Price	Qty/Unit	Total Price	
25101- ·25-01	11 GHz Radios Low Bandwidth Split unit (Indoor and Outdoor)Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$16,170.45	1 / pair	\$16,170.45	
Product Agency		Supplier Product Code: UE Supplier Notes:	BT-S 6GHz SM -	- 50	
				<b>Lot Total:</b> \$16,170.45	
ltem #	Line Item	Unit Price	Qty/Unit	Total Price	
25101- -26-01	11 GHz Radios Medium Bandwith Split unit (Indoor and Outdoor)Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$19,792.61	1 / pair	\$19,792.61	
Product Agency		Supplier Product Code: UE Supplier Notes:	BT-S 6GHz SM -	- 200	

		Trusts	ment and its	Equipm
<b>Lot Total:</b> \$19,792.61				
Total Price	Qty/Unit	Unit Price	Line Item	tem t
\$22,207.39	1 / pair	\$22,207.39	11 GHz Radios High Bandwidth Split unit (Indoor and Outdoor)Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	25101- 27-01
	T-S 6GHz SM - 600	Supplier Product Code: UB Supplier Notes:	rt Code: Notes:	
<b>Lot Total:</b> \$22,207.39		Supplier Notes.	TAULES.	gency
Total Price	Qty/Unit	Unit Price	Line Item	tem
\$0.00	1 / pair	\$0.00	11 GHz Radios Low Bandwidth Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	25101- 28-01
hz.	ing as unlicensed	Supplier Product Code: Supplier Notes: No such th	rt Code: • Notes:	
<b>Lot Total:</b> \$0.00				
Total Price	Qty/Unit	Unit Price	Line Item	tem
\$0.00	1 / pair	\$0.00	11 GHz Radios Medium Bandwith Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	25101- 29-01
hz.	ing as unlicensed	Supplier Product Code: Supplier Notes: No such th	rt Code: v Notes:	
Lot Total: \$0.00				
Total Price	Qty/Unit	Unit Price	Line Item	tem
\$0.00	1 / pair	\$0.00	11 GHz Radios High Bandwidth Split unit (Indoor and Outdoor)Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	25101- 30-01
hz.	ing as unlicensed	Supplier Product Code: Supplier Notes: No such th	t Code: Notes:	
Lot Total: \$0.00				
Total Price	Qty/Unit	Unit Price	Line Item	tem
\$36,271.31	1 / pair	\$36,271.31	11 GHz Radios Low Bandwidth All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	25101- 31-01
	T-I 11GHz SA - 50	Supplier Product Code: UB Supplier Notes:	tt Code: v Notes:	
<b>Lot Total:</b> \$36,271.31				
Total Price	Qty/Unit	Unit Price	Line Item	tem ŧ
\$39,893.47	1 / pair	\$39,893.47	11 GHz Radios Medium Bandwith All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	25101- 32-01
			t Code:	roduct
	T-I 11GHz SA - 200	Supplier Product Code: UE Supplier Notes:		gency
<b>Lot Total:</b> \$39,893.47	T-I 11GHz SA - 200	Supplier Product Code: UE Supplier Notes:	Notes:	Agency

o Equipn	nent and Its	s Trusts		
#				
25101- -33-01	11 GHz Radios High Bandwidth All Indoor Unit Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		1 / pair	\$42,308.24
Product Agency		Supplier Product Code: UE Supplier Notes:	BT-I 11GHz SA -	- 600
<u> </u>				<b>Lot Total:</b> \$42,308.24
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -34-01	11 GHz Radios Low Bandwidth All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: No such th	ning as 11 GHz	unlicensed
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -35-01	11 GHz Radios Medium Bandwith All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: No such th	ning as 11 GHz	unlicensed
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -36-01	11 GHz Radios High Bandwidth All Indoor Unit Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
Produc Agency		Supplier Product Code: Supplier Notes: No such th	ning as 11 GHz	unlicensed
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -37-01	60 GHz Radios Low Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$27,178.98	1 / pair	\$27,178.98
Product Agency		Supplier Product Code: UE Supplier Notes:	BT-m 80GHz SA	λ - 50
				<b>Lot Total:</b> \$27,178.98
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -38-01	60 GHz Radios Medium Bandwith Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$32,008.52	1 / pair	\$32,008.52
Product		Supplier Product Code: UE	BT-m 80GHz SA	\- 200
Agency	INULES.	Supplier Notes:		<b>Lot Total:</b> \$32,008.52
Item	Line Item	Unit Price	Qty/Unit	Total Price
#				

-39-01 Poir  Product Cod Agency Note  Item # Line 25101- 60 Poir  Product Cod Agency Note  Item # Line # 2510141-01  Product Cod	e Item  0 GHz Radios Low Bandwidth Tower Mounted Unlicensed int to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer de: ees:  60 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$35,099.43  Supplier Product Code: UE Supplier Notes:  Unit Price  \$26,407.67  Supplier Product Code: UE Supplier Notes: Not Suppo	Qty/Unit  1 / pair  BT-mU 80GHz SA orted - UBT-mU a	Lot Total: \$35,099.43  Total Price \$26,407.67
Item # Line Product Cod Agency Note  Item # 2510140-01	e Item  0 GHz Radios Low Bandwidth Tower Mounted Unlicensed int to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer de: ees:  60 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	Supplier Notes:  Unit Price \$26,407.67  Supplier Product Code: UE Supplier Notes: Not Suppo  Unit Price	Qty/Unit  1 / pair  BT-mU 80GHz SA orted - UBT-mU a	Lot Total: \$35,099.43  Total Price \$26,407.67  A - 50 as option  Lot Total: \$26,407.67
Item # Line 25101- 60 Poir  Product Cod Agency Note  Item # Line # 2510141-01  Product Cod	e Item  0 GHz Radios Low Bandwidth Tower Mounted Unlicensed int to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer de:  e Item  60 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	Unit Price \$26,407.67  Supplier Product Code: UE Supplier Notes: Not Suppo  Unit Price	1 / pair  BT-mU 80GHz SA  rted - UBT-mU a	**Total Price \$26,407.67  A - 50 as option  Lot Total: \$26,407.67
# Line 2510140-01 Poir  Product Cod Agency Note  Item # Line # 2510141-01  Product Cod	0 GHz Radios Low Bandwidth Tower Mounted Unlicensed int to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer de: Les:  60 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$26,407.67  Supplier Product Code: UE Supplier Notes: Not Suppo	1 / pair  BT-mU 80GHz SA  rted - UBT-mU a	\$26,407.67 A - 50 as option <b>Lot Total:</b> \$26,407.67
Product Cod Agency Note  Item # 2510141-01  Product Cod	int to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer  de: es:  60 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	Supplier Product Code: UE Supplier Notes: Not Suppo Unit Price	BT-mU 80GHz SA rted - UBT-mU a	A - 50 as option <b>Lot Total:</b> \$26,407.67
Item Line # 2510141-01  Product Cod	e Item  60 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	Supplier Notes: Not Suppo	Qty/Unit	Lot Total: \$26,407.67
# 25101- -41-01 Product Cod	60 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		-	
# 25101- -41-01 Product Cod	60 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer		-	Total Price
-41-01 Product Cod	Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$31,237.22		
Product Cod Agency Note	de:		1 / pair	\$31,237.22
	es:	Supplier Product Code: UE Supplier Notes: Not Suppo		
				<b>Lot Total:</b> \$31,237.22
Item # Line	e Item	Unit Price	Qty/Unit	Total Price
	OGHz Radios High Bandwidth Tower Mounted Unlicensed int to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$33,169.03	1 / pair	\$33,169.03
Product Cod Agency Note		Supplier Product Code: UE Supplier Notes: Not Suppo		
				<b>Lot Total:</b> \$33,169.03
Item # Line	e Item	Unit Price	Qty/Unit	Total Price
25101- 5 G -43-01	GHz Radios High Bandwidth Tower Mounted Access Point Unlicensed Point to Multi-point Single Radio: Equipment/Materials - First Offer	\$0.00	1 / each	\$0.00
Product Cod Agency Note	res:	Supplier Product Code: Supplier Notes: Not Supported		
				Lot Total: \$0.00
Item # Line	e Item	Unit Price	Qty/Unit	Total Price
	5 GHz Radios High Bandwidth Subscriber Unit Unlicensed int to Multi-point Single Radio: Equipment/Materials - First Offer	\$0.00	1 / each	\$0.00
Product Cod Agency Note	res:	Supplier Product Code: Supplier Notes: Not Supported		
				<b>Lot Total:</b> \$0.00

o Equipr	non and	Trusts		
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -45-01	5 GHz Radios Low Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
	rt Code: • Notes:	Supplier Product Code: Supplier Notes: No such thing as 5 GHz licer	nsed - 4.9 GHz?	
				<b>Lot Total:</b> \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -46-01	5 GHz Radios Medium Bandwith Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
	rt Code: v Notes:	Supplier Product Code: Supplier Notes: No such th	iing as 5 GHz lio	censed - 4.9 GHz?
				Lot Total: \$0.00
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -47-01	5 GHz Radios High Bandwidth Tower Mounted Licensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	\$0.00	1 / pair	\$0.00
		Supplier Product Code:		
Produc Agency	rt Code: • Notes:	Supplier Notes: No such th	iing as 5 GHz lid	censed - 4.9 GHz?
			ing as 5 GHz lic	censed - 4.9 GHz?
			Qty/Unit	
Agency	Notes:	Supplier Notes: No such th		Lot Total: \$0.00
Item # 2510148-01	Line Item  5 GHz Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer it Code:	Unit Price \$19,992.90  Supplier Product Code: UE	<b>Qty/Unit</b> 1 / pair	Lot Total: \$0.00  Total Price \$19,992.90
Item # 2510148-01	Line Item  5 GHz Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	Unit Price \$19,992.90	<b>Qty/Unit</b> 1 / pair	Lot Total: \$0.00  Total Price \$19,992.90
Item # 2510148-01	Line Item  5 GHz Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer it Code:	Unit Price \$19,992.90  Supplier Product Code: UE	<b>Qty/Unit</b> 1 / pair	Lot Total: \$0.00  Total Price \$19,992.90
Item # 25101- -48-01 Produc Agency	Line Item  5 GHz Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer tt Code:  Notes:	Unit Price \$19,992.90  Supplier Product Code: UE Supplier Notes:	<b>Qty/Unit</b> 1 / pair BT-S 5.8GHz SA	Lot Total: \$0.00  Total Price \$19,992.90  -50  Lot Total: \$19,992.90
Item	Line Item  5 GHz Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer to Code:  Notes:  Line Item  5 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials -	Unit Price \$19,992.90  Supplier Product Code: UE Supplier Notes:  Unit Price	Qty/Unit  1 / pair  BT-S 5.8GHz SA  Qty/Unit  1 / pair	Lot Total: \$0.00  Total Price \$19,992.90  - 50  Lot Total: \$19,992.90  Total Price \$23,615.06
Item	Line Item  5 GHz Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer to Code:  Notes:  Line Item  5 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer to Code:	Unit Price \$19,992.90  Supplier Product Code: UE Supplier Notes:  Unit Price \$23,615.06	Qty/Unit  1 / pair  BT-S 5.8GHz SA  Qty/Unit  1 / pair	Lot Total: \$0.00  Total Price \$19,992.90  - 50  Lot Total: \$19,992.90  Total Price \$23,615.06
Item # 2510148-01 Produc Agency Item # 2510149-01 Produc	Line Item  5 GHz Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer to Code:  Notes:  Line Item  5 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer to Code:	Unit Price \$19,992.90  Supplier Product Code: UE Supplier Notes:  Unit Price \$23,615.06	Qty/Unit  1 / pair  BT-S 5.8GHz SA  Qty/Unit  1 / pair	Lot Total: \$0.00  Total Price \$19,992.90  - 50  Lot Total: \$19,992.90  Total Price \$23,615.06
Item # 2510148-01  Produc Agency  Item # 2510149-01  Produc Agency	Line Item  5 GHz Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer  tt Code: / Notes:  Line Item  5 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer  tt Code: / Notes:	Unit Price \$19,992.90  Supplier Product Code: UE Supplier Notes:  Unit Price \$23,615.06  Supplier Product Code: UE Supplier Product Code: UE Supplier Product Code: UE Supplier Notes:	Qty/Unit  1 / pair  BT-S 5.8GHz SA  Qty/Unit  1 / pair  BT-S 5.8GHz SA	Lot Total: \$0.00  Total Price \$19,992.90  -50  Lot Total: \$19,992.90  Total Price \$23,615.06  -200  Lot Total: \$23,615.06
Item	Line Item  5 GHz Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer to Code:  Notes:  Line Item  5 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer to Code:  Notes:  Line Item  5 GHz Radios High Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer to Code:	Unit Price \$19,992.90  Supplier Product Code: UE Supplier Notes:  Unit Price \$23,615.06  Supplier Product Code: UE Supplier Notes:  Unit Price \$26,029.83  Supplier Product Code: UE Supplier Notes:	Qty/Unit  1 / pair  BT-S 5.8GHz SA  Qty/Unit  1 / pair  BT-S 5.8GHz SA  Qty/Unit  1 / pair	Lot Total: \$0.00  Total Price \$19,992.90  -50  Lot Total: \$19,992.90  Total Price \$23,615.06  -200  Lot Total: \$23,615.06  Total Price \$26,029.83
Item	Line Item  5 GHz Radios Low Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer  t Code: Notes:  Line Item  5 GHz Radios Medium Bandwith Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer  t Code: Notes:  Line Item  5 GHz Radios High Bandwidth Tower Mounted Unlicensed Point to Point Radio Pair (qty = 1 pair): Equipment/Materials - First Offer	Unit Price \$19,992.90  Supplier Product Code: UE Supplier Notes:  Unit Price \$23,615.06  Supplier Product Code: UE Supplier Notes:  Unit Price \$26,029.83	Qty/Unit  1 / pair  BT-S 5.8GHz SA  Qty/Unit  1 / pair  BT-S 5.8GHz SA  Qty/Unit  1 / pair	Lot Total: \$0.00  Total Price \$19,992.90  -50  Lot Total: \$19,992.90  Total Price \$23,615.06  -200  Lot Total: \$23,615.06  Total Price \$26,029.83

o Equipn	nent and its	Trusts		
25101- -51-01	Engineering time: Labor - First Offer	\$125.00	1 / hour	\$125.00
Produc Agency		Supplier Product Code: Supplier Notes: Sr RF Engir On-Site): \$125.00 per hour	neering Service	es (Design, Review and Advanced
				<b>Lot Total:</b> \$125.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -52-01	Installation rate (no climb) per worker: Labor - First Offer	\$125.00	1 / hour	\$125.00
Produc Agency		Supplier Product Code: Supplier Notes: Radio tech	nician - 125.00	per hour per man
				<b>Lot Total:</b> \$125.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -53-01	Installation rate (with climb) per worker: Labor - First Offer	\$105.00	1 / hour	\$105.00
Produc Agency	· · · · · · · · · · · · · · ·	Supplier Product Code: Supplier Notes: Tower Clim	nber - 105.00 p	er hour per man
				<b>Lot Total:</b> \$105.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -54-01	Armored CAT-5E/CAT6 Cable: Equipment/Materials - First Offer		1 / each	\$1,492.91
Produc Agency		Supplier Product Code: Supplier Notes: 1000' roll of	of armored cat	6e
				<b>Lot Total:</b> \$1,492.91
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -55-01	Grounding Kits for Armored CAT 5E/CAT 6 Cable: Equipment/Materials - First Offer		1 / each	\$35.00
Produc Agency		Supplier Product Code: Supplier Notes: grounding	kit	
				<b>Lot Total:</b> \$35.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -56-01	Cable Clips for Armored CAT 5E/CAT 6 Cable: Equipment/Materials - First Offer	\$20.41	1 / box	\$20.41
Produc Agency		Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$20.41
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25101- -57-01	Lightning Protection Unit for Armored CAT 5E/6 Cable: Equipment/Materials - First Offer		1 / each	\$31.49
Produc Agency		Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$31.49

Item #	Line Item	Unit Price	Qty/Unit	Total Price		
25101-	RJ-45 connectors for Armored CAT5E/6 Cable:	\$13.96	1 / box	\$13.96		
-58-01	Equipment/Materials - First Offer					
Product	: Code:	Supplier Product Code:				
Agency	Notes:	Supplier Notes:				
	Lot Total: \$13.96					
Item #	Line Item	Unit Price	Qty/Unit	Total Price		
25101-	Catalog or Price List: Attachment			No Bids		
-59-01	č					
Agency	Agency Notes: Supplier Product Code: Supplier Notes:					
				<b>Lot Total:</b> \$0.00		

Tresha Williams	Angee Wagner	Brett Rangel	
City Clerk	Purchasing Agent	Auditor	

**THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS.** The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

#### Bid #OCWUT 23-24 - Sewerline Mechanical Test Plugs, Bladder Plugs, Tools, Accessories

Start Date Jan 25, 2024 7:41:17 AM CST Awarded Date Not Yet Awarded

OCWUT 23-2401-01 Group 1, Section 1: Single-Size Plugs: Size: 4 inch, Range: 3.5 - 4.25 inch, catalog item number 262048								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ICM of Oklahoma City	First Offer - \$127.04	2 / each	\$254.08	Ú	Ú			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
CORE & MAIN LP	First Offer - \$135.15	2 / each	\$270.30		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT 23-2401-02 Group 1, Section 1: Single-Size Plugs: Size: 6 inch, Range: 4.5 - 6.25 inch, catalog item number 262064								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
ICM of Oklahoma City		First Offer - \$149.84	16 / each	\$2,397.44		Ú		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:					
CORE & MAIN LP		First Offer - \$160.00	16 / each	\$2,560.00		Ú		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:	:	,			

OCWUT 23-2401-03 Group 1, Section 1: Single-Size Plugs: Size: 8 inch, Range: 7 - 8.25 inch, catalog item number 262080							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
ICM of Oklahoma City	First Offer - \$185.60	40 / each	\$7,424.00		Ú		
Product Code:	1	Supplier Product Code:					
Agency Notes:		Supplier Notes:					
CORE & MAIN LP	First Offer - \$198.15	40 / each	\$7,926.00		Ŋ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCWUT 23-2401-04 Group 1, Section 1: Single-Size Plugs: Size: 10 inch, Range: 9 - 10.25 inch, catalog item number 262110								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ICM of Oklahoma City	First Offer - \$241.85	6 / each	\$1,451.10		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
CORE & MAIN LP	First Offer - \$260.00	6 / each	\$1,560.00		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT 23-2401-05 Group 1, Section 1: Single-Size Plugs: Size: 12 inch, Range: 10.5 - 12.25 inch, catalog item number 262129									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
ICM of Oklahoma City	First Offer - \$339.79	2 / each	\$679.58		Ú				
Product Code:		Supplier Product Code	•						
Agency Notes:		Supplier Notes:							
CORE & MAIN LP	First Offer - \$370.00	2 / each	\$740.00		Ú				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

OCWUT 23-24-01-06 Group 1, Section 1: Single-Size Plugs: Size: 15-16 inch, Range: 14 - 16.25 inch, catalog item number 262137									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
CORE & MAIN LP	First Offer - \$580.15	2 / each	\$1,160.30		Ú				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:						
ICM of Oklahoma City	First Offer - \$670.64	2 / each	\$1,341.28		Ú				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:							

OCWUT 23-2401-07 Group 1, Section 1: Single-Size Plugs: Size: 18 inch, Range:17.5 - 19.85 inch, catalog item nunber 26218						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
ICM of Oklahoma City	First Offer - \$0.00	2 / each	\$0.00	Ú	Ú	
Product Code:		Supplier Product Code:	NOT AVAILABLE			
Agency Notes:		Supplier Notes:				
		This product has been di	iscontinued. No replacen	nent offered	d by Cherne.	
CORE & MAIN LP	First Offer - \$1,100.00	2 / each	\$2,200.00		Ú	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes: PN: 369	9188			
		RANGE: 16.88-18.74				

OCWUT 23-2401-08 Group 1, Section 1: Single-Size Plugs: Size: 21 inch, Range: 18.85 -21.38 inch, catalog item number 262218							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
ICM of Oklahoma City	First Offer - \$0.00	1 / each	\$0.00	Ú	Ú		
Product Code: Agency Notes:		<b>Supplier Product Code Supplier Notes:</b> This proffered by Cherne.	:: NOT AVAILABLE roduct has been discontin	ued. No rep	llacement		
CORE & MAIN LP	First Offer - \$1,275.00	1 / each	\$1,275.00		Ú		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: PN: 36! RANGE: 20.01-21.81					

OCWUT 23-2401-09 Group 1, Section 1: Single-Size Plugs: Size: 24 inch, Range: 21.95 - 24.90 inch, catalog item number 262242						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
ICM of Oklahoma City	First Offer - \$0.00	1 / each	\$0.00	Ŋ	Ú	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: This product has been o	:: NOT AVAILABLE discontinued. No replacer	ment offered	d by Cherne.	
CORE & MAIN LP	First Offer - \$1,470.40	1 / each	\$1,470.40		Ú	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: PN: 36 RANGE: 22.63-24.98				

OCWUT 23-24-02-01 Group 1, Section 2: Multi-Size Plugs: Size: 4 - 6 inch, Range: 3.75 - 6.5 inch, catalog item number 265048								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$180.25	4 / each	\$721.00		Ú			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

ICM of Oklahoma City	First Offer - \$208.64	4 / each	\$834.56	U
Product Code:		Supplier Product Code	<u> </u>	
Agency Notes:		Supplier Notes:		

OCWUT 23-2402-02 Group 1, Section 2: Multi-Size Plugs: Size: 6 - 8 inch, Range: 4.75 - 8.25 inch, catalog item number 265068								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ICM of Oklahoma City	First Offer - \$232.49	8 / each	\$1,859.92		Ú			
Product Code:		Supplier Product Code						
Agency Notes:		Supplier Notes:						
CORE & MAIN LP	First Offer - \$255.00	8 / each	\$2,040.00		Ú			
Product Code:		Supplier Product Code						
Agency Notes:		Supplier Notes:						

OCWUT 23-24-02-03 Group 1, Section 2: Multi-Size Plugs: Size: 8 - 10 inch, Range: 7 - 10.25 inch, catalog item number 265071									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
ICM of Oklahoma City	First Offer - \$305.73	8 / each	\$2,445.84		Ú				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	: 265078						
CORE & MAIN LP	First Offer - \$335.00	8 / each	\$2,680.00		Ð				
Product Code: Agency Notes:	,	Supplier Product Code Supplier Notes: PN: 265							

OCWUT 23-24-02-04 Group 1, Section 2: Multi-Size Plugs: Size: 8 - 12 inch, Range: 7 - 12.25 inch, catalog item number 265098								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$625.00	6 / each	\$3,750.00		Ũ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: PN: 212						
ICM of Oklahoma City	First Offer - \$653.61	6 / each	\$3,921.66		Ũ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		'				

OCWUT 23-2402-05 Group 1, Section 2: Multi-Size Plugs: Size: 12 - 18 inch, Range: 10.75 - 18.8 inch, catalog item number 265128								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$1,130.00	2 / each	\$2,260.00		Ú			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: PN: 214188						
ICM of Oklahoma City	First Offer - \$1,291.25	2 / each	\$2,582.50		Ú			
Product Code: Agency Notes:	,	Supplier Product Code Supplier Notes:	:	'				

OCWUT 23-24-03-01 Group 1, Section 3: Big Mouth Flow-Through Plugs: Size: 8 - 10 inch, Range: 7.25 - 10.25, Catalog item number 269008								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ICM of Oklahoma City	First Offer - \$281.89	4 / each	\$1,127.56		Ú			
Product Code:		Supplier Product Code:	: 265078					
Agency Notes:		Supplier Notes:						
CORE & MAIN LP	First Offer - \$300.50	4 / each	\$1,202.00		Ú			
Product Code:	1	Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT 23-2403-02 Group 1, Section 3: Big Mouth Flow-Through Plugs: Size: 10 - 12 inch, Range: 9.25 - 12.25, Catalog item number 269018							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
CORE & MAIN LP	First Offer - \$455.20	2 / each	\$910.40		Ú		
Product Code:		Supplier Product Code					
Agency Notes:		Supplier Notes:					
ICM of Oklahoma City	First Offer - \$466.71	2 / each	\$933.42		Ú		
Product Code:		Supplier Product Code	•				
Agency Notes:		Supplier Notes:					

OCWUT 23-24-03-03 Group 1, Section 3: Big Mouth Flow-Through Plugs: Size: 12 - 15 inch, Range: 10.75 - 15.25, Catalog item number 269028							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
ICM of Oklahoma City	First Offer - \$590.16	2 / each	\$1,180.32		Ú		
Product Code:		Supplier Product Code:					
		Supplier Notes:					
CORE & MAIN LP	First Offer - \$625.00	2 / each	\$1,250.00		Ú		
Product Code:		Supplier Product Code:		'			
Agency Notes:		Supplier Notes:					

Supplier	Unit Pric	e Qty/Unit	Total Price	Attch.	Docs
CORE & MAIN LP	First Offer - \$0.00	2 / each	\$0.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: DISCONTINUED			
ICM of Oklahoma City	First Offer - \$2,171.59	2 / each	\$4,343.18		Ú
Product Code: Agency Notes:		Supplier Product Code: 312328 Supplier Notes: 15-32" Muni-Ball			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
CORE & MAIN LP	First Offer - \$0.00	1 / each	\$0.00		Ú
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes: DISCONTINUED			
ICM of Oklahoma City_	First Offer - \$1,839.46	1 / each	\$1,839.46		Û
	First Offer - \$1,839.46	1 / each  Supplier Product Cod	,		Ú
ICM of Oklahoma City  Product Code: Agency Notes:	First Offer - \$1,839.46		,		Ú

OCWUT 23-2404-03 Group 2, Section 1: Large Multi-Size Muni-Ball & Test Ball: Size: 24 - 42 inch, Range: 22.5 - 42.5 inch (muni-ball), Catalog item number 262						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
CORE & MAIN LP	First Offer - \$0.00	2 / each	\$0.00		Ú	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: DISCO				

ICM of Oklahoma City	First Offer - \$3,922.38	2 / each	\$7,844.76	Ú
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: 24-48"		·

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
CORE & MAIN LP	First Offer - \$0.00	2 / each	\$0.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: DISCONTINUED			
ICM of Oklahoma City	First Offer - \$3,140.71	2 / each	\$6,281.42		J
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: 24-48" Test Ball	<b>e:</b> 310448	,	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
CORE & MAIN LP	First Offer - \$0.00	1 / each	\$0.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: DISCONTINUED			
ICM of Oklahoma City	First Offer - \$7,204.58	1 / each	\$7,204.58		Ú
Product Code: Agency Notes:		Supplier Product Code: 31 Supplier Notes: 24-60" Muni-Ball	4618		

Unit Price	Qty/Unit	Total Price	Attch.	Docs
First Offer - \$0.00	1 / each	\$0.00		Ú
	Supplier Product Cod	le:		
	Supplier Notes: DISCO	ONTINUED		
First Offer - \$6,216.71	1 / each	\$6,216.71		Ú
	Supplier Product Code: 310618			
	Supplier Notes: 24-60	" Test Ball		
		Supplier Product Cod Supplier Notes: DISCO First Offer - \$6,216.71 1 / each Supplier Product Cod	Supplier Product Code: Supplier Notes: DISCONTINUED  First Offer - \$6,216.71 1 / each \$6,216.71	Supplier Product Code: Supplier Notes: DISCONTINUED  First Offer - \$6,216.71

OCWUT 23-2405-01 Group 2, Section 2: Large-Size Test-Balls: Size: 15 inch, Range: 14.7 - 15.5 inch, Catalog item nunber 277108					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs

Agency Notes:		Supplier Product Code Supplier Notes:	•	
Product Code:	<u>'</u>	Supplier Product Code		
CORE & MAIN LP	First Offer - \$1,140.00	1 / each	\$1,140.00	J J
Agency Notes:		Supplier Notes:		
Product Code:		Supplier Product Code	:	
ICM of Oklahoma City	First Offer - \$1,073.03	1 / each	\$1,073.03	<u>U</u>

OCWUT 23-24-05-02 Group 2, Section 2: Large-Size Test-Balls: Size: 18 inch, Range: 17.8 - 18.8 inch, Catalog item number 277118							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
ICM of Oklahoma City	First Offer - \$1,100.28	1 / each	\$1,100.28		Ú		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
CORE & MAIN LP	First Offer - \$1,165.95	1 / each	\$1,165.95		Ú		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					

OCWUT 23-2405-03 Group 2, Section 2: Large-Size Test-Balls: Size: 21 inch, Range: 20.6 - 21.8 inch, Catalog item number 277128								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
ICM of Oklahoma City		First Offer - \$1,269.74	1 / each	\$1,269.74		Ú		
		Supplier Product Code: Supplier Notes: 20" Test Ball						
CORE & MAIN LP		First Offer - \$1,360.00	1 / each	\$1,360.00		Ú		
Product Code: Agency Notes:	'		Supplier Product Coc Supplier Notes:	le:	,			

OCWUT 23-2405-04 Group 2, Section 2: Large-Size Test-Balls: Size: 24 inch, Range: 23.5 - 25.2 inch, Catalog item number 277142								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ICM of Oklahoma City	First Offer - \$1,422.18	1 / each	\$1,422.18		Ú			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
CORE & MAIN LP	First Offer - \$1,565.00	1 / each	\$1,565.00		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT 23-2405-05 Group 2, Section 2: Large-Size Test-Balls: Size: 27 inch, Range: 26.5 - 28.2 inch, Catalog item number 277150								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ICM of Oklahoma City	First Offer - \$1,542.25	1 / each	\$1,542.25		Ú			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
CORE & MAIN LP	First Offer - \$1,635.70	1 / each	\$1,635.70		Ú			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

OCWUT 23-2405-06 Group 2, Section 2: Large-Size Test-Balls: Size: 30 inch, Range: 29.4 - 31.25 inch, Catalog item number 277169								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ICM of Oklahoma City	First Offer - \$1,788.38	1 / each	\$1,788.38		Ú			
Product Code:	<u> </u>	Supplier Product Code:						
Agency Notes:		Supplier Notes:						
CORE & MAIN LP	First Offer - \$1,960.00	1 / each	\$1,960.00		Ú			

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

OCWUT 23-2405-07 Group 2, Section 2: Large-Size Test-Balls: Size: 33 inch, Range: 32.3 - 34.25 inch, Catalog item number 277177								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ICM of Oklahoma City	First Offer - \$2,078.76	1 / each	\$2,078.76		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
CORE & MAIN LP	First Offer - \$2,280.55	1 / each	\$2,280.55		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT 23-24–05-08 Group 2, Section 2: Large-Size Test-Balls: Size: 36 inch, Range: 35.3 - 37.5 inch, Catalog item number 277185								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ICM of Oklahoma City	First Offer - \$2,360.65	1 / each	\$2,360.65		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
CORE & MAIN LP	First Offer - \$2,575.00	1 / each	\$2,575.00		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT 23-2405-09 Group 2, Section 2: Large-Size Test-Balls: Size: 42 inch, Range: 41.2 - 43.7 inch, Catalog item number 277193								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ICM of Oklahoma City	First Offer - \$2,674.04	1 / each	\$2,674.04		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
CORE & MAIN LP	First Offer - \$2,935.20	1 / each	\$2,935.20		Ú			
Product Code:	-	Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

OCWUT 23-2405-10 Group 2, Section 2: Large-Size Test-Balls: Size: 48 inch, Range: 47.04 - 50 inch, Catalog item number 277207								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ICM of Oklahoma City	First Offer - \$3,004.46	1 / each	\$3,004.46		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
CORE & MAIN LP	First Offer - \$3,200.00	1 / each	\$3,200.00		Ú			
Product Code:		Supplier Product Code	•					
Agency Notes:		Supplier Notes:						

OCWUT 23-24-05-11 Group 2, Section 2: Large-Size Test-Balls: Size: 54 inch, Range: 52.92 - 56 inch, Catalog item nuumber 277215								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
ICM of Oklahoma City		First Offer - \$3,455.81	1 / each	\$3,455.81		Ú		
Product Code:		Supplier Product Code:						
Agency Notes:			Supplier Notes:					
CORE & MAIN LP		First Offer - \$3,665.25	1 / each	\$3,665.25		Ú		
Product Code:		Supplier Product Code:						
Agency Notes:			Supplier Notes:					

OCWUT 23-24-05-12 Group 2, Section 2: Large-Size Test-Balls: Size: 60 inch, Range: 58.8 - 62 inch, Catalog item number 277223							
Supplier Unit Price Qty/Unit Total Price Attch. Docs							
ICM of Oklahoma City	First Offer - \$4,041.71	1 / each	\$4,041.71		Ú)		

Product Code:			Supplier Product Code	:			
Agency Notes:			Supplier Notes:				
CORE & MAIN LP		First Offer - \$4,306.20	1 / each	\$4,306.20		Ú	
Product Code:			Supplier Product Code	:			
Agency Notes:			Supplier Notes:				

OCWUT 23-2405-13 Group 2, Section 2: Large-Size Test-Balls: Size: 66 inch, Range: 64.68 - 68 inch, Catalog item number 277231									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ICM of Oklahoma City		First Offer - \$4,581.63	1 / each	\$4,581.63		Ú			
		Supplier Product Code: Supplier Notes:							
CORE & MAIN LP		First Offer - \$4,880.00	1 / each	\$4,880.00		Ú			
Product Code: Agency Notes:	•		Supplier Product Code: Supplier Notes:						

OCWUT 23-24-06-01 Group 2, Section 3: Large-Size Muni-Balls: Size: 30 inch, Range: 29.4 - 31.25 inch, Catalog item number 266027							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
ICM of Oklahoma City	First Offer - \$0.00	1 / each	\$0.00	Ú	Ú		
Product Code: Agency Notes:		<b>Supplier Product Code Supplier Notes:</b> This proffered by Cherne.	:: NOT AVAILABLE oduct has been discontin	ued. No rep	olacement		
CORE & MAIN LP	First Offer - \$2,450.00	1 / each	\$2,450.00		Ú		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:				

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
CORE & MAIN LP	First Offer - \$0.00	1 / each	\$0.00		Ú
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes: NO BI	D		
ICM of Oklahoma City	First Offer - \$0.00	1 / each	\$0.00	Ú	Ú
Product Code:		Supplier Product Cod	e: NOT AVAILABLE		
Agency Notes:		Supplier Notes: This p	roduct has been discontinu	ed. No repla	cement
		offered by Cherne.			

OCWUT 23-2406-03 Group 2, Section 3: Large	Size Muni-Balls: Size: 36	inch, Range: 35.3 - 37.5	inch, Catalog item numb	er 266043	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
CORE & MAIN LP	First Offer - \$0.00	1 / each	\$0.00		Ũ
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: NO BID			
ICM of Oklahoma City	First Offer - \$0.00	1 / each	\$0.00	J	Ú
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: This proffered by Cherne.	:: NOT AVAILABLE oduct has been discontinue	ed. No repla	cement

OCWUT 23-2406-04 Group 2, Section 3: Large-Size Muni-Balls: Size: 42 inch, Range: 41.2 - 43.7 inch, Catalog item number 266051										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
CORE & MAIN LP	First Offer - \$0.00	1 / each	\$0.00		Ú					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes: NO BID	- DISCONTINUED							
ICM of Oklahoma City	First Offer - \$0.00	1 / each	\$0.00	Ú	Ú					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: This product has been di	NOT AVAILABLE scontinued. No replaceme	ent offered b	y Cherne.					

OCWUT 23-2406-05 Group 2, Section 3	3: Large-Si	ze Muni-Balls: Size: 48	inch, Range: 47.04 - 50	inch, Catalog item numb	er 266078	
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
CORE & MAIN LP		First Offer - \$0.00	1 / each	\$0.00		Ú
Product Code:	'		Supplier Product Code	:		
Agency Notes:			Supplier Notes: NO BID	)- DISCONTINUED		
ICM of Oklahoma City		First Offer - \$0.00	1 / each	\$0.00		Ú
Product Code:			Supplier Product Code	: NOT AVAILABLE		
Agency Notes:			Supplier Notes:			
			This product has been d	iscontinued. No replacem	ent offered b	y Cherne.

OCWUT 23-2406-06 Group 2, Section 3: Large-Size Muni-Balls: Size: 54 inch, Range: 52.95 - 50 inch, Catalog item number 266086									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
CORE & MAIN LP	First Offer - \$0.00	1 / each	\$0.00		Ú				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: NO BID-							
ICM of Oklahoma City	First Offer - \$0.00	1 / each	\$0.00		Ú				
Product Code: Agency Notes:	,	Supplier Product Code: Supplier Notes: This product has been di	NOT AVAILABLE scontinued. No replaceme	ent offered b	y Cherne.				

OCWUT 23-2406-07 Group 2, Section 3:	Large-S	ize Muni-Balls: Size: 60	inch, Range: 58.8 -	62 inch, Catalog item numbe	r 266094	
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
CORE & MAIN LP		First Offer - \$0.00	1 / each	\$0.00		Ú
Product Code: Agency Notes:			Supplier Product C Supplier Notes: NO	Code: D BID - DISCONTINUED		
ICM of Oklahoma City		First Offer - \$0.00	1 / each	\$0.00		Ú
Product Code: Agency Notes:	'			Code: NOT AVAILABLE is product has been discontinu	ed. No repla	cement

offered by Cherne.

OCWUT 23-2406-08 Group 2, Section 3: Large-Size Muni-Balls: Size: 66 inch, Range: 64.68 - 68 inch, Catalog item number 266108									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
CORE & MAIN LP	First Offer - \$0.00	1 / each	\$0.00		Ú				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: NO BID							
ICM of Oklahoma City	First Offer - \$0.00	1 / each	\$0.00		(j)				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: This pro offered by Cherne.	NOT AVAILABLE oduct has been discontinu	ed. No repla	cement				

OCWUT 23-2407-01 Group 3, Section 1: End-of-Pipe Plugs: Size: 4 inch, Range: 3.8 - 4.06 inch, Catalog item number 270245										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
CORE & MAIN LP	First Offer - \$6.85	4 / each	\$27.40		Ú					
Product Code:		Supplier Product Code	:							
Agency Notes:		Supplier Notes:								
ICM of Oklahoma City	First Offer - \$7.70	4 / each	\$30.80		Ú					
Product Code:	1	Supplier Product Code	:							
Agency Notes:		Supplier Notes:								

OCWUT 23-2407-02 Group 3, Section 1: End-of-Pipe Plugs: Size: 6 inch, Range: 5.77 - 6.08 inch, Catalog item number 270261										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
CORE & MAIN LP	First Offer - \$17.50	6 / each	\$105.00		Ú					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
ICM of Oklahoma City	First Offer - \$20.88	6 / each	\$125.28		Ú					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

OCWUT 23-24-07-03 Group 3, Section 1: End-of-Pipe Plugs: Size: 8 inch, Range: 7.7 - 8.3 inch, Catalog item number 270270								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$35.30	12 / each	\$423.60		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
ICM of Oklahoma City	First Offer - \$39.71	12 / each	\$476.52		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT 23-2408-01 Group 3, Section 2: Inside-of-Pipe Plugs: Size: 4 inch, Range: 3.8 - 4.06 inch, Catalog item number 270296							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
CORE & MAIN LP	First Offer - \$6.85	4 / each	\$27.40		Ú		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

ICM of Oklahoma City	First Offer - \$7.71	4 / each	\$30.84	l d
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

OCWUT 23-2408-02 Group 3, Section 2: Inside-of-Pipe Plugs: Size: 6 inch, Range: 5.77 - 6.08 inch, Catalog item number 270253								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$17.50	6 / each	\$105.00		Ú			
		Supplier Product Code: Supplier Notes:						
ICM of Oklahoma City	First Offer - \$20.88	6 / each	\$125.28		Ú			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

OCWUT 23-2408-03 Group 3, Section 2: Inside-of-Pipe Plugs: Size: 4 inch, Range: 7.7 - 8.3 inch, Catalog item number 270288									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
CORE & MAIN LP	First Offer - \$35.30	12 / each	\$423.60		Ú				
		Supplier Product Code: Supplier Notes:							
ICM of Oklahoma City	First Offer - \$39.71	12 / each	\$476.52		Ú				
		Supplier Product Code: 270288 Supplier Notes: WRONG PART NUMBER FOR THIS DESCRIPTION LISTED							

OCWUT 23-2409-01 Group 4, Section 1: Man	hole Winch: Manhole Winc	h with Counter, Catalog i	tem number 058238		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
CORE & MAIN LP	First Offer - \$1,870.00	2 / each	\$3,740.00		Ú)
Product Code:		Supplier Product Code:	'	'	
Agency Notes:		<b>Supplier Notes:</b> PN: 253318			
ICM of Oklahoma City	First Offer - \$2,256.75	2 / each	\$4,513.50		Ú
Product Code: Agency Notes:		Supplier Product Code: 253318 Supplier Notes: THE NEW NUMBER OS FOR THE REPLACEMENT. SOLD WITHOUT A COUNTER			

OCWUT 23-2410-01 Group 4, Section 2: Manhole Cover Hook: Size: 24 inch with 90 degree handle, Catalog item number 015443								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$50.00	6 / each	\$300.00		Ú			
		Supplier Product Code: Supplier Notes:						
ICM of Oklahoma City	First Offer - \$52.13	6 / each	\$312.78		J			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

OCWUT 23-2410-02 Group 4, Section 2: Manhole Cover Hook: Size: 24 inch with 90 degree handle, Catalog item number 015438								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$53.35	1 / each	\$53.35		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
ICM of Oklahoma City	First Offer - \$55.73	1 / each	\$55.73		Ú			

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes:

OCWUT 23-2410-03 Group 4, Section 2: Manho	ole Cover Hook: Size: 24	inch with flat handle, Ca	atalog item number 215	429		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
CORE & MAIN LP	First Offer - \$32.50	4 / each	\$130.00		Ú	
		Supplier Product Code: Supplier Notes:				
ICM of Oklahoma City	First Offer - \$33.95	4 / each	\$135.80		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: CORREC		'		

OCWUT 23-2410-04 Group 4, Section 2:	Manhole Cover Hook: Size: 36	inch with flat handle, C	Catalog item number 2154	438		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
CORE & MAIN LP	First Offer - \$41.70	1 / each	\$41.70		Ú	
		Supplier Product Code: Supplier Notes: PN: 251438				
ICM of Oklahoma City	First Offer - \$43.64	1 / each	\$43.64		Ú	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: CORRE		,		

OCWUT 23-2411-01 Group 4, Section 3: Manh Catalog item	nole Cable/Hose Guide: M	anhole Cable/Hose Guid	de W/Three 5 foot poles	and One 4 f	oot pole,	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
CORE & MAIN LP	First Offer - \$740.00	3 / each	\$2,220.00		Ú)	
		Supplier Product Code: Supplier Notes: PN: 056707				
ICM of Oklahoma City	First Offer - \$880.35	3 / each	\$2,641.05		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	: 056707	,		

OCWUT 23-2412-01 Group 4, Section 4: Extension Pole: Five Foot Extension Pole, Catalog item number 102601								
Supplier	Unit Price	Attch.	Docs					
ICM of Oklahoma City	First Offer - \$0.00	2 / each	\$0.00		Ú			
Product Code: Agency Notes:		<b>Supplier Product Code: Supplier Notes:</b> This prooffered by Cherne.	: oduct has been discontinu	ued. No repla	acement			
CORE & MAIN LP	First Offer - \$76.10	2 / each	\$152.20		Ú			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:					

OCWUT 23-2413-01 Group 4, Section 5: Retard Gauge: Retard Gauge with 1/4 inch male fitting, Catalog item number 251364								
Supplier Unit Price Qty/Unit Total Price Attch. Docs								
CORE & MAIN LP	First Offer - \$0.00	4 / each	\$0.00		Ú			

		Supplier Product Code: Supplier Notes: NO BID				
ICM of Oklahoma City	First Offer - \$133.36	4 / each	\$533.44		Ú	
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: REPLAC				

OCWUT 23-2414-01 Group 4, Section 6: Poly-Lift Line/Inflation Hose: Size: 10 foot, Catalog item number 261076									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
ICM of Oklahoma City	First Offer - \$74.91	15 / each	\$1,123.65		Ú				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
CORE & MAIN LP	First Offer - \$78.00	15 / each	\$1,170.00		Ú				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT 23-2414-02 Group 4, Section 6: Poly-Lift Line/Inflation Hose: Size: 20 foot, Catalog item number 261084									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
CORE & MAIN LP	First Offer - \$93.80	12 / each	\$1,125.60		Ú				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
ICM of Oklahoma City	First Offer - \$95.95	12 / each	\$1,151.40		Ú				
Product Code:		Supplier Product Code:	:						
Agency Notes:		Supplier Notes:							

OCWUT 23-2414-03 Group 4, Section 6: Poly-Lift Line/Inflation Hose: Size: 30 foot, Catalog item number 261106									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
CORE & MAIN LP	First Offer - \$120.15	8 / each	\$961.20		Ú				
Product Code:		Supplier Product Code							
Agency Notes:		Supplier Notes:							
ICM of Oklahoma City	First Offer - \$127.31	8 / each	\$1,018.48		Ú				
Product Code:		Supplier Product Code							
Agency Notes:		Supplier Notes:							

OCWUT 23-2414-04 Group 4, Section 6: Poly-Lift Line/Inflation Hose: Size: 40 foot, Catalog item number 261114									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP		First Offer - \$140.00	5 / each	\$700.00		Ŋ			
Product Code:			Supplier Product Code	•					
Agency Notes:			Supplier Notes:						
ICM of Oklahoma City		First Offer - \$143.00	5 / each	\$715.00		Ŋ			
Product Code:			Supplier Product Code	•					
Agency Notes:			Supplier Notes:						

OCWUT 23-2415-01 Group 4, Section 7: Dual Poly-Lift Line/Inflation Hose 1 3/8 inch ID Fill Line and 3/16 inch ID Read Back: Size: 10 foot, Catalog item number 019128										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
ICM of Oklahoma City	First Offer - \$0.00	8 / each	\$0.00		Ū					
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: This pr offered by Cherne.	s coduct has been discontinu	ued. No repl	lacement					

CORE & MAIN LP	First Offer - \$206.00	8 / each	\$1,648.00	Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: PN: 383		

OCWUT 23-2415-02 Group 4, Sect Catalog item number 019138	ion 7: Dual P	oly-Lift Line/Inflation Ho	ose 1 3/8 inch ID Fill Line	e and 3/16 inch ID Read E	Back: Size: 2	0 foot,
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
ICM of Oklahoma City		First Offer - \$0.00	5 / each	\$0.00		Ð
Agency Notes:		<b>Supplier Product Code Supplier Notes:</b> This prooffered by Cherne.	: oduct has been discontinu	ued. No repl	acement	
CORE & MAIN LP		First Offer - \$230.00	5 / each	\$1,150.00		Ú
Product Code: Agency Notes:	,		Supplier Product Code Supplier Notes: PN: 383		,	

OCWUT 23-2415-03 Group 4, Section 7: Catalog item number 019148	oly-Lift Line/Inflation Ho	ose 1 3/8 inch ID Fill Line	e and 3/16 inch ID Read I	Back: Size: 3	30 foot,	
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
ICM of Oklahoma City		First Offer - \$0.00	3 / each	\$0.00		Ú
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: This product has been d	: iscontinued. No replacem	nent offered	by Cherne.
CORE & MAIN LP		First Offer - \$275.15	3 / each	\$825.45		Ū
Product Code: Agency Notes:	·		Supplier Product Code Supplier Notes: PN: 383			

OCWUT 23-2415-04 Group 4, Section 7 Catalog item number 019158	oly-Lift Line/Inflation Ho	ose 1 3/8 inch ID Fill Line	e and 3/16 inch ID Read I	Back: Size: 4	0 foot,	
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
ICM of Oklahoma City		First Offer - \$0.00	2 / each	\$0.00		Ú
Product Code: Agency Notes:			<b>Supplier Product Code Supplier Notes:</b> This proffered by Cherne.	: oduct has been discontinu	ued. No repl	acement
CORE & MAIN LP		First Offer - \$315.00	2 / each	\$630.00		Ú
Product Code: Agency Notes:			Supplier Product Code Supplier Notes: PN: 383408	:		

OCWUT 23-24–15-05 Group 4, Section 7: Dual Poly-Lift Line/Inflation Hose 1 3/8 inch ID Fill Line and 3/16 inch ID Read Back: Size: 0 - 60 PSIG Shock Resistant Gauge, Catalog item number 001328									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
ICM of Oklahoma City	First Offer - \$0.00	12 / each	\$0.00		Ú				
Product Code: Agency Notes:		<b>Supplier Product Code Supplier Notes:</b> This prooffered by Cherne.	: oduct has been discontinu	ued. No repl	acement				

CORE & MAIN LP	First Offer - \$350.00	12 / each	\$4,200.00		Ú
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
		PN: 383508			

OCWUT 23-2415-06 Group 4, Section 7: Dual Poly-Lift Line/Inflation Hose 1 3/8 inch ID Fill Line and 3/16 inch ID Read Back: Size: 1/2 inch x 1/4 inch Reducer, Catalog item number 003786								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ICM of Oklahoma City	First Offer - \$3.69	12 / each	\$44.28		J			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
CORE & MAIN LP	First Offer - \$3.75	12 / each	\$45.00		Ú			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

OCWUT 23-2416-01 Group 4, Section 8: Swivel Ball Style Conversion Kit: Size: 3/4 inch MIPT Plug Conversion Kit, Catalog item number 096350						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
CORE & MAIN LP	First Offer - \$0.00	1 / each	\$0.00		Ú	
Agency Notes:		Supplier Product Code: Supplier Notes: NO BID- DISCONTINUED				
ICM of Oklahoma City	First Offer - \$0.00	1 / each	\$0.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: This produ offered by Cherne.	uct has been discontinu	ed. No replac	cement	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ICM of Oklahoma City	First Offer - \$0.00	1 / each	\$0.00		Ú
Agency Notes:		Supplier Product Code: Supplier Notes: This product has been discontinued. No replace offered by Cherne.			
CORE & MAIN LP	First Offer - \$97.50	1 / each	\$97.50		J

OCWUT 23-2416-03 Group 4, Section 8: Swivel Ball Style Conversion Kit: Size: 2 inch MIPT Plug Conversion Kit, Catalog item number 112666									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
ICM of Oklahoma City	First Offer - \$0.00	1 / each	\$0.00		Ú				
Product Code: Agency Notes:		<b>Supplier Product Code: Supplier Notes:</b> This prooffered by Cherne.	: oduct has been discontinu	ued. No repla	acement				
CORE & MAIN LP	First Offer - \$99.35	1 / each	\$99.35		Ú				

Product Code:
Agency Notes:
Supplier Product Code:
Supplier Notes:
PN: 028608

OCWUT 23-2416-04 Group 4, Section 8: Swivel Ball Style Conversion Kit: Size: 3 inch MIPT Plug Conversion Kit, Catalog item number 112623									
Supplier	Unit Price	ce Qty/Unit Total Price Attch. D							
ICM of Oklahoma City	First Offer - \$0.00	1 / each	\$0.00		Ú				
Agency Notes:		Supplier Product Code: Supplier Notes: This product has been discontinued. No replacement offered by Cherne.							
CORE & MAIN LP  Product Code:	First Offer - \$61.65	1 / each  Supplier Product Code:	\$61.65		Ú				
Agency Notes:		Supplier Notes: PN: 028							

OCWUT 23-2416-05 Group 4, Section 8: Swivel Ball Style Conversion Kit: Size: 4 inch MIPT Plug Conversion Kit, Catalog item number 112674							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
ICM of Oklahoma City	First Offer - \$0.00	1 / each	\$0.00		Ú		
Product Code: Agency Notes:		<b>Supplier Product Code: Supplier Notes:</b> This prooffered by Cherne.	: oduct has been discontin	ued. No repl	acement		
CORE & MAIN LP	First Offer - \$105.00	1 / each	\$105.00		Ø		
Product Code: Agency Notes:	•	Supplier Product Code: Supplier Notes:	:				

OCWUT 23-2416-06 Group 4, Section 8: St 072931	wivel	Ball Style Conversion K	it: Size: 2.5 inch MIPT Ca	p Conversion Kit, Catalo	g item nun	nber	
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
ICM of Oklahoma City		First Offer - \$0.00	1 / each	\$0.00		Ú	
Product Code: Agency Notes:	Agency Notes:		Supplier Product Code: Supplier Notes: This product has been discontinued. No replacement offered by Cherne				
CORE & MAIN LP		First Offer - \$61.50	1 / each	\$61.50		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: PN: 028648 FNPT					

OCWUT 23-2416-07 Group 4, Section 8: Swivel Ball Style Conversion Kit: Size: 4 inch MIPT Cap Conversion Kit, Catalog item number 088846									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
CORE & MAIN LP	First Offer - \$0.00	1 / each	\$0.00		Ú				
		Supplier Product Code: Supplier Notes: NO BID							
ICM of Oklahoma City	First Offer - \$0.00	1 / each	\$0.00		Ú				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: This product has been discontinued. No replacement offered by Cherne.							

OCWUT 23-2417-01 Group 4, Section 9: Conversion Kit with Quick Disconnect: Size: 3/4 inch MIPT Plug Conversion Kit, Catalog item number 028588									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
CORE & MAIN LP	First Offer - \$80.65	1 / each	\$80.65		Ú				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
ICM of Oklahoma City	First Offer - \$82.39	1 / each	\$82.39		Ú				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		'					

OCWUT 23-2417-02 Group 4, Section 9: Conversion Kit with Quick Disconnect: Size: 1.5 inch MIPT Plug Conversion Kit, Catalog item numbe 028598								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$97.50	1 / each	\$97.50		Ú			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
ICM of Oklahoma City	First Offer - \$99.64	1 / each	\$99.64		Ú			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

OCWUT 23-2417-03 Group 4, Section 9: Conversion Kit with Quick Disconnect: Size: 2 inch MIPT Plug Conversion Kit, Catalog item number 028608								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$99.35	1 / each	\$99.35		Ú			
Product Code:		Supplier Product Code						
Agency Notes:		Supplier Notes:						
ICM of Oklahoma City	First Offer - \$101.49	1 / each	\$101.49		Ú			
Product Code:		Supplier Product Code	· •					
Agency Notes:		Supplier Notes:						

OCWUT 23-2417-04 Group 4, Section 028618	n 9: Conversion Kit with Quick Dis	connect: Size: 3 inch MIF	PT Plug Conversion Kit, (	Catalog item	number	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
CORE & MAIN LP	First Offer - \$61.65	1 / each	\$61.65		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
ICM of Oklahoma City	First Offer - \$63.01	1 / each	\$63.01		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

OCWUT 23-2417-05 Group 4, Section 028628	n 9: Conversion Kit with Quick Dis	connect: Size: 4 inch MIP	T Plug Conversion Kit, C	atalog item	number	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
CORE & MAIN LP	First Offer - \$101.55	1 / each	\$101.55		Ú)	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
ICM of Oklahoma City	First Offer - \$106.10	1 / each	\$106.10		Ú)	
Product Code: Agency Notes:	, ,	Supplier Product Code: Supplier Notes:				

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
CORE & MAIN LP	First Offer - \$58.00	1 / each	\$58.00		Ú
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
ICM of Oklahoma City	First Offer - \$60.61	1 / each	\$60.61		Ú
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

OCWUT 23-2417-07 Group 4, Section 9: Conversion Kit with Quick Disconnect: Size: 4 inch MIPT Cap Conversion Kit, Catalog item number 028668								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$88.15	1 / each	\$88.15		J			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
ICM of Oklahoma City	First Offer - \$92.08	1 / each	\$92.08		Ŋ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:					

OCWUT 23-2418-01 Group 4, Section 10: Modified Caps/Plugs with 2.25 Inch Taps: Size: 3/4 inch Plug, Catalog item number 087157									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
CORE & MAIN LP	First Offer - \$0.00	1 / each	\$0.00		Ú				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: NO BID							
ICM of Oklahoma City	First Offer - \$42.48	1 / each	\$42.48		Ú)				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

OCWUT 23-2418-02 Group 4, Section 10: Modified Caps/Plugs with 2.25 Inch Taps: Size: 1.5 inch Plug, Catalog item number 112690									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
CORE & MAIN LP	First Offer - \$35.25	1 / each	\$35.25		Ú				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
ICM of Oklahoma City	First Offer - \$36.81	1 / each	\$36.81		Ú				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

OCWUT 23-2418-03 Group 4, Section 10: Modified Caps/Plugs with 2.25 Inch Taps: Size: 2 inch Plug, Catalog item number 300276									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP		First Offer - \$41.40	1 / each	\$41.40		Ú			
Product Code:		Supplier Product Code:							
Agency Notes:			Supplier Notes:						
ICM of Oklahoma City		First Offer - \$42.76	1 / each	\$42.76		Ú			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						

OCWUT 23-24-18-04 Group 4, Section 10: Modified Caps/Plugs with 2.25 Inch Taps: Size: 3 inch Plug, Catalog item number 112712									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
CORE & MAIN LP	First Offer - \$0.00	1 / each	\$0.00		Ú				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: NO BID							

ICM of Oklahoma City	First Offer - \$12.35	1 / each	\$12.35	- O
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

OCWUT 23-24–18-05 Group 4, Section 10: Modified Caps/Plugs with 2.25 Inch Taps: Size: 4 inch Plug, Catalog item number 112720									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
CORE & MAIN LP	First Offer - \$35.25	1 / each	\$35.25		Ú				
Product Code:	-	Supplier Product Code:							
Agency Notes:		Supplier Notes:							
ICM of Oklahoma City	First Offer - \$36.81	1 / each	\$36.81		Ú				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT 23-24–18-06 Group 4, Section 10: Modified Caps/Plugs with 2.25 Inch Taps: Size: 2 inch Cap, Catalog item number 019538									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
CORE & MAIN LP	First Offer - \$32.10	1 / each	\$32.10		Ú				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
ICM of Oklahoma City	First Offer - \$32.75	1 / each	\$32.75		Ú				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT 23-2418-07 Group 4, Section 10: Modified Caps/Plugs with 2.25 Inch Taps: Size: 2.5 inch Cap, Catalog item number 065676									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
ICM of Oklahoma City	First Offer - \$29.15	1 / each	\$29.15		Ú				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
CORE & MAIN LP	First Offer - \$30.15	1 / each	\$30.15		Ú				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT 23-2418-08 Group 4, Section 10: Modified Caps/Plugs with 2.25 Inch Taps: Size: 4 inch Cap, Catalog item number 085758								
Supplier	Unit Pri	ce Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$45.4	0 1 / each	\$45.40		Ú			
Product Code:		Supplier Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:						
ICM of Oklahoma City	First Offer - \$46.4	1 1 / each	\$46.41		Ū			
Product Code:	1 1	Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT 23-24—18-09 Group 4, Section 10: Modified Caps/Plugs with 2.25 Inch Taps: Size: 2.5 inch Cap, one 1/4 inch and one 3/4 inch Tap Catalog item number 00882					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
CORE & MAIN LP	First Offer - \$0.00	1 / each	\$0.00		Ú
		Supplier Product Code: Supplier Notes: NO BID			
ICM of Oklahoma City_	First Offer - \$43.73	1 / each	\$43.73		Ú
Product Code: Agency Notes:	,	Supplier Product Code: Supplier Notes: CORREC		,	

OCWUT 23-2418-10 Group 4, Section 10: Mo Catalog item number 008331	odified Caps/Plugs with 2.2	25 Inch Taps: Size: 4 inch	n Cap, one 1/4 inch and o	ne 3/4 inch	Тар,
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
CORE & MAIN LP	First Offer - \$0.00	1 / each	\$0.00		J
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: NO BID			
ICM of Oklahoma City	First Offer - \$0.00	1 / each	\$0.00		Ú
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: This pro offered by Cherne.	: oduct has been discontinu	ed. No repla	cement

OCWUT 23-24–19-01 Group 4, Section 11: Air Fittings: Size: 1/8 inch Inflation Fitting, Catalog item number 068527									
Supplier	Unit Price	Qty/Unit Total Price Attch.							
ICM of Oklahoma City	First Offer - \$4.85	10 / each	\$48.50		Ú				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
CORE & MAIN LP	First Offer - \$5.25	10 / each	\$52.50		Ú				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

OCWUT 23-2419-02 Group 4, Section 11: Air Fittings: Size: 1/4 inch Inflation Fitting, Catalog item number 277037									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
ICM of Oklahoma City	First Offer - \$5.90	10 / each	\$59.00		Ú				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
CORE & MAIN LP	First Offer - \$6.00	10 / each	\$60.00		Ú				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT 23-24–19-03 Group 4, Section 11: Air Fittings: Size: 3/8 inch Female Hose Barb x Quick Disconnect, Catalog item number 003093									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
CORE & MAIN LP	First Offer - \$18.35	10 / each	\$183.50		Ú				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
ICM of Oklahoma City	First Offer - \$22.29	10 / each	\$222.90		Ú				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		·					

OCWUT 23-2419-04 Group 4, Section 11: Air Fittings: Size: 1/4 inch FIPT Quick Disconnect, Catalog item number 302112									
Supplier	Unit Pric	e Qty/Unit	Total Price	Attch.	Docs				
ICM of Oklahoma City	First Offer - \$14.1	10 / each	\$141.10		Ú				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
CORE & MAIN LP	First Offer - \$14.30	10 / each	\$143.00		Ú				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:						

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
ICM of Oklahoma City	First Offer - \$4.80	10 / each	\$48.00		Ú
Product Code: Supplier Product Code:					
Agency Notes:		Supplier Notes:			
CORE & MAIN LP	First Offer - \$4.95	10 / each	\$49.50		Ú
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

OCWUT 23-2419-06 Group 4, Section 11: Air Fittings: Size: 1/4 inch Brass Plug, Catalog item number 251607									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
ICM of Oklahoma City	First Offer - \$1.20	5 / each	\$6.00		Ū				
Product Code:		Supplier Product Code	· ::						
Agency Notes:		Supplier Notes:							
CORE & MAIN LP	First Offer - \$2.00	5 / each	\$10.00		Ú				
Product Code:		Supplier Product Code	:: ::						
Agency Notes:		Supplier Notes:							

OCWUT 23-2419-07 Group 4, Section 11: Air Fi	ttings: Size: 3/8 inch Sw	ivel Ball Adaptor: 3/8 inch	n MIPT x 1/4 inch MIPT,	Catalog ite	m
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
CORE & MAIN LP	First Offer - \$0.00	5 / each	\$0.00		Ũ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: NO BID			
ICM of Oklahoma City	First Offer - \$0.00	5 / each	\$0.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: This prod offered by Cherne.	duct has been discontinu	ed. No repla	cement

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
CORE & MAIN LP	First Offer - \$0.00	5 / each	\$0.00		Ú
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: NO BID			
ICM of Oklahoma City	First Offer - \$0.00	5 / each	\$0.00		Ú
Product Code: Agency Notes:		<b>Supplier Product Code Supplier Notes:</b> This prooffered by Cherne.	: oduct has been discontinud	ed. No repla	cement

OCWUT 23-24–19-09 Group 4, Section 11: Air Fittings: Size: 3/4 inch MIPT x 2 inch Lug Coupling, Catalog item number 101478									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
ICM of Oklahoma City	First Offer - \$14.25	3 / each	\$42.75		Ú				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
CORE & MAIN LP	First Offer - \$17.50	3 / each	\$52.50		Ú				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
CORE & MAIN LP	First Offer - \$0.00	10 / each	\$0.00		Ú	
		Supplier Product Code: Supplier Notes: NO BID				
ICM of Oklahoma City	First Offer - \$0.00	10 / each	\$0.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: This pro offered by Cherne.	oduct has been discontinu	ued. No repla	cement	

OCWUT 23-2420-02 Group 4, Section 12: Triple Hose: Size: 50 foot, Catalog item number 257038										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
ICM of Oklahoma City		First Offer - \$378.25	6 / each	\$2,269.50		Ú				
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:							
CORE & MAIN LP		First Offer - \$380.15	6 / each	\$2,280.90		Ú				
Product Code: Agency Notes:	. '		Supplier Product Code: Supplier Notes:	:						

OCWUT 23-2420-03 Group 4, Section 12: Triple Hose: Size: 500 foot, Catalog item number 257068										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
CORE & MAIN LP	First Offer - \$2,665.40	4 / each	\$10,661.60		Ú					
Product Code:		Supplier Product Code:	·							
Agency Notes:		Supplier Notes:								
ICM of Oklahoma City	First Offer - \$2,932.72	4 / each	\$11,730.88		Ú					
Product Code:		Supplier Product Code: 257188								
Agency Notes:		Supplier Notes:								
		400' TRIPLE HOSE W/REE	L							

OCWUT 23-2420-04 Group 4, Section 12: Triple	Hose: Size: 10 foot wit	h Quick Disconnect Fitti	ngs, Catalog item numb	er 257048	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
CORE & MAIN LP	First Offer - \$0.00	10 / each	\$0.00		Ŋ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes: NO BID-	- DISCONTINUED		
ICM of Oklahoma City	First Offer - \$0.00	10 / each	\$0.00		Ú
Product Code:		Supplier Product Code:			
Agency Notes:		<b>Supplier Notes:</b> This product has been discontinued. No replacement			
		offered by Cherne.			

OCWUT 23-2420-05 Group 4, Section 12: Triple Hose: Size: 50 foot, Catalog item number 257038									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
CORE & MAIN LP	First Offer - \$370.30	6 / each	\$2,221.80		Ú				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
ICM of Oklahoma City	First Offer - \$378.25	6 / each	\$2,269.50		Ú				

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes:

	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
	First Offer - \$0.00	4 / each	\$0.00		Ú	
Product Code:		Supplier Product Code	•	'		
		Supplier Notes:				
		NO BID - DISCONTINUED				
	First Offer - \$8,511.78	4 / each	\$34,047.12		Ũ	
	I	Supplier Product Code	: 253388			
		Supplier Notes: 400' W	/REEL			
		First Offer - \$8,511.78	Supplier Product Code Supplier Notes: NO BID - DISCONTINUE First Offer - \$8,511.78 4 / each Supplier Product Code	Supplier Product Code: Supplier Notes: NO BID - DISCONTINUED	Supplier Product Code: Supplier Notes: NO BID - DISCONTINUED  First Offer - \$8,511.78 4 / each \$34,047.12  Supplier Product Code: 253388	

OCWUT 23-2421-01 Group 4, Section 13: Extension Hose: Size: 2 foot extension hose, Catalog item number 274011									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
ICM of Oklahoma City	First Offer - \$9.60	5 / each	\$48.00		Ú				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
CORE & MAIN LP	First Offer - \$10.30	5 / each	\$51.50		Ú				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT 23-2421-02 Group 4, Section 13: Extension Hose: Size: 3 foot extension hose, Catalog item number 274038										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
ICM of Oklahoma City	First Offer - \$10.89	5 / each	\$54.45		Ú					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
CORE & MAIN LP	First Offer - \$11.70	5 / each	\$58.50		Ú					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

OCWUT 23-2421-03 Group 4, Section 13: Exte	OCWUT 23-24–21-03 Group 4, Section 13: Extension Hose: Size: 4 foot extension hose, Catalog item number 274054									
Supplier	Unit Price	e Qty/Unit Total Price Attch. I								
ICM of Oklahoma City	First Offer - \$15.50	3 / each	\$46.50		Ú					
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: 5' EXTENSION							
CORE & MAIN LP	First Offer - \$16.65	3 / each	\$49.95		Ú					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								

OCWUT 23-2421-04 Group 4, Section 13: Extension Hose: Size: 10 foot extension hose, Catalog item number 274100									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
ICM of Oklahoma City	First Offer - \$19.75	2 / each	\$39.50		Ú				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
CORE & MAIN LP	First Offer - \$21.26	2 / each	\$42.52		Ú				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

OCWUT 23-24–21-05 Group 4, Section 13: Extension Hose: Deflator with Clamp, Catalog item number 055816									
Supplier	Unit Price	Qty/Unit Total Price Attch. Doc							
ICM of Oklahoma City	First Offer - \$4.85	5 / each	\$24.25		Ú				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
CORE & MAIN LP	First Offer - \$5.25	5 / each \$26.25							
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT 23-2421-06 Group 4, Section 13: Extension Hose: Inflator with Clamp, Catalog item number 055808									
Supplier		Unit Price	Qty/Unit Total Price Attch. D						
ICM of Oklahoma City		First Offer - \$4.85	5 / each	\$24.25		Ú			
Product Code:		Supplier Product Code:							
Agency Notes:			Supplier Notes:						
CORE & MAIN LP		First Offer - \$5.25	5 / each	\$26.25		Ú			
Product Code:		Supplier Product Code:							
Agency Notes:			Supplier Notes:						

OCWUT 23-2422-01 Group 4, Section 14: Joint Tester Pane and Accessories: Control Panel Complete, Catalog item number 010048							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
CORE & MAIN LP	First Offer - \$1,220.00	5 / each	\$6,100.00		Ú		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
ICM of Oklahoma City	First Offer - \$1,245.48	5 / each	\$6,227.40		Ú		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					

OCWUT 23-2422-02 Group 4, Section 14: Joint	: Tester Pane and Accesso	ories: Gauge, 0 - 15 psig,	4 inch dial, Catalog iten	number 0	26318	
Supplier	Unit Price	e Qty/Unit Total Price Attch. D				
ICM of Oklahoma City	First Offer - \$0.00	5 / each	\$0.00		Ú	
Agency Notes:		<b>Supplier Product Code: Supplier Notes:</b> This product has been discontinued. No replacement offered by Cherne.				
CORE & MAIN LP	First Offer - \$107.15	5 / each	\$535.75		Ú	
Agency Notes:		Supplier Product Code: Supplier Notes: PN: 026358 0-10 PSI 4IN				

OCWUT 23-24–22-03 Group 4, Section 14: Joint Tester Pane and Accessories: Gauge, 0 - 60 psig, 4 inch dial, Catalog item number 087602							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
ICM of Oklahoma City	First Offer - \$55.80	5 / each	\$279.00		Ú		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
CORE & MAIN LP	First Offer - \$60.00	5 / each	\$300.00		Ú		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
CORE & MAIN LP	First Offer - \$36.45	3 / each	\$109.35		Ú	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
ICM of Oklahoma City	First Offer - \$36.81	3 / each	\$110.43		Ú	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

OCWUT 23-24–22-05 Group 4, Section 14: Joint Tester Pane and Accessories: Regulator, Catalog item number 296643							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
CORE & MAIN LP	First Offer - \$34.15	3 / each	\$102.45		Ú		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
ICM of Oklahoma City	First Offer - \$34.50	3 / each	\$103.50		Ú		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCWUT 23-2422-06 Group 4, Section 14: Joint Tester Pane and Accessories: 12 foot Triple hose, Catalog item number 013008							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
CORE & MAIN LP	First Offer - \$225.15	3 / each	\$675.45		Ú		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
ICM of Oklahoma City	First Offer - \$230.64	3 / each	\$691.92		Ú		
Product Code:		Supplier Product Code	•				
Agency Notes:		Supplier Notes:					

OCWUT 23-2423-01 Group 4, Section 15: Joint Tester Wheel Assembly (PR): Size: 21 - 36 inch, Catalog item number 086363								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$530.00	2 / each	\$1,060.00		Ú			
Product Code:		Supplier Product Code	•					
Agency Notes:		Supplier Notes:						
ICM of Oklahoma City	First Offer - \$547.09	2 / each	\$1,094.18		Ú			
Product Code:		Supplier Product Code	•					
Agency Notes:		Supplier Notes:						

OCWUT 23-2423-02 Group 4, Section 15: Joint Tester Wheel Assembly (PR): Size: 39 - 54 inch, Catalog item number 067008							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
CORE & MAIN LP	First Offer - \$575.75	2 / each	\$1,151.50		Ú		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
ICM of Oklahoma City	First Offer - \$578.48	2 / each	\$1,156.96		Ú		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCWUT 23-2423-03 Group 4, Section 15: Joint Tester Wheel Assembly (PR): Size: 16 - 120 inch, Catalog item number 093661							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
CORE & MAIN LP	First Offer - \$545.00	1 / each	\$545.00		Ú		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: PN: 086363					
ICM of Oklahoma City	First Offer - \$672.76	1 / each	\$672.76		Ú		

Supplier Product Code: 093661OA Supplier Notes: 48-95"

OCWUT 23-2424-01 Group 4, Section 16: Misce	llaneous Tools and Acc	essories: Portable Air	Tank, 9-Gallon, Catalog ite	em number	043419	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
CORE & MAIN LP	First Offer - \$0.00	10 / each	\$0.00		Ú	
Agency Notes:		Supplier Product Code: Supplier Notes: NO BID				
ICM of Oklahoma City	First Offer - \$0.00	10 / each	\$0.00		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: This product has been discontinued. No replacement offered by Cherne.				

OCWUT 23-2424-02 Group 4, Section 16: Miscellaneous Tools and Acc Catalog item number 303568			ssories: Air-Loc Fan Ass	sembly Smoke Blower wi	th Honda I	ngine,
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
ICM of Oklahoma City		First Offer - \$1,927.36	1 / each	\$1,927.36		Ū
Agency Notes:		Supplier Product Code: 303008 Supplier Notes: HONDA IS NO LONGER AVAILABLE. QUOTED B&S NEW PART NUMBER				
CORE & MAIN LP		First Offer - \$2,400.00	1 / each	\$2,400.00		Ú
Product Code: Agency Notes:			Supplier Product Cod Supplier Notes: PN: 30			

OCWUT 23-2424-03 Group 4, Sectio 014722	n 16: Miscellaneous Tools and Acc	essories: Smoke Blower F	Replacement Fan, Catal	og item nu	mber	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
CORE & MAIN LP	First Offer - \$175.40	1 / each	\$175.40		Ú	
		Supplier Product Code: Supplier Notes:				
ICM of Oklahoma City	First Offer - \$177.13	1 / each	\$177.13		Ú	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	,			

OCWUT 23-24–24-04 Group 4, Section 16: Miscellaneous Tools and Accessories: Smoke Bomb Holder, Catalog item number 015370								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$76.45	1 / each	\$76.45		Ú)			
Product Code:	·	Supplier Product Code:						
		Supplier Notes: PN: 058	3368					
ICM of Oklahoma City	First Offer - \$77.23	1 / each	\$77.23		Ū			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: CORRECT PART NUMBER						

OCWUT 23-2424-05 Group 4, Section 16: Miscellaneous Tools and Accessories: Smoke Bomb, Short										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
ICM of Oklahoma City		First Offer - \$4.43	12 / dozen	\$53.16		Ú				
Product Code:			Supplier Product Code:	072608						
Agency Notes:			Supplier Notes:							
CORE & MAIN LP		First Offer - \$5.15	12 / dozen	\$61.80		Ú				
Product Code:		ı	Supplier Product Code:							
Agency Notes:			Supplier Notes:							
			PN: 072608							

OCWUT 23-2424-06 Group 4, Section 16: Miscellaneous Tools and Accessories: Smoke Bomb, Long										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
CORE & MAIN LP	First Offer - \$10.35	12 / dozen	\$124.20		Ú					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
		PN: 072628								
ICM of Oklahoma City	First Offer - \$11.18	12 / dozen	\$134.16		Ú					
Product Code:		Supplier Product Code: 072628								
Agency Notes:		Supplier Notes:								

OCWUT 23-2424-07 Group 4, Section 16: Miscellaneous Tools and Accessories: Other Tools or Appurtenances Not Identified									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
CORE & MAIN LP	First Offer - \$0.00	1 / each	\$0.00		Ũ				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: NO BII							
ICM of Oklahoma City	First Offer - \$10,000.00	1 / each	\$10,000.00		Ú				
Product Code: Agency Notes:			PRICE. THIS PROGRAM M. IS A SPACE FILLER ONLY	ADE ME PUT	A DOLLAR				

OCWUT 23-2425-01 Group 5, Section 1: Cast Iron or Plastic to Cast Iron or Plastic: Size: 4.38 x 3.38 inch, Mfr. No (or equal) 156-43									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
CORE & MAIN LP	First Offer - \$5.60	50 / each	\$280.00		Ú				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	<b>:</b> :						

OCWUT 23-2425-02 Group 5, Section 1: Cast Iron or Plastic to Cast Iron or Plastic: Size: 4.38 x 4.38 inch, Mfr. No (or equal) 156-44									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
CORE & MAIN LP	First Offer - \$5.50	225 / each	\$1,237.50		Ú				
Product Code:	Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:							

OCWUT 23-24–25-03 Group 5, Section 1: Cast Iron or Plastic to Cast Iron or Plastic: Size: 6.40 x 4.40 inch, Mfr. No (or equal) 156-64								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$13.00	10 / each	\$130.00		Ú			
Product Code:		Supplier Product Code:						
gency Notes: Supplier Notes:								

OCWUT 23-24–25-04 Group 5, Section 1: Cast Iron or Plastic to Cast Iron or Plastic: Size: 6.40 x 5.40 inch, Mfr. No (or equal) 156-65								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$14.65	10 / each	\$146.50		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT 23-2425-05 Group 5, Section 1: Cast Iron or Plastic to Cast Iron or Plastic: Size: 6.40 x 6.40 inch, Mfr. No (or equal) 156-66								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$11.85	25 / each	\$296.25		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT 23-2425-06 Group 5, Section 1: Cast Iron or Plastic to Cast Iron or Plastic: Size: 8.55 x 6.40 inch, Mfr. No (or equal) 156-86									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
CORE & MAIN LP	First Offer - \$21.90	10 / each	\$219.00		Ú				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT 23-2425-07 Group 5, Section 1: Cast Iron or Plastic to Cast Iron or Plastic: Size: 8.55 x 8.55 inch, Mfr. No (or equal) 156-88								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$18.00	75 / each	\$1,350.00		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT 23-2425-08 Group 5, Section 1: Cast Iron or Plastic to Cast Iron or Plastic: Size: 10.65 x 10.65 inch, Mfr. No (or equal) 156-1010								
Supplier	Unit Price   Qty/Unit   Total Price   Attch.   De							
CORE & MAIN LP	First Offer - \$26.56	15 / each	\$398.40		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT 23-2425-09 Group 5, Section 1: Cast Iron or Plastic to Cast Iron or Plastic: Size: 12.65 x 12.65 inch, Mfr. No (or equal) 156-1212							
Supplier	Unit Price Qty/Unit Total Price Attch. D						
CORE & MAIN LP	First Offer - \$30.95	10 / each	\$309.50		Ú		
Product Code:	Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:					

OCWUT 23-24–25-10 Group 5, Section 1: Cast Iron or Plastic to Cast Iron or Plastic: Size: 11.50 x 15.50 inch, Mfr. No (or equal) 156-1515								
Supplier	Unit Price   Qty/Unit   Total Price   Attch.							
CORE & MAIN LP	First Offer - \$48.75	10 / each	\$487.50		Ú			
Product Code:	·	Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT 23-2425-11 Group 5, Section 1: Cast Iron or Plastic to Cast Iron or Plastic: Size: 19.00 x 19.00 inch, Mfr. No (or equal) 156-1818							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
CORE & MAIN LP	First Offer - \$105.00	5 / each	\$525.00		Ú		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCWUT 23-24-26-01 Group 5, Section 2: Concrete to Concrete, Cast Iron or Plastic: Size: 5.65 x 4.40 inch, Mfr. No (or equal) 106-44							
Supplier Unit Price Qty/Unit Total Price Attch. Doo							
CORE & MAIN LP	First Offer - \$5.95	150 / each	\$892.50		Ú		

Product Code:
Agency Notes:
Supplier Product Code:
Supplier Notes:

OCWUT 23-24–26-02 Group 5, Section 2: Concrete to Concrete, Cast Iron or Plastic: Size: 7.85 x 4.40 inch, Mfr. No (or equal) 106-64							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
CORE & MAIN LP	First Offer - \$13.50	10 / each	\$135.00		Ú		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCWUT 23-2426-03 Group 5, Section 2: Concrete to Concrete, Cast Iron or Plastic: Size: 7.85 x 6.40 inch, Mfr. No (or equal) 106-66							
Supplier	Unit Price Qty/Unit Total Price Attch. Docs						
CORE & MAIN LP	First Offer - \$12.75	30 / each	\$382.50		Ú		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCWUT 23-24–26-04 Group 5, Section 2: Concrete to Concrete, Cast Iron or Plastic: Size: 10.25 x 8.55 inch, Mfr. No (or equal) 106-88							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
CORE & MAIN LP	First Offer - \$18.85	90 / each	\$1,696.50		Ú		
Product Code:		Supplier Product Code:	•				
Agency Notes:		Supplier Notes:					

OCWUT 23-2426-05 Group 5, Section 2: Concrete to Concrete, Cast Iron or Plastic: Size: 12.95 x 10.65 inch, Mfr. No (or equal) 106-1010							
Supplier	Unit Price   Qty/Unit   Total Price   Attch.   Do						
CORE & MAIN LP	First Offer - \$26.56	10 / each	\$265.60		Ú		
Product Code:		Supplier Product Code:	•				
Agency Notes:		Supplier Notes:					

OCWUT 23-2426-06 Group 5, Section 2: Concrete to Concrete, Cast Iron or Plastic: Size: 15.45 x 12.65 inch, Mfr. No (or equal) 106-1212								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$30.95	10 / each	\$309.50		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT 23-2427-01 Group 5, Section 3: Concrete to Clay: Size: 10.30 x 9.75 inch, Mfr. No (or equal) 107-88								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$58.55	10 / each	\$585.50		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
		PN: 1005-88						

OCWUT 23-2427-02 Group 5, Section 3: Concrete to Clay: Size: 12.95 x 11.85 inch, Mfr. No (or equal) 107-1010								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$78.65	10 / each	\$786.50		Ú			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: PN: 100						

OCWUT 23-2427-03 Group 5, Section 3: Concrete to Clay: Size: 15.45 x14.40 inch, Mfr. No (or equal) 107-1212								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$95.00	10 / each	\$950.00		Ú			

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes: PN: 1005-1212

OCWUT 23-2428-01 Group 5, Section 4: Asbestos or Ductile Asbestos or Ductile: Size: 4.75 x 4.75 inch, Mfr. No (or equal) 155-44							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
CORE & MAIN LP	First Offer - \$5.95	10 / each	\$59.50		Ú		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCWUT 23-2428-02 Group 5, Section 4: Asbestos or Ductile Asbestos or Ductile: Size: 7.10 x 7.10 inch, Mfr. No (or equal) 155-66								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$11.60	5 / each	\$58.00		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT 23-24–28-03 Group 5, Section 4: Asbestos or Ductile Asbestos or Ductile: Size: 9.15 x 9.15 inch, Mfr. No (or equal) 155-88								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$20.05	5 / each	\$100.25		Ú			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

OCWUT 23-2429-01 Group 5, Section 5: Asbestos or Ductile to Cast Iron or Plastic: Size: 4.75 x 4.38 inch, Mfr. No (or equal) 151-44								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$5.95	5 / each	\$29.75		Ú			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

OCWUT 23-2429-02 Group 5, Section 5: Asbestos or Ductile to Cast Iron or Plastic: Size: 7.10 x 6.40 inch, Mfr. No (or equal) 151-66								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$12.40	5 / each	\$62.00		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT 23-24–29-03 Group 5, Section 5: Asbestos or Ductile to Cast Iron or Plastic: Size: 9.18 x 8.55 inch, Mfr. No (or equal) 155-88								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$19.10	15 / each	\$286.50		Ú			
Product Code:		Supplier Product Code:	;					
Agency Notes:		Supplier Notes:						

OCWUT 23-2430-01 Group 5, Section 6: Clay to Cast Iron or Plastic: Size: 5.30 x 3.40 inch, Mfr. No (or equal) 102-43									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
CORE & MAIN LP	First Offer - \$5.90	35 / each	\$206.50		Ú				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT 23-2430-02 Group 5, Section 6: Clay to Cast Iron or Plastic: Size: 5.30 x 4.40 inch, Mfr. No (or equal) 102-44									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
CORE & MAIN LP	First Offer - \$5.50	110 / each	\$605.00		Ú				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT 23-24-30-03 Group 5, Section 6: Clay to Cast Iron or Plastic: Size: 7.40 x 3.40 inch, Mfr. No (or equal) 102-63								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$54.50	10 / each	\$545.00		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT 23-24–30-04 Group 5, Section 6: Clay to Cast Iron or Plastic: Size: 7.40 x 4.40 inch, Mfr. No (or equal) 102-64								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$13.50	12 / each	\$162.00		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT 23-24–30-05 Group 5, Section 6: Clay to Cast Iron or Plastic: Size: 7.40 x 5.40 inch, Mfr. No (or equal) 102-65								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$40.00	12 / each	\$480.00		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT 23-24–30-06 Group 5, Section 6: Clay to Cast Iron or Plastic: Size: 7.40 x 6.40 inch, Mfr. No (or equal) 102-66								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$11.75	65 / each	\$763.75		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT 23-2430-07 Group 5, Section 6: Clay to Cast Iron or Plastic: Size: 9.75 x 6.40 inch, Mfr. No (or equal) 102-86									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
CORE & MAIN LP	First Offer - \$21.35	10 / each	\$213.50		Ú				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT 23-2430-08 Group 5, Section 6: Clay to Cast Iron or Plastic: Size: 9.75 x 8.60 inch, Mfr. No (or equal) 102-88								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$18.00	275 / each	\$4,950.00		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT 23-2430-09 Group 5, Section 6: Clay to Cast Iron or Plastic: Size: 11.85 x 10.65 inch, Mfr. No (or equal) 102-1010								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$26.56	30 / each	\$796.80		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT 23-24–30-10 Group 5, Section 6: Clay to Cast Iron or Plastic: Size: 14.40 x 12.65 inch, Mfr. No (or equal) 102-1212									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
CORE & MAIN LP	First Offer - \$31.00	10 / each	\$310.00		Ú				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

OCWUT 23-2430-11 Group 5, Section 6: Clay to Cast Iron or Plastic: Size: 17.90 x 12.65 inch, Mfr. No (or equal) 102-1512					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs

CORE & MAIN LP	First Offer - \$72.25	10 / each	\$722.50		Ú
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:		
OCWUT 23-2430-12 Group 5, Section 6: Clay	to Cast Iron or Plastic: Siz	e: 17.90 x 15.50 inch. M	fr. No (or equal) 102-1515		
Supplier	Unit Price	I	Total Price	Attch.	Docs
CORE & MAIN LP	First Offer - \$48.70	10 / each	\$487.00		J
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	::		
OCWUT 23-2430-13 Group 5, Section 6: Clay	to Cast Iron or Plastic: Siz	e: 21.70 x 18.90 inch, M	fr. No (or equal) 102-1818		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
CORE & MAIN LP	First Offer - \$107.00	5 / each	\$535.00		Ú
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:		
OCWUT 23-2431-01 Group 5, Section 7: Clay	to Clay: Size: 5.30 x 5.30 ir	ich, Mfr. No (or equal) 1	101-44		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
CORE & MAIN LP	First Offer - \$5.95	10 / each	\$59.50		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		I	
OCWUT 23-2431-02 Group 5, Section 7: Clay	T	T			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
CORE & MAIN LP	First Offer - \$13.50	10 / each	\$135.00		Ø
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	<b>:</b>		
OCWUT 23-2431-03 Group 5, Section 7: Clay	to Clav: Size: 7 40 v 7 40 ir	ich Mfr No (or equal) 1	IN1 66		
	1	1			
	Unit Price	Qty/Unit	Total Price	Attch.	Docs
CORE & MAIN LP	1	<b>Qty/Unit</b> 10 / each	Total Price \$127.50	Attch.	Docs
CORE & MAIN LP  Product Code:	Unit Price	Qty/Unit	Total Price \$127.50	Attch.	
CORE & MAIN LP  Product Code: Agency Notes:	Unit Price First Offer - \$12.75	Qty/Unit  10 / each  Supplier Product Code Supplier Notes:	**************************************	Attch.	
CORE & MAIN LP  Product Code: Agency Notes:  OCWUT 23-2431-04 Group 5, Section 7: Clay	Unit Price First Offer - \$12.75  to Clay: Size: 9.70 x 7.40 ir	Qty/Unit 10 / each Supplier Product Code Supplier Notes: ch, Mfr. No (or equal) 1	**************************************		Ø
CORE & MAIN LP  Product Code: Agency Notes:  OCWUT 23-2431-04 Group 5, Section 7: Clay Supplier	Unit Price First Offer - \$12.75	Qty/Unit 10 / each Supplier Product Code Supplier Notes: ch, Mfr. No (or equal) 1	**************************************	Attch.	Docs
CORE & MAIN LP  Product Code: Agency Notes:  OCWUT 23-2431-04 Group 5, Section 7: Clay Supplier  CORE & MAIN LP  Product Code:	Unit Price First Offer - \$12.75  to Clay: Size: 9.70 x 7.40 ir Unit Price	Qty/Unit  10 / each  Supplier Product Code Supplier Notes:  ch, Mfr. No (or equal) 1  Qty/Unit	Total Price \$127.50 e:  101-86  Total Price \$213.50		Ø
CORE & MAIN LP  Product Code: Agency Notes:  OCWUT 23-2431-04 Group 5, Section 7: Clay Supplier  CORE & MAIN LP  Product Code: Agency Notes:	Unit Price First Offer - \$12.75  to Clay: Size: 9.70 x 7.40 ir Unit Price First Offer - \$21.35	Qty/Unit 10 / each Supplier Product Code Supplier Notes:  ach, Mfr. No (or equal) 1 Qty/Unit 10 / each Supplier Product Code Supplier Notes:	Total Price \$127.50 e:  101-86  Total Price \$213.50 e:		Docs
CORE & MAIN LP  Product Code: Agency Notes:  OCWUT 23-2431-04 Group 5, Section 7: Clay Supplier  CORE & MAIN LP  Product Code: Agency Notes:  OCWUT 23-2431-05 Group 5, Section 7: Clay	Unit Price First Offer - \$12.75  to Clay: Size: 9.70 x 7.40 ir Unit Price First Offer - \$21.35	Qty/Unit  10 / each  Supplier Product Code Supplier Notes:  10 / Mfr. No (or equal) 1  Qty/Unit  10 / each  Supplier Product Code Supplier Notes:  10 / Mfr. No (or equal) 1	Total Price \$127.50 e:  101-86  Total Price \$213.50 e:	Attch.	Docs
Supplier  CORE & MAIN LP  Product Code: Agency Notes:  OCWUT 23-24-31-04 Group 5, Section 7: Clay Supplier  CORE & MAIN LP  Product Code: Agency Notes:  OCWUT 23-24-31-05 Group 5, Section 7: Clay Supplier	Unit Price First Offer - \$12.75  to Clay: Size: 9.70 x 7.40 ir Unit Price First Offer - \$21.35  to Clay: Size: 9.70 x 9.70 ir Unit Price	Qty/Unit  10 / each  Supplier Product Code Supplier Notes:  10 / Mfr. No (or equal) 1  Qty/Unit  10 / each  Supplier Product Code Supplier Notes:  10 / Mfr. No (or equal) 1  Qty/Unit	Total Price \$127.50 e:		Docs Docs
CORE & MAIN LP  Product Code: Agency Notes:  OCWUT 23-24-31-04 Group 5, Section 7: Clay Supplier  CORE & MAIN LP  Product Code: Agency Notes:  OCWUT 23-24-31-05 Group 5, Section 7: Clay	Unit Price First Offer - \$12.75  to Clay: Size: 9.70 x 7.40 ir Unit Price First Offer - \$21.35	Qty/Unit  10 / each  Supplier Product Code Supplier Notes:  10 / Mfr. No (or equal) 1  Qty/Unit  10 / each  Supplier Product Code Supplier Notes:  10 / Mfr. No (or equal) 1	Total Price \$127.50 e:  101-86  Total Price \$213.50 e:	Attch.	Docs

OCWUT 23-2431-06 Group 5, Section 7: Clay to Clay: Size: 11.85 x 11.85 inch, Mfr. No (or equal) 101-1010									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
CORE & MAIN LP	First Offer - \$26.56	5 / each	\$132.80		Ú				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT 23-2431-07 Group 5, Section 7: Clay to Clay: Size: 14.40 x 14.40 inch, Mfr. No (or equal) 101-1212									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
CORE & MAIN LP	First Offer - \$31.00	5 / each	\$155.00		Ú				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

OCWUT 23-24–31-08 Group 5, Section 7: Clay to Clay: Size: 17.90 x 17.90 inch, Mfr. No (or equal) 101-1515								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$48.70	5 / each	\$243.50		Ú			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

OCWUT 23-2432-01 Group 5, Section 8: Concrete to Concrete: Size: 5.65 x 5.65 inch, Mfr. No (or equal) 104-44								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$16.15	5 / each	\$80.75		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT 23-24–32-02 Group 5, Section 8: Concrete to Concrete: Size: 7.85 x 7.85 inch, Mfr. No (or equal) 104-66								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$35.65	5 / each	\$178.25		Ú			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT 23-2432-03 Group 5, Section 8: Concrete to Concrete: Size: 10.25 x 10.25 inch, Mfr. No (or equal) 104-88							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
CORE & MAIN LP	First Offer - \$54.00	5 / each	\$270.00		Ú		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCWUT 23-2432-04 Group 5, Section 8: Concrete to Concrete: Size: 12.95 x 12.95 inch, Mfr. No (or equal) 104-1010							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
CORE & MAIN LP	First Offer - \$77.15	5 / each	\$385.75		Ú		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCWUT 23-2432-05 Group 5, Section 8: Concrete to Concrete: Size: 15.45 x 15.45 inch, Mfr. No (or equal) 104-1212							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
CORE & MAIN LP	First Offer - \$90.00	5 / each	\$450.00		Ú		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

OCWUT 23-2432-06 Group 5, Section 8: Concrete to Concrete: Size: 19.00 x 19.00 inch, Mfr. No (or equal) 104-1515							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
CORE & MAIN LP	First Offer - \$300.00	5 / each	\$1,500.00		Ú		
Product Code:		Supplier Product Code	•				
Agency Notes:		Supplier Notes:					

OCWUT 23-2433-01 Group 5, Section 9: Clay to Asbestos Cement or Ductile Iron: Size: 9.75 x 7.10 inch, Mfr. No (or equal) 103-86					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs

Destos Cement or I Unit Price First Offer - \$19.00	5 / each Supplier Product Code: Supplier Notes: Ductile Iron: Size: 11.85 x	Total Price \$95.00	qual) 103-88 Attch.	8 Docs
Unit Price First Offer - \$19.00  Destos Cement or Unit Price	Qty/Unit 5 / each Supplier Product Code: Supplier Notes: Ductile Iron: Size: 11.85 x	Total Price \$95.00		Docs
Unit Price First Offer - \$19.00  Destos Cement or Unit Price	Qty/Unit 5 / each Supplier Product Code: Supplier Notes: Ductile Iron: Size: 11.85 x	Total Price \$95.00		Docs
pestos Cement or Unit Price	5 / each Supplier Product Code: Supplier Notes: Ductile Iron: Size: 11.85 x	\$95.00	Attch.	
pestos Cement or Unit Price	Supplier Product Code: Supplier Notes: Ductile Iron: Size: 11.85 x			
pestos Cement or l Unit Price	Supplier Notes:  Ductile Iron: Size: 11.85 x	: 11.12 inch, Mfr. No (or		
Unit Price		11.12 inch, Mfr. No (or		
Unit Price			egual) 103	-1010
irst Offer - \$26.85	~ ~·····	Total Price	Attch.	Docs
	5 / each	\$134.25		Ú
	Supplier Product Code: Supplier Notes:			
pestos Cement or	Ductile Iron: Size: 15.40 x	14.40 inch, Mfr. No (or	equal) 103	-1212
		Total Price	Attch.	Docs
irst Offer - \$32.50	5 / each	\$162.50		Ú
	Supplier Product Code:			
	Supplier Notes:			
e: 4 inch outlet, M	fr. No (or equal) DFW-4T	/C		
Unit Price	Qty/Unit	Total Price	Attch.	Docs
irst Offer - \$45.75	30 / each	\$1,372.50		Ú
	Supplier Product Code: Supplier Notes: GPK: PN	ISST-4		
a. Cinab autlat M	if No (avanual) DEM CT			
-	· · · ·		Attch	Docs
			Atten.	<u> </u>
	Supplier Product Code:	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		
			Attak	Dose
			ALLCII.	Docs
	Supplier Product Code: Supplier Notes:			
	Unit Price First Offer - \$32.50  e: 4 inch outlet, M Unit Price First Offer - \$45.75  ue: 6 inch outlet, M Unit Price First Offer - \$60.50	Destos Cement or Ductile Iron: Size: 15.40 x  Unit Price   Qty/Unit   First Offer - \$32.50   5 / each   Supplier Product Code: Supplier Notes:  De: 4 inch outlet, Mfr. No (or equal) DFW-4T.  Unit Price   Qty/Unit   First Offer - \$45.75   30 / each   Supplier Product Code: Supplier Notes: GPK: PN  Dit Price   Qty/Unit   First Offer - \$60.50   30 / each   Supplier Product Code: Supplier Notes: GPK: PN  Dit Price   Qty/Unit   First Offer - \$60.50   30 / each   Supplier Product Code: Supplier Notes: GPK: PN  Dit Price   Qty/Unit   First Offer - \$53.95   15 / each   Supplier Product Code: Supplier Product Code: Supplier Product Code: PN	Destos Cement or Ductile Iron: Size: 15.40 x 14.40 inch, Mfr. No (or Unit Price Qty/Unit Total Price First Offer - \$32.50 5 / each \$162.50 Supplier Product Code: Supplier Notes:  De: 4 inch outlet, Mfr. No (or equal) DFW-4T/C  Unit Price Qty/Unit Total Price Supplier Product Code: Supplier Product Code: Supplier Notes: GPK: PN ISST-4  De: 6 inch outlet, Mfr. No (or equal) DFW-6T/C  Unit Price Qty/Unit Total Price Supplier Product Code: Supplier Notes: GPK: PN ISST-6  Supplier Product Code: Supplier Product Code: Supplier Notes: GPK: PN ISST-6  Supplier Product Code: \$809.25 Supplier Product Code: \$809.2	Destos Cement or Ductile Iron: Size: 15.40 x 14.40 inch, Mfr. No (or equal) 103  Unit Price Qty/Unit Total Price Attch.  First Offer - \$32.50 5 / each \$162.50  Supplier Product Code: Supplier Notes:  Duit Price Qty/Unit Total Price Attch.  Supplier Product Code: Supplier Notes: GPK: PN ISST-4  District Offer - \$45.75 30 / each \$1,372.50  Supplier Product Code: Supplier Notes: GPK: PN ISST-4  Duit Price Qty/Unit Total Price Attch.  District Offer - \$60.50 30 / each \$1,815.00  Supplier Product Code: Supplier Notes: GPK: PN ISST-6  Supplier Notes: GPK: PN ISST-6  District Offer - \$60.50 30 / each \$1,815.00  Supplier Product Code: Supplier Notes: GPK: PN ISST-6  Supplier Product Code: Supplier Notes: GPK: PN ISST-6  Supplier Product Code: \$809.25  Supplier Product Code: \$809.25

OCWUT 23-24–35-03 Group 5, Section 11: Saddle Wye: 12 x 18 inch, Mfr. No (or equal) Skirt, reinforced

Supplier

Unit Price Qty/Unit

Total Price

Attch.

Docs

CORE & MAIN LP	First Offer - \$460.00	25 / each	\$11,500.00	Ú
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes: GPK: PI	N 101-1812	

OCWUT 23-24–36-01 Group 5, Section 12: Caps to Fit PVC Pipe: 3.45 inch I.D., Mfr. No (or equal) 3 inch								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$3.50	8 / each	\$28.00		Ú			
Product Code:	Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:						

OCWUT 23-24-36-02 Group 5, Section 12: Caps to Fit PVC Pipe: 4.38 inch I.D., Mfr. No (or equal) 4 inch								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$3.95	70 / each	\$276.50		Û			
Product Code:	•	Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT 23-24-36-03 Group 5, Section 12: Caps to Fit PVC Pipe: 6.90 inch I.D., Mfr. No (or equal) 6 inch								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
CORE & MAIN LP	First Offer - \$5.95	25 / each	\$148.75		Ú			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					

OCWUT 23-24–37-01 Group 6, Section 1: Rod Turning Machine: Price								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
ICM of Oklahoma City	First Offer - \$4,650.00	4 / each	\$18,600.00		Û			
Product Code: Agency Notes:		Supplier Product Code:SPD-6.5 Supplier Notes:THIS HAS A 6.5 HP BRIGGS & STRATTON EN		NGINE.				
CORE & MAIN LP	First Offer - \$5,500.00	4 / each	\$22,000.00		Ú			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: PN: RD-E-M 109610	e:					

OCWUT 23-24–37-02 Group 6, Section 1: Rod Turning Machine: Repair Parts and Accessories									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
CORE & MAIN LP	First Offer - \$0.00	1 / each	\$0.00		Ú				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:NO BID							
ICM of Oklahoma City	First Offer - \$0.00	1 / each	\$0.00		Ú				
Product Code: Agency Notes:		\$0.00   1 / each   \$0.00    Supplier Product Code: Supplier Notes: PARTS ARE OFFERED AT LIST PRICE		CE					

#### **Supplier Totals**

f CORE & MAIN LP

Bid Contact Michael Beckham

michael.beckham@coreandmain.com

\$186,151.87 (196/196 items)

Address **14701 E 116th St N Owasso, OK 74055** 

Ph 918-586-7100 Fax 918-586-7101		
Agency Notes:	Supplier Notes:	Head Attch:
ICM of Oklahoma City		\$199,466.24 (131/196 items
Bid Contact Pat White pwhite@icminc.us Ph 405-235-2609	Address <b>4127 W. Reno Ave. Oklahoma City, OK 73107</b>	
Agency Notes:	Supplier Notes:	
Tresha Williams City Clerk	Angee Wagner Purchasing Agent	Brett Rangel Auditor

**THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS.** The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.